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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

. This Question Booklet contains 200 questions.

2. Answer all questions. All Questions carry equal marks.

. The Test Booklet is printed in ‘A’ series booklet, he/she has to indicate in
the side 2 of the Answer Sheet with Black Ball point pen as follows:

. You must write your Register Number in the space provide on the top right
side of this page. Do not write anything else on the Question Booklet.

. An Answer Sheet will be supplied to you separately by the invigilator to mark
the answers. You must write your Name, Register No.and other particulars on
side 1 of the Answer Sheet provided.

. You will also encode your Register Number, Subject Code etc., with Black
Ink Ball Point Pen in the space provided on the side 1 of the Answer Sheet.

. Each question comprises five response [A], [B], [C], [D] and [E]. You have to
select ONLY ONE correct response and mark in your Answer Sheet. In case
you feel that there are more than one correct response, mark the response
which you consider the best. In any case ,choose ONLY ONE response for each
question. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

. In the Answer Sheet there are five brackets [A],[B],[C],[D] and [E] against
each question. To answer the questions you have to mark with Black Ball
point pen ONLY ONE bracket of your choice for each question. Select one
response for each question in the Question Booklet and mark it in the Answer
Sheet. If you mark more than one answer for one question, the answer will
be treated as wrong.

. You should not remove or tear off any sheet from this Question Booklet. You
are not allowed to take this Question Booklet and the Answer Sheet out of
the Examination Hall during the examination. After the examination is
concluded, you must hand over your Answer Sheet to the invigilator. You are
allowed to take the Question Booklet with you one after the Examination is
over.

10.In all matters and incase of doubt, the English Version is final.
11.Do not tick-mark or mark the answer in the Question Bookle
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1. Consider the following statements:

1. Biodiversity is normally greater in the lower latitudes as compared to the higher
latitudes.

. Along the mountain gradients, biodiversity is normally greater in the lower altitudes as

compared to the higher altitudes.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

L 6dTaU(BLD SnM MIG6M6TE &6U6nT :

1. 2w 9LFCIem&&EE5L6T @UNHWLEUNS Gb 9L FCram&&afley Leuaullf QLUHESD QLITSIEUTS
SIB G0N 2 6TeTgl.

2. wemev& Ffleyserlen, LLaUIT QLHSHSID QLTSNS H& 2 WIS ST @LILENHWLEUTS GmmbsS
2 WIS H6L H &M 2_6Tensl.

CLGev ABMH & & LILILBETET sammiserflev ergi/eremeu &ifluimeor g/ & ifl Wi meoremeu?

a) 1 L (D b) 2 L_(HLD

c) 1 mmid 2 @ yevor(hLd d) 1 lmmiln 2 @uevor(hLd &)6Ven6V

2. The Himalayan Range is very rich in species diversity. Which one among the following
is the most appropriate reason for this phenomenon?

a) It has high rainfall that supports luxuriant vegetative growth

b) It is a confluence of different bio-geographical zones

c) Exotic and invasive species have not been introduced in this region

d) It has less human interference

@uwinemesd QgL 2 ulflerLl L6 (N8 8 S 6Tenln Hlenmibs Sl. LietTeu (Heusoreumnlev 6151 Q\hS
Bl&1h6| &G &6 LD QLIT(HSSL0TE0T & ITJ6vorLn?

a) QFLEILILIMTET STl eueTiFRHG 2 56 D SIH& enpLIQUTSeneals Q& meuor () 6Ters

b) @& LevGeumi 2 uli-Lieuiluiev Lo6uoTL_6uhiI&erfleor &FmhigGINIMELD

Q) SWBMTL (R LMD &SR TLIL @eTmhiseT @hbs LIFThHwsH e SimlWasLiILGSSLILLalvemev
d) @& GemmeuTe el GMIEHEL L& & Tevor(h 6Terms)

3. What is the name of the chemical substances that carry nerve impulses from the axon
terminal of one nerve cell to the dendron terminal of another nerve cell?

a) Acetylcholine b) Pyridoxine c) Cobalamin d) Phytonadione
(5 BIOLEF QF6V6060T 4,8 FmeiT (emeoTuNed(BIH S LLHAMTH HFLLF Q&F6069 60T G\L600T L. I[TIT60T
WPEMETE (S HIFLDL|G ST6U0TLVSHEMET &L SID CeuBH L QUITIHETSHET eTeueumTm &S LILGSTMS! ?

a) ST LemL6VC5medl6dT b) e UflL T8 & eor c) GamumeuLdledr d) eIl GLmeoTmiq GUlmedT
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4. Which acts as the conduction center of the brain?
a) Thalamus b) Hypothalamus c) Pans d) Bubble
eLnememuil 6t &5 I M WITGEF QFWeLIBaug eTgl ?

a) SHEVITLOEV b) emamLIGLITHEVITLO6N ) LIITedTern d) (&6

5. Find out the correct statement among the following:

I. Electrocardiogram is an instrument that records electrical impulses in the brain

II. Electroencephalogram is a device that records electrical impulses in the heart.

a) 1 only b) 2 only c) None of the above d) All of the above
B LD &8 600T LeuM MI6T FflWImeoT SaMn)lemeor &ITeoorss; :

I. epememuil6L 2. 60T LTS & Fa LW LS 60T 9B TeyHemem L6y Q&b &Hedl eTevs LG STFLCW TS T

Il. @ 5WE B 6V 2_6UoTL TS SalqW LOl6T SBHTeyseneT LIS QFIWLD &@med

TLS L GO METTQ&FSLIGEU T [FITLD

a) 1 L (D b) 2 (LD €) 6T&IaLD @) 6LEmIEY d) GLOM &H600TL. 3|6M60THSILD

6. A rock containing the fluorescing calcite is illuminated by ultraviolet light. Then, the
colour of the rock seems to be

a) Violet b) Blue c) Green d) Red

serfl 2. 101D STLMFLEMLE Q& TEUITL. (H LITenm Lim2arsm sperfllmey epeflfell&as LGS mSI.
IeUNgl, umenmMuiledr BIMOMEH S C8ITEITMI6U S

a) 261G T b) HeuLh Q) L& d) Rl

7. The variation of g with time can reveal ....?

a) The presence of oil b) The presence of minerals

c) The seismic activity d) The path of ballistic missiles
g Wileir LOBLIL &MTevsH 6T (time) SjLqLILImLUT6L LDMTMIEUF TS QeueflIL(GS SR MSI1?

a) 6T600TG6T0T L @ (BHLILIENS b) HM&I&HE6T QUHLILMS

) Blev AT Temeu d) LImedlen19.8 6J6)8560)600T LIMTENS

8. Above the curie temperature, a magnetic materials become...... ?

a) Ferro magnetic b) Paramagnetic c) Dia magnetic d) Ferri magnetic
&u,ifl QeuliLBlemeud @ GGV &ITHG G\LIT(HL & 6T 5 @\ (H& G0 ?

a) QUIFGIT &MHSHLD b) UTTIT HTHSLD C) L WIT &MHSLD d) QuIfl BTHSLD

9. Why is graphite considered an anomaly among non-metals?

a) It is a poor conductor of electricity. b) It exhibits high ductility.
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c) It is a good conductor of electricity. d) It has a metallic luster.
SICuMEHMEIG6M6L RFTSHemLL 66T &60l5SIeUNNE & ([HSLILM S mS1?
a) WTEMI&Hems &L GSID ST §)6V606V b) 215 & BIHSILICLTGLD HeiTenlnemnld ST HHmS.

) BeVeV LOEBTEFMTS &GS d) LemueTLiL] SeiTemnLnen Ul Q& meuor(h) elTerms!.

10. Which of the following is an exception among non-metals?
a) Carbon fiber exhibits high ductility.

b) Graphite is a good conductor of electricity.

c) Diamond is the hardest naturally occurring substance.

d) All of the above.

L etreu(peusoreumnlev 9Geums s erfley ellGlafleud: G eTgI?

a) BITTLIGT @enp&eT 56 BLASHarenmeanl QausflliLGSsIRmS!.

b) BITsenLL 62 Hev6ev LT &HL&5).

¢) MaUTLOMeTS! LAS6|LD 8519.60TLOTE0T QLIT(H6T.

d) GLOMGHE0ITL. 3|6060TSSILD.

11. The Brahmaputra, Irrawaddy and Mekong rivers originate in Tibet and flow through
narrow, parallel mountain ranges in their upper reaches. Unlike the other two, the
Brahmaputra takes a sharp “U” turn before entering India.What is the primary reason for
this distinctive change in its course?

a) Uplift of the folded Himalayan mountain series

b) Syntaxial bending of the geologically young Himalayas

c) Geo-tectonic disturbances in the Tertiary folded mountain chains

d) Both (a) and (b)

WrbLwLYUSSHTT, Lrmeaud) MMID LE&TH I, MG HELSSH 6 2 (Heums, 3jeumnier G LGS & erflev
2 66 (& MIG) W, §)6%600T W ITEOT LD6M6VSRSITLITFSH6T euySlwimas Ll LIl &) 6drmeor. oMM @) 7esoTenL Ll
GumeveLeLITLOEY, LTSS T @ hH W mellM @6 HenpaismE& (LTl afenwimer "U" S (HLLSM S
D &FHMF.21560T CLIMTEHRH6L @)\ HG & 6015 FI6ULDIT6UT LOTHME S M TET (NS 60TEMLNE &ITIJ6U0TLD 6T60TE0T?

a) LDIQHS @) LDWILNEN6Y LDEMEVSQSTL[fl6T 2 Wwijey

b) yelluflwev FERIWIMs @6 @uuneneuuller QMW alemereay

) ELNETMITLD Blemev DI [HG nenevd FmIGH N Gerfley Lell-G L &CLMeufldh Q& THST6) 86T

d) @revor(Lbd (a) LD AILD (b)

12. Which one of the following rivers and its source is incorrectly matched?
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a) Godavari - Trimbak Plateau, Maharashtra
b) Kaveri - Brahmagiri Hills, Karnataka
c) Yamuna - Amarkantak Plateau, Madhya Pradesh

d) Brahmaputra - Angsi Glacier, Tibet

LetTeu(BLD o4 M1 LOMHMILD G6T CHTOTMISL LD FMTHSI T8 HeUMTEHL QUTBHSIRMSI?
a) G maurfl - Fflibus LT, ID&TITeqlq FT

b) &mGeurf] NSy neneusseT, &IBITL ST

) Wipeorm SnrsevorLs LT, wsHuwll Nyesain

d) Wylwysym SBIF UesflliLmenm, HOLIG

13. Which of the following pair/s are correctly matched.
1. Cardamom Hills Coromandel Coast

2. Kaimur Hills Konkan Coast

3. Mahadeo Hills Central India

4. Mikir Hills - North-East India

a) 1 and 2 b) 2 and 3 c) 3 and 4 d) 2 and 4
Letreu(pLh @) emevursserfley ergl Fiflme L QUITIBHH SIS mE?

1. JELE ST LOEM6V S5 6IT - CSITFLO6T0TL.6V SL D& 60 )

2. MSHELNIT LDEM6EV & 6T Q& TS 60T &L M & 6nIy

3. 05HW @HHWIT L& TGS 6L LD 616V 86T

4. &[T DML S 6T - ULSNEG @HHWT

a) 1 lnmHmiLh 2 b) 2 LnMHMID 3 ¢) 3 LnMMILD 4 d) 2 InHmiLh 4

14. Which of the following states do not share a land border with Bangladesh?

1.West Bengal 2.Assam 3.Meghalaya 4.Manipur

a) 1 and 2 only b) 2 and 3 only c) 4 only d) 2 and 4 only
L edTeu(mLD LOMBleVMIG 66V TSl UMK TETCS &5 SIL 60T [Blev eTeLemeVemWLI LR TH S Q& meTaradlevemneu?

1. GLOM(S 6UMISLD 2. 9|&Mb 3. G&TeLWIT 4. oevoflLILLT

a) 1 MM 2 L (HILD b) 2 LoMmib 3 LG c) 4 DL PLD d) 2 lommith 4 DL ()LD

15. Choose which of the following NOT associated with Eye of the Cyclone

1. It is a calm region with no rain 2. High temperature
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3. High Pressure 4. Low Temperature 5. Low Pressure

a) 1 only b) 1, 2 and 5 only c) 3 and 4 only d) 2 and 3 only
@& mmeuerflufledr emwLW S SIL 6T QS TLTLeVeuTHeuMenm CHTHRFHH & &6y LD

1. 06O B)VEVITS 3|60 L0 B WITEOT LIS S 2. 919 & QeuLiLBlemev

3. 9155 WSS 4. GOMHS QeulILBlemev 5. MMHS WSS

a) 1 LG b) 1,2 MMILD 5 L (HILD ¢) 3 mMI 4 LG d) 2 mmilb 3 WL GHILD

16. is the only floating national park in the world.

a) Sunderban b) Keibul Lamjao National Park

c) Silent Valley National Park d) Manas National Park
2 A 6T RCr NEEEGD CHFW LLMBIST
a) &FHSTEU6TLD b) Q&UILI6L VTN MeY GHF U LIS T

¢) SIMWGLI LIGToTES & MHEG CHFW LLMHIST d) LoeoTmeiv GHF\ W LLBISST

17. Consider the following statements regarding ZBNF

1. ZBNF promotes the use of chemical fertilizers and pesticides.

2. It focuses on techniques like mulching and intercropping to improve soil fertility.
3. ZBNF is widely promoted under the Paramparagat Krishi Vikas Yojana (PKVY).
Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2,and 3
ZBNF Q@ mLILMeoT LN6dTeu (HLD &o.(h) 118 6M6ITE & 61601 W] I & 6T

1. ZBNF J&FTWEUT 2_[JIEIG6T DM MILD LLFTF &8 mevedl & 6rfl6ir LIW6TLITL 60L 2618 (86818 S M Sl

2. LOGUIT UETS6emS CLUIDLIM S S H60LNE Fn6TlD IDMMILD 2er@G LU T CLIMeTm HIL LIMKISerflél @) &l &6ueurln
QFSSIRDS!.

3. ugurrss A mad aflamev Guimggerm (PKVY) -6 GLb ZBNF LIFeueuTss 20185 G ell&sLILUG @ mSl.
GG QHMH & SLILLHETET Sa M MG 6rfley 611/ eTemeu EFiflWmeTs)

a) 1 LmmILd 2 L (HILD b) 2 LoMmib 3 LG ¢) 1 wmmib 3 LG d) 1,2, lommib 3

18. The Montreal Protocol is related to

a) Climate change mitigation b) Protection of the ozone layer

c) Reduction of greenhouse gases d) Prevention of hydrofluorocarbons
LomevoTL_If6eL QIBM (LD EMmM 6TSH I 60T Q&ML TL{6mL L SI

a) SITEVBlEM6V LDTMHMSHEMNEHE &60MESH6D b) G&F 6T LIL6VHMGLI LIMSHIHTE G 60
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) LIGr60LD @)6V6V QUITUESHM6TE 60 M & 56V d) emamL_ G msL1eeBEI TS ITLIGTHM6TS &(h &S 60

19. Consider the following statements regarding the International Solar Alliance (ISA):
1.The ISA was launched jointly by India and France at COP21 in 2015.

2. The primary objective of ISA is to promote solar energy deployment in tropical countries.
3. The headquarters of ISA is located in Paris, France.

Which of the statements given above Incorrect?

a) 1 only b) 2 only c) 3 only d) None of the above
FFuCs&F &l 65 gal LemoLiL (ISA) QS TLTLIMeor LN6iTeu(hLD N8 608 & 6merTs: & 61 60l UMb 6iT:

1. 1SA, 2015 9y lb Sy,6v0T(H COP21 @6V @HHWIT LoMMILD LNTTETFTEL Fal L TEH QGTLBISLILLL I,

2.2 QeulILILD6uoTL6v M & 6rflev & Kl SLMMEL LIWETUITL 6L 2618 &68lLILIGS ISA @) 60T (L0 & 60TemLn
CHMT&H&GMGLD.

3. ISA @) 60T Hemevemln WS LD LI meorF 6ot LIMflerSlév oj6mLnLh Si6TeTS.

GG Q&EMH & & LILIL B 6Tem 2 nl& e & & 6rfleL 6181 &6UMmTEUTSI?

a) 1 LD b) 2 LDL_(BLD c) 3 L@ d) LM FanWwelmmley ergie|Lllcvem ey

20. Match the following minerals with their major uses:

Mineral Major Use

A. Gypsum 1. Plaster of Paris

B. Bauxite 2. Aluminium production

C. Manganese 3. Steel alloying

D. Copper 4. Electrical wires

L9 6dreu(HLD 55607110 MG 6m6IT S]6uMMIEOT LW 6oTLIT(H & 615 L60T G\LIT(H & & 6LD:

seoflnlh WS W Lwerum®

A. L&D 1. QeTmervLf p&L Lmiflerv

B. LUT&eM&FL 2. 9vidlenfl 2 MHLIGSS)

C. L0 g eofar 3. 6715 (S &H6Vemel

D. smMAlFD 4. 06T &L 6T

a) A-1, B-2, C-3, D-4 b) A-2, B-3, C-1, D-4
c) A-3, B-4, C-1, D-2 d) A-4, B-3, C-2, D-1

21. Which of the following was not the likely purpose of the Great Bath in the citadel at
Mohenjadaro?
a) Some elaborate ritual of vital importance, including a corporate social life
b) Storage of water to be used during drought or emergency
¢) Swimming exercises and water sports
d) Community bathing
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LS etreu(peusoTeumMN6L 6TH QMM EFSCTT CHTLemL U6y 2 6Term Qulw @Ge6flwed 6T GIHITE &L 3 6V6V?
a) QBB MIGUETT FeNG GUMLDGEHEMS 2 L LIL, (P&HH W (WWHERWS SN aumilhs Fev alifleumer &L mkiGae6T
BLSSULELD

b) ML & 96V6VGI SOUFT HMTVEH6L LILeTLH S Geusvoriql Hrfler GadlLliL]

o) BFge LUmA 6T mmih BT eflemeTwiml_H &eT

d) Fenss Gerfluey

22. Consider the following statements regarding Harappan towns and cities:
. The Harappan towns and cities were well-planned and divided into large rectangular
blocks.
. The cities had a grid pattern layout with streets cutting each other at right angles.
. The settlements followed a circular pattern for better fortification.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 only d) 3 only
QM TLILIT &I MIG6T/IH&TEI&emeT LMmMw LNeiTau(bLD FnM Mg eneTs: & 6w 6vr] L mig6iT:
1. @I LUILIT & IEI&ET Heor@ HLLIOLLILUL® Quflu QFauausd QasmTEGH searmsLl LNfléasuLr L er.
2. & IHIGET @ETNISHQSETETN Q&FKIGCH TS S 6V Qaul (Bl Q& (HE 8 EHL60T &L LD GLITETM S{emLOLIenLIS
Q& IT600T LY. (15 [H &5 60T
3. 9 \MhHS CEHEMLeNLEHMSE GLGUNIHLIL&S6T U UL L 6uLgeusens L L9 6orLimnileor.
Cumaanlw Fammisefley eTg Flwimeorgi?
a) 1 LmmILd 2 L (HILD b) 2 LMMILD 3 L (LD o) 1 WL@LD

23. Who was the founder of Nalanda University?
a) Samudra gupta b) Chandra gupta II c) Kumara gupta d) Skanda gupta
BITETHSIT LIV MeVE SN S S emS Hlmiell el Wimj?

a) FWSHT GLUST b) @ TevorLTD FHS T GSLIST 0 ST GUST d) &bHS GLST

24. What was the national emblem of the Gupta Empire?
a) Lion b) Peacock c) Garuda d) Elephant
GLUSLU CUTTH6r G5\ WF FetTeurld 6TSI?

a) &L b) oudlev C) &(HL_60T d) wimemeor

25. The Gupta inscription found in Allahabad belongs to
a) Chandragupta Maurya b) Kumaragupta ¢) Samudragupta d) Brahmagupta
VETUTSH L R GHHLUILLBETET GLIS &H6VR6UL B &ET WTIHenLIW STVGmSEF C&FJHSSI?

a) FHHT GLUS Qerrlwy b) LMY GLIST Q) FWPSHHT GLST d) Yy GUST
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26. Consider the following statements regarding the military structure of the Delhi
Sultanate:

(i) Balban introduced the Persian concept of “Kingship,” which emphasized military
discipline.

(ii) The Iqta system was a temporary land grant given to military officers in return for
administrative and military service.

(iii) The army was primarily composed of Turkish soldiers, and no indigenous people were
recruited.

Which of the above statements is/are correct?

a) Only i and ii b) Only ii and iii c) Only i and iii d) All the above
QL6L6Y FHELGTEITSH S B 60T @) TTEBI6U ML GSMISHS L 6tTeU (LD FaM MG EMETE & 61601 M G6T:

(i) UTeLLIET LMD E & & CHTLLUMLTET "SJFFTLF" eow MWL SH6erTy. @ & @ 7 Tewiald
SLOLUUTLemL euedlw] mis S W gl.

(i) @& T Wemm 6TeTLIGI BlJeuUMs LDMHMILD G JTemiey CFemeUs G LTS @ FTawiel O H&TH&ens S
ULPBISLILLL SMH&medls MBlev omeflWwmEGlLD.

(i) @ rTeEvIaILD (NS ETEMWWTS SI(HEHHR W eI TeeneTs Q& Meuorly.(HHS S, CLOSILD LILDMEIEGLY D& & 6T
wm@GLld oL CFFLILY QFWwiLLaféueanev.

CLOB6v 2 6iTelm FaM MG 66l eTgI/eTemeu FHlWmeTSI/& W meuTem 6u?

a) i LDMHMILD i L (LD b) i LbMMILD i LDL(HILD ) i LDMMILD i LD ()LD d) LMWL eMEoTSSILD

27. Which of the following statements about Jahangir’s military campaigns are correct?
. Jahangir successfully suppressed the rebellion of Khurram (Shah Jahan) in the Deccan.
. His campaigns against the Ahoms of Assam were largely unsuccessful.
. The Mughal-Sikh conflict intensified during his reign due to the execution of Guru
Arjan Dev.
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
LanmmiSflear @rmenialll LUenLQw@®LiLser ummlw NeTeu@pld sammserfley ergl Frflwmergi?
1. 5&6&MEUSH6L GTTLD (4 TRammeT) SeTF&FERenw LanmTRIGT QeuMMI&TIONS 9L &S 6erTy.
2. SIFMHET CHMIDGEHE S 6THTTEr jeUTSH L QW@ LIL&SET QLBLOLITaILD G5 mev6d) W 6t L[5 60T,
3. & 3TR6T CHeu FNHHR O LILILL STV Sj6urg oL Fuller CUME (NS TW-FHE& W GLOMTEH 60
SellyLeLbs sl
a) 1 lnmmiLd 2 (Kb b) 2 Lnmmith 3 ()LD ¢ 1wmmib 3 Il @GlLb d) 1,2 lommib 3

28. Which of the following statements about the economic policies of Muhammad bin
Tughluq is correct?
(i) His taxation policy in the Doab region led to peasant revolts and economic distress.

(ii) He introduced token currency, which was a great success.
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(iii) His experiments ultimately strengthened the empire’s economy.

Which of the above statements is/are incorrect?

a) Only i and ii b) Only ii and iii c) Only i and iii d) All the above
WsL Gl LN60T F1861&H 60T QLITHEMTHTTS Q& MeTensH 6T LMW LNeTeu(pLd Fammiserley ergl
Frflwumeorg?

(i) i s 9mHMlenLLILGSH uileL sjaursl auflelF LGS QasmeTens efleusmudlserfleir &) e fe & & @68 @ L0
QUM BETISMTT QB(HHE4HEHH G @ LH\F Q&FTMSI.

(i) S6ulT SemLWITET (HTITWS NS MU SLUILBSSH T, @& @@ Ul QeummwmELDb.

(iii) Jeursl CFMHMETSH6T @MIGH U6l CUITTE 6T QLITIBHETITSTISMS 6usyILILI(H & S 6.

GLOG6v 2_6iT6IT Fa.H MG 660 6T &6UMITEOTSH?

a) i LoMMID i L GID b) i LDMMILD i L GILD Q) i LDMMILD iii d) GMH TN 3|6M6ITSSILD

29. Consider the following statements regarding the revenue administration of the Delhi
Sultanate:

(i) Alauddin Khalji was the first to introduce direct land measurement and revenue
assessment.

(ii) The land revenue was fixed at one-third of the total produce during Firoz Shah
Tughluqg’s reign.

(iii) The Iqta system ensured the stability of agricultural revenue but weakened the central
administration.

Which of the above statements is/are correct?

a) Only i and ii b) Only ii and iii c) Only i and iii d) All the above
QL6L6Y FH6LGTEUTE: G B\ 60T 6u(HeUITLI HliFeumsid LMW LINeTeu(HLD Fa M MG EMETE &6 60T L MG 6lT:

(i) GBTLY Blev Jjemai® WMMILD eu@Heu Ml LG LT L WNS6TNSHN6L MW SLILIGSH W 3| 6viTey S 6or
IAGVEAEYEOT] G &

(i) LNCymeiv O IT FIG& &R 6T L F & HTLHH L QLOMTEHS ellemendF&Fedlev eLneiTnileL e(h LIMIE Bleveurflwme
Blyevorudl & & LU L Sl.

(iii) @& T (M CEUETITEUOT 6 (H6UTUIl 60T Blemeu s S 6iTenneml 2 MG Q&S S, IL60TT6V LGS W
BlFeums&ems Lievaier LGS Wws.

CLOG6V 2_6iT6lT Fa MG 6rlev 6151/ eTemeu Fflwmenrsl/&Flw meoremeu?

a) i LnMMID i WL GILD b) i LnMMILD i WL GILD ) i LDMMILD iii d) GLMFaNIU 2{60)60TS SILD

30. Consider the following statements about the Battle of Karnal (1739):
1. The battle was fought between Nadir Shah of Persia and Muhammad Shah of the Mughal
Empire.
. The Mughals, despite their superior numbers, suffered a crushing defeat due to poor

leadership.
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3. Nadir Shah’s invasion weakened the Mughal Empire economically but had little impact
on its political stability.

Which of the statements are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3

&yeurmev GUIMY (1739) UMMlw LN6edTeU(BLD FaM MIS60I6TE & 6L 60T L Ml & 6iT:

1. HCUTMSW LMTTESHSH 6T HTHT aQMeys @Gl (NSOMWL CUFTFI6T (In&I0 S a9MaY &G @ enL G
HOLQLUMHMSI.
WSETWTSHET B & 6TevoreuoTl & 6m & USl6L @) (HHSCLIMTH VLD, GLOMEFLOTET &606V6ML0 U 60T & ITIJ6U0TLO TS
UGG MLl 260 HG 60T,
BTHFT agmefler LemLQAW@LIL (N&TWL CUITenEF QUITIGETTSTT FHWMs LevalisrliLGsHwal,
SL,6UTITEL 3|5 60T STF W6V rVH TS S eTemlnullev FMW HSTHH GG FHLD S H W .

Fah MG erlev 618 Frlwmersi?

a) 1 lnmmILd 2 L (HLD b) 2 LnMmMith 3 ()LD o) 1 wmmi 3 LG d) 1,2 lommib 3

31. Assertion (A): The British followed the "Ring Fence" policy in India during the late
18th century.

Reason (R): The policy was aimed at opposing the British territories by maintaining
friendly buffer states.

Which of the following is correct?

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): 18 9ub BRHMTevoTLL66T LNHLIG T Ul6v @) HH W mellev o4 BIHCeuTEHET "euememu Geuedl”
Q& meTen s emuwlL L6t LImnleor(y.

&TIeorid (R): HLL] @) 60LWS LOMBlEUMISGeMETL eTHITLILIG 6T eneud LNFLIg6q LN TCs & migemeTLl
UMSISTULGCS @\hes G&meTend:ulleir GpITe & LIMELD.

LS edTeu (B eucoTUM M6V TSI &FflWITeoTSI?

a) A lnMmmILd R @uevor(ib &Fifl, Gosyild R eTadTLIG A @6t Fiflwiment eflemdssin.

b) A LnMMILh R @ Tevor(hild &Fifl, 1,60TM6L R eTadTLIGI A @ 60T Fifliment eflemd:as1D 3(606v.

o) A eTedTLIG &If], 91,60TIM6V R 6TEOTLIGI Seuml.

d) A eTETLIGI S61mI, SL60TITeV R 6TedTLIG & if]

32. Consider the following statements about the Palayakkarar system:

1. It was introduced by the Vijayanagara rulers.

2. Each Palayakkarar was responsible for revenue collection and law enforcement.
Palayakkarars had judicial powers over civil and criminal cases.
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3. The system was completely abolished by the British in 1761.
Which of the above statements are correct?
a)1l,2,and 3 b) 1 and 3 c) 2 and 4 d) All of the above
LMTemeTWSHSTTT Wenm LMMw LNeTeu(BLD FoMHMIS%em6Td: & 6w 6ol b g 6T:
1. @5 NRYWHST LA WMTTHeTTL SMWSILGSSLILILLSI.
2. @6UGIGUITIH LIMTEMETW S SGITI(HLD 6U(H6EUITUI 6U(EG6V LDMMILD FLL S|06VMTEHS ST MG GLITMILILITET6UT S 6T,
LmemeTWH & TIT&E6T Flallev nMmmih GHmellwey aups & &erflev FH 5 Gienm S & Tk & emeTs
Q& T6U0T LY.(1H [H S 60T 1T .
3.@\HS (emm 1761 @) 6L MBS CLWITSHETTEL WMHMIVILOMS L& S LILILL Sl.
GLOM&600TL. FaM MG 6rTl6L eTemeu &l WITeuTem6U?

a) 1,2, LnMmILD 3 b) 1 LnMmILD 3 ) 2 LoMmmilh 4 d) GLOG6L 2_6IT6T 6MEITSHSILD

33. Consider the following statements about Yusuf Khan:

1. He was born as Maruthanayagam Pillai.

2. He converted to Christianity while serving under the British.

3. He played a crucial role in defeating Haider Ali.

4. He was executed by the British for treachery.

Which of the statements are correct?

a)1l,2,and 3 b) 1, 3, and 4 c) 2 and 4 d) All of the above
W& smementl LMW LNeTeu(BLD Fo M MISe06TE & 6u 60f] WL Mmigs6T:

1. 9j6uT LEGSHTWSLD KeTemeTw el KMBHSTT.

2. 9BHRCevwTsefler SLp LesolwWmHMWCUNE e Hmlevgel LHHH MG Wmnlermy.
3. mamsT S6deml CHMTMHHIGLILIGE Sj6Uf WN&HH W LGS URSSHITH.

4. ZICIM&ESHMETH U IL,MEIRCWITSHETTEL SMHH L LILILLTT.

6TIH S T MG 6T Flwmeremeu?

a) 1, 2, LoMmILD 3 b) 1, 3, LDOMILD 4 c) 2 MmMILD 4 d) GLOG6V 2_6T6T 6MEITSHSILD

34. What was the main reason for the resistance of Palayakkarars against the British?
a) Heavy taxation and interference in local administration.

b) Religious discrimination by the British.

c) The British refused to recognize Palayakkarar titles.

d) The British sought to destroy local trade networks.

BTGV TS EHSE TS JITET LITem6TWS ST T TS eTler eTSHFLUILLNME (PSS W &ITT6EU0TLD 6T60T60T?

a) 2 6TeslB ] BIFaIMEHSH 6L &hHennuwlmer alflelG LI immilb Henevuf®.

b) QBB GeuWFser 6T g LMGUTQ.

C) LIMeMeTW&BSTIT LI L BISHem6T BIESFl&He 9 BISHCWTSH6T InMSsIealL Lery.

d) 2_6iTes ] aUJ &S5 61eM6VIIMLNLILIG 66T L8668 9 mITGeUWITSHET (LD UIETMEDT.
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35. Assertion (A): The sanyasi Revolt (1763-1800) was primarily a not the reaction to the
disastrous famine of 1770 and the oppressive economic policies of the British.

Reason (R): The Sanyasi uprising saw the participation of peasants, dispossessed
zamindars, disbanded soldiers, and rural poor, who raided British factories and treasuries.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Faml (A): FTWTE GemTFH (1763-1800) (NS 6OTeMIOWITS 1770 QYLD S),600T19.60T CUT 6 H(IHLD
UEHFSHMGSLD 4 BIFHCWTE6T6T L& EGWenm QUITIHETTSTIS Q& T6Ten S8 658 (G0 6TH [JITETS 3 6U6V.
&TIewrd (R): #aTw & SHerT&EFA UL efleusmuilger, Q&ms S8 & ameT @)LohS LSS TIEH6T, a5 T8 6T
WMHMID SFTLLILM MmN 6T LIBICHMMETT, ojeuFser KL Igaq Qg mllM&memeus 6T oM mih

& (IH 6, 6V 51 & 60V6TTS &8 G 6urTly.

a) A lnMmmILd R @uevor(ib &Fifl, GLosyild R eTadTLIG A @6t &Fiflwiment eflemgssin.

b) A LnMMILD R @ Tetor(hild &ifl, 94,60TMeV R eTedTLIG A @) 6ot Fifliment eflemd oD S{6v6v.

) A eTedTLIG &I, 9L60TT6L R 6T6T LIS Sl

d) A 6T6TLISI SaUMI, 3L60TMT6V R eTedrLIg! &I,

36. Which of the following statements is incorrect regarding the Sanyasi Revolt?
a) The revolt was limited to Hindu sanyasis, and Muslims did not participate.

b) The revolt was triggered by the famine of 1770 and harsh British policies.

c¢) Women, such as Debi Chaudhurani, participated in the uprising.

d) Bankim Chandra Chattopadhyay’s novel Anandamath was based on the revolt.
FTWMH FenJ&FF QHTLIUMS LN6iTou(HLD FamM MG erfleL 6T &6UmTeorgi?

a) @bS5 HeVELD @\HE FTLTRSHEHSHG WL HICL 2 fluigl, (PeedDd&6T LIBIGSHM &6 60eme6v.

b) 1770 QLD ,600T(H) LIEh&FSSTavID, SHennwlmer LAFL 1969 Q& TeTan S &H6TTald @) H&He &608LI0D
Sitevor _LILIL L&)

c) G5 QFeng g menf]l GUITETM G LIGTITH6T @) S S5608H5H 6V LIBIGSHMMEUTH.

d) LUBIGID FHHT FLGLTLUTSWTUNET 60T HHI0G BTaI6 @)\HHEH H6V&HE5MS L LILINLUIMTEHS G\&TeoTLSl.

37. Which of the following statements is incorrect regarding the Poligars’ Revolt?

a) Kattabomman Nayakan led the first phase of the Poligars’ revolt between 1795 and 1799.

b) The rebellion was solely motivated by economic grievances and had no political dimension.

¢) Oomathurai, brother of Kattabomman, joined the Marudus' rebellion in Sivaganga.

d) The British forces razed the fort of Panjalankurichi to the ground and removed its name from
official records.

LmTemeTw & & My Isserfler SemT&EFenwl QUTMISHeuenT LIeTeu(bLD dammiserleL 6181 &eummersI?

Page 13 of 75

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

a) 1795 LDMHMILD 1799 &G @ ML U6V LITemeTWH&TTFSH6r60r HeTiFR U6 (NFH60 &L LGS &L LG LITLDLDET
BTW&&H60T U BL &S eorTIy.

b) @BHSH S6eV&HLID QLITIHETTSTIE GenM&6TTeV 0L HGLD SmevorLLILL LI, S|TF eV LIfl0memrid ergie|ld
©)6LED6V.

0) BLLQUMTIDLDE 6T FCHEMETT 2amemnng Slen T, Reousmiensuiley InHSIsa6flar HearisRulley G ememThHs .
d) Nl196q LML &6T LIMEhFMeuBIGMIER CHTLemLeml HTLOLLINTESR SH6T QUUIENT HHSTTLILLT6
LSy sefledmhe 186 er.

38. Which of the following Acts was not introduced by the British to suppress the
Swadeshi Movement?

a) The Newspapers (Incitement to Offences) Act, 1908

b) The Explosive Substances Act, 1908

c) The Vernacular Press Act, 1878

d) The Arms Act, 1877

5HCHF QWHHESMS @BHHGUSMHENS LNFLIL6q STs Qs TaT(heubhS &L L kIgerleév G Lh & 6uoTL6um mi6T
T8 QUIMIBIH S TSHI?

a) @BHW LGSR flemss FLLID (SMevor(hSev LDMHMID GHMESTLH), 1908 b) QeUIQQUITHET FL L LD, 1908
el Lmy ussiflenss &L LD, 1878 d) @W&& FLLID, 1877

39. With reference to the role of literature in modern resistance movements, which of the
following statements is correct?

a) Like Anandmath, Orwell’s 1984 was banned in colonial India for inciting rebellion.

b) Bankim Chandra’s writings played a similar role in Indian nationalism as Solzhenitsyn’s “The
Gulag Archipelago” did in Soviet resistance.

c) The Bande Mataram anthem was officially declared as India’s National Song in the
Constitution of India.

d) The influence of revolutionary literature ended after Indian independence.

@bS W afl(HSemev @) WSS 6V @)6vEHE WG S 6T (N&EH WS SIeUID QGTLITUITS, S L& 8 e6u0TL

G safley Eflwmearens CsiTey Q&lss:

a) "SLETHHLOL D" [HITEUEIE G @)60600T LTS, BMTIR TG 6l6vedl6r "1984" H6VaITEmM S SMTeoT(HILD HBIEUTSH &(HH
Ul geq sipe @bSWwelleh Sl lHS5S!.

b) LBISWEHH T &L CLMTUMSWTWTe6T 6T1(ps S5 86T, CaFmaluws erHTLLING CFmeGFetll_&Fer "The Gulag
Archipelago” ojefl&58 FME&H5MS @HSFH W CHF W @)UISE5F 60 61N MEIG) 6oT.

0) "auBbCs MG CHAW GHI0ME @BHE W TR Wevennlile) HFH&TTLTaNTES AMleN&GaHLILIL LG

d) @BHW B HmVEGL LImE& UTLeulwe §evsH W sS 6r STea&H0 (NG emmSl.

40. Consider the following statements regarding religious beliefs in India:
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. The doctrine of karma is a common element in Hinduism, Buddhism, Jainism, and
Sikhism.
. Monotheism is a common feature in all religions that originated in India.
. The concept of avatar (divine incarnation) is primarily associated with Vaishnavism in
Hinduism.
. The Bhagavad Gita is considered a philosophical and spiritual guide in Hinduism.
Which of the statements given above are correct?
a) 1, 2, and 3 only b) 1, 3, and 4 only c) 2, 3, and 4 only d) All of the above
@ BB Wmellev 10g HLOLNEem & & 6T QS TLITLIMeoT LN60TeU (HLD Fo(D) MIFH6M6ITE & 616011 IS 6T:
1. &M CETLUT® @HS LS, QUETSSLD, FL0600TID LM MIL E&HE W oG kG 660 QLITSIeUTerT (b
SNBSS IOMGLD.
2. @B wmeiléy G5 meirMiW 3|6060TS Sl L0 MHISG 6TV &S SI6UID @(IH GLITSI6UTET S|DFIDMEGLD.
3. 9leusMyd (A Wels 9 eUSTTLD) 6TedTM SH(HSH S (NHETENLW TS @)\ HSI L0556V 6061 600T6U S FIL 60T
QaMTLILemLWwSI.
4. UGG Teng Q\HS LHHH L R H5SI6U LDMHMID 608 UPNSTLIQWLNSES &HSULGSMSI.
CLGev ABMH &S LILIL B 6TeT gammiserfley ergl &iflumeorg?
a) 1,2, lnmmith 3 (I b) 1, 3, InMHMILD 4 OL_(HILD
) 2,3, lnMmih 4 GBI d) GLMFMW DTS SN

41. Swaraj was considered essential for the exercise of swadharma in India. Without self-
rule, there could be no social reform, industrial progress, or useful education.

The above statement is attributed to whom?

a) Aurobindo Ghosh b) BalaGangadhara Tilak c) Surendranath Banerjee d) K.K Mitra
SWITLE @HHWMTelev 6usTnGems (HTILILILL &L 6m6T) Sl L1L9198585 96U WD Trs s
SHSLLLLS. &FWTLA U6, Fens ETHHSSHWD, QSTHLSImM (NETECETMHMLD S6VEVSI LIWSDI6TET
&6v6l eTeiTMI ETSI6D @\ (H&S (PLGWTSI.CLOCE 2_6T6T FaM Ml WT(HEHES QS TLITL| 0L SI?

a) ATUIBECHT GHmeq b) LIMeL HHBISTSHT Hlevd o) &CIBEHTBTS Limeoryedl d) 85.G&. LS

42. Match the revolutionary activities with their respective leaders/organizers:
Revolutionary Activity Leader/Organizer

a) German Plot (1915) (1) Bagha Jatin

b) Delhi Conspiracy Case (2) Rashbehari Bose

c) Alipore Conspiracy Case (3) Barindra Ghosh

d) Barrah dacoity (4) Pulin Das

B&EHETL YTLF ST B8 &5 eme6T 2 6umnledr (L0 6oTereuutl & 66V 6U 78 8 @5 L60T QLI S SI15:
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UL &[T HL6UL&ens Semeueury

a) QLTwWeT F& (1915) (1) UMSIT QL9607

b) QL6L6d &H UGG (2) regQuam il Gumeu

<) 4L &) ULNES B) uflBSTT Camay

d) LT Q& meTemern (4) 4eSledT SHimeru

a) A-1, B-2, C-3, D-4 b) A-2, B-1, C-3, D-4
c) A-1, B-3, C-2, D-4 d) A-4, B-2, C-3, D-1

43. Which of the following social reform movements was strongly opposed by the
Extremists?

a) Widow Remarriage Act b) Age of Consent Bill, 1891

c) Voting rights for women d) Abolition of child marriage

HhS Fens FIBHHS QUESSH MG arHJTeH GellTeumG &6 &HlenWNs aHFTLL Q5 lellg s er?
a) eflzemel H(HLO6ooTE FLL LD b) 1891 QLD 21,600TIQ.60T RLILI&H6) LDBFTSHT

) QLIGTIT&H @B & & 6UMTEGIflevin d) GBS &) (HLO6T LD

44. The British government considered me a dangerous revolutionary due to my

association with The Indian Sociologist. I was deeply involved with India House and

worked alongside key revolutionaries like Vinayak Savarkar. My writings inspired Indian

nationalists abroad, leading to stricter British surveillance.Who am I?

a) Madan Lal Dhingra b) Shankaracharya Swaminathan

c) Lala Har Dayal d) Rash Behari Bose

LNl 19.69 IT5 6TETEM60T R ([H LIS ST LTFLEWLTET TS & (5B W SI, 6 G 6urevl6v HIT6dT “S& @) b H) W 6T
CHEmAWIML6TVL" ©)5 (LD L60T GG ITLITL]60)LLLI 6L 60T.[H ITEOT @) IH S WIT QM6 6rUL60T QH(HS SIS @) ([5G 60T
MM NBTWE FMeuTsHET CUITETM (&S W LTS WITETT8: @5 L 60T @) 6060075 S LI6voll W T mH ) G eoreor.
ETGOTSDI 60U 6T(WD S 5188 61T QleuerfIBITL LY sul6iTer @) S W C&HF W eumH & emend; Gnevoriqigmey, LNfl1q6q
75 eTetTement BT & 6v0r8sMeuol1LILN6L 6m61 5 &).1HTEOT WITI?

a) L& 60T 6VIT6L HMBIGTIT b) FRIGTTESFTTW & eurLilbTs 6or

C) GUITELIT QM SUITelT d) pmeq Quammil Gume

45. Consider the following statements:
1. At the 1905 Congress meeting under Gokhale’s leadership, the party resolved to
condemn the partition of Bengal and support the anti-partition and Swadeshi

Movement.
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2. Militant nationalists such as Tilak, Lajpat Rai, Bipin Chandra Pal, and Aurobindo Ghosh

wanted the movement to expand beyond a simple boycott to a full-fledged struggle for
self-rule (swaraj).
. The moderates within the Congress were fully in favor of adopting militant methods

and an all-out boycott of foreign goods from the start.

Which of these statements is/are correct?

a) Only 1 b) Only 1 and 2 c) Only 2 and 3 d) All 1, 2, and 3

L 6dTeU(BLD FanM MIG6METE &6 60T UMb 6iT:

1. CamEGaualler emeuemloudley 1905 LD 21,600T(H HLIHG &THIG TV Fal LSS 6V, UMBISTETLI
Lfefemetrem s &evorlg LILIgMHGW, LNfleflemerr TG TLIL LDMHMID &HEHF QUEHSMS
25 luusHEW &L GFomealsssl.
BevslT, vBUS) Fml, N96r FHH T LML WHmMIL Telhs Csmay CumeTm Galliy G& T W eu s & 6T
@\hS @WESHLD @UH ererflw LM & & 60oflLIemLIg &ITeooTLy. & WITL GG TeoT (SWIFTRWLd) (W i emellevimer
cumpmLLlons eflifleusnLw Geuevor®ILh eTeorm 69 (HLOLIN 6oTIT.
SRS IEHE G @ BHS LWNSUTH ST QFTL&S5HSS OHHCH CLITTHE6uril& s auLl (L0 emnm s emers
senL LI liLemguld, SBBIWL QUTIHL&m6T @LHGQLOMSSL0MeL LjM& 8 euuflLILIengu]Lh
YL@woLWwns u5KSs56r1.

QbhS Fammiserley ergil/eTemeu Frlwmeorsi/&Flw meoTemneu?

a) 1 (b b) 1 LoMmith 2 0L ¢) 2 IoMmMID 3 I (HILD d) QlemeTH &I 1, 2 LoMHMILD 3

46. Consider the following statements about the factors that led to the split in the

Congress at Surat:

1. The Extremists insisted on holding the 1907 session in Surat with Lajpat Rai as
president, along with reaffirming resolutions on swadeshi, boycott, and national
education.

. The Moderates preferred to hold the session in Nagpur to exclude Tilak from the
presidency and sought to drop the militant resolutions, favoring a more gradual
approach.

. Both sides agreed on the importance of a strong, militant approach to achieving
self-government, which is why the split was primarily due to administrative issues.

Which of these statements is/are incorrect?

a) Only 1 b) Only 1 and 2 c) Only 2 and 3 d) Al 1, 2,and 3

G55 6L MRS TF L Kerey gL aufleu& &g smyeunflser Limnlw LNetTeu(BHLD T M MIS%en6Ts

55611607 WL M1 &5 61T:

1. SallpeumG &6 1907 9y 601D & THH 6L VRLIG) TTOWS HM6VEUTTHS Q&HToT(H S{DTenel LSS
W migHery, &C5H, LmasenflliL wmmib CHAWES Hevall G gs B ITL0IT6oTmISGemerT LS6or({H LD
2 BLILESB e
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O SeuTH &6iT BHMELLIFl6L al LHns s sally HeEHMT GUWISHS Hemeveul] LIGNuNeSmHs eflevs s
(B oL 6orT. GLOgYILD LILGLILILGWITET 3|0 (& (Wenmenil 3,518 5 GellTaurssd S 1710 TeT mi & eneTs
en&ellLeyld (LW eTM6EITIT.
SWITLF enW 606U MG 6UIeUTeT, CLITTEE60ril& & sl WNenmuileT N&HHB WS Sleusens @) (H
STLILN6UT(HLD 62L1L|8 6\ & ITEUOTL.60TIT, 3|8 60TT6LS 60T L 6meY (LD & 60TemLOWI TS BlT6UTE: & & 8608 6TTe0
JgHULLSI.

O\hS FaDMIGT60 6T5I/6TEM6U & 6UMITEITEm6U?

a) 1 LLBHEGL b) 1 LbHMID 2 LLHEGLD ¢) 2 nmmid 3 LLHEGL d) emeTSHSIn 1, 2 LMmILD 3

47. Consider the following statements:
. The Anushilan group was arrested following revolutionary activities, and prominent
members such as the Ghosh brothers, Aurobindo, and Barindra were implicated.
. Aurobindo was convicted in the Alipore Conspiracy Case and subsequently executed.
. Barindra Ghosh was initially sentenced to death, though his sentence was later
commuted to life imprisonment.
Which of these statements is/are correct?
a) Only 1 b) Only 1 and 3 c) Only 2 and 3 d) Al 1,2, and 3
LS etTeU(BLD FaM MG 6METE: &6 60T UMb 6iT:
1. UULS&[J BLUIEGMSESMETS QSTLTHS 3 Feu6im G0 M& G QFWIWLILLL I, CLosyilb GaImeq
FCHEMGTIGET, rellbsF MM LUFHS TT CUTeTM (NH&B W 2 ML ILN6TT& 6T T8 H 6urly.
O ILLT &5 eup&E&R 6L ATaflHS T &mmeurer ereorm GILiLieflg s ILL® L eoTeor iy
SN&R S uLC L.
uflBEB T CHMTOYYHEGS 3L TLDLSH 6V LOJ6soT & 600TL6m6tT NG & & LILLL &I, @ (HLLNSID Seurs!
5 600TL_60160T LSl 60T6UTIT 24U 6T 55600TL6060TILITS (S600M& & LILIL L Gl.
OhS Fammiserfle ergil/eTemeu Frlwmersl/&flwmeoTeneu?

a) 1 LG b) 1 ommith 3 I HIGLD c) 2 inmmith 3 L HEGL d) QlemeoTH &I 1, 2 LnMHmILD 3

48. Consider the following statements:
. In 1899, Savarkar and his brother organized a secret society called Mitra Mela.
. In 1904, Mitra Mela merged with Abhinav Bharat, modeled on Mazzini’s ‘Young Italy’.
. This merger led to the emergence of Nasik, Poona, and Bombay as centers of bomb
manufacture.
Which of these statements is/are correct?
a) Only 1 and 2 b) Only 2 and 3 c) Only 1 and 3 d) Al 1, 2,and 3
LS etTeU(BLD FanM MG 6METE &6 60T UMb 6iT:
1. 1899 8Ll JLEUITIQ6L, FTEUTSHE(HLD UG FCHEMSTIHLD NG CLOETIT 6T6dTM THEF W FhIS G NS
S| ONOG G 6T
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1904 oulb 31,600TIq.6V, L GT e medlefludler '@ e @865 medl’ LM&HFlullev 9L NeoTel LITYS 2L 6T
@) 6M6UOTE: SHLILIL LS.
@\HS @ 6eMmevoTLIL] FTH&, LLEOTIT oM MID LIDLIMI L& wWenel Q6aulq@&6uor(® SWmiflé @D 600 W hIS 6T
2 (UM &HS UG HS S
O\bhS Fammiserley ergl/eTemeu Frlwmeorsi/& il meoTemneu?
a) 1 lnmmid 2 L HGL b) 2 nMmmith 3 I HIGLD
o) 1wmmib 3 L HEL d) 9emeTHSIN 1, 2 LDMMILD 3

49. Consider the following statements:
. Ajit Singh, Bhagat Singh’s uncle, organized the extremist group
Anjuman-i-Mohisban-i-Watan in Lahore.
. The group published the journal Bharat Mata to propagate its ideas.
. Before turning extremist, Ajit Singh’s group was active in urging non-payment of
revenue and water rates among Chenab colonists and Bari Doab peasants.
Which of these statements is/are correct?
a) Only 1 b) Only 1 and 2 c) Only 2 and 3 d) All the above
L 6dTeU(BLD FanM MIG6METE &6 60T UMb 6iT:
Us5S FIRIGR 6T Lomom 9P8lg FIml, eumaaflév 2](Eh & L0ITeiT-E) -G\ TS 61V LI6T-@) -6 L L 60T 6T6dTm
Fallpauns s Guwenel gHUTH QFWSIT.
OhS G ST H(IhSSIH&HMETL LUFLILIeUSMETES LITFS OTSIT QS0 QeuerflulilLgI.
Sl FaumG WITs DTN MG (P6TL, 3G FIRIS 6T &0 QFTTL Hmevelaum@ &6t LMo L
Cameurll efleusmuilseflenL G au@beuml LM mID B &L L 600TMHIG 66T Q& 8VIg 8 G6U6roTLITID 6TeoTmI
el mssiuse Sallynms QGHSS!
OhS Fammiserley ergi/eTemeu FHlwmersl/& il meoTemneu?

a) 1 L HG b) 1 LnmmID 2 L BHIGL €) 2 nmmih 3 L HIGLD d) 9/em6TSH GILD

50. Consider the following statements:
1. The Ghadr Party was organized around the weekly newspaper The Ghadr with its
headquarters at San Francisco.
. Its membership largely consisted of ex-soldiers and peasants from Punjab who had
migrated to the USA and Canada.
. The Ghadr Party was exclusively based in New York City without any branches along
the Pacific coast or in the Far East.
Which of these statements is/are correct?
a) Only 1 b) Only 1 and 2 c) Only 2 and 3 d) All 1, 2, and 3

LS etTeU(BLD FanM MG 6METE: &6 60T LY MhIg6iT:
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1. &mer NTmeT&eruCaHTemeUs SHemevemOUIL DM S Q& ITEU0TL. &/T& [ 6T60rm UMy LIS S iflén & em &
& 5T l@BhHae gHUT® QFWWLILLLSI.
36T 2 MmN erFserflev QUEBLLLUTCTT LEFTLEe8mH S SQwuflessmelhGd SearLmalih @Gl
GQAUWTIHS (LN6iTeurmeT LiemLaiTFa 6T nmmith efleusmudlsenerns G\ & meor LY. (5 60T .
SMET &LE LALNG SLHSTCWTTCLT 3{6V6VEl ST HPERCIT G em6TSH6T eTHI6LD @) 6V6VITLO6
BlWWTTS (SIS0 DL HIGLO LG LILIMLWITSHE G & TeooTL.(5HS S.

ObhS Fammiserley ergl/eTemeu Frlwmeorsi/& il meoTemneu?

a) 1 LLBHEGL b) 1 LbHMID 2 LLHEGLD ¢) 2 nmmid 3 LLHEGL d) emeTSHSIn 1, 2 LMmILD 3

51. Consider the following statements:
1. Revolutionary terrorism during this period increasingly exhibited a tilt towards
socialist ideas.
. The new phase of revolutionary terrorism entirely replaced traditional individual
heroics with mass movements.
. Revolutionary terrorism in the 1920s was one of the factors that set the stage for the
radical activities of the HRA/HSRA.
Which of these statements is/are correct?
a) Only 1 and 3 b) Only 2 c) Only 1 d) All 1, 2, and 3
LS 6tTeU(BLD FaM MG 6METE: 8561607 UMb 6iT:
1. @&&MUSLLEHO UILFSET UWBISTansld CFTagedF F\hS 0 earseamer CHTESH Frlauams
CUGED 1718
UILS&T LWRSTTsSsSH 6 LW s uryburflu saflbul eSS Q& W68 emnerT Gleu s 60T
QWS SMBISGETTL (OHMIILOTS LMTHMIWSI.
1920 serflev UFLF\& T LIWMBISGFeUNSLD 6TF. 91 17.6]/6TE.6Terv. 31 17.6J.68 607 61T L6115 60858 @58 (G &H6ITLD
MGG SHTTevoll&erfleL eTMMEGLD.
@hS Fahmserfle ergi/eremeu Frflwimeorgl/&ifl W meoremneu?

a) 1 lnmmid 3 L HGLD b) 2 IDL_(HGLD o 1L @ d) QlemeoTH &I 1, 2 LnMHmILD 3

52. Match the following terms with their correct definitions:
Term Definition
a) Atheism 1) Non-interference of the state in religious matters
b) Secularism 2) Lack of belief in god or gods
c) Sulh-e-Kul 3) Peace and harmony among religions
d) Din-i-Illahi 4) A syncretic religious faith introduced by Akbar

Select the correct answer using the code given below:

LletTeu(pLd QFTME 66T j6eumMn)edr &flWIT6or 6u6m Iy 60M & E5L60T QILIMTIH S S15:
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Q&FImev uenywenm
a) FT&H &0 1) 105 eflaquinkISGernfley STF 6T &emeuuilgeiTemLn
b) LHFFTT LI 6OTEMLD 2) BL66IT 3|6L6eV S BL6Y6iTS6rfleL L& /HLDLNG & @) 6L6uITemLn
) &Hevam-@)-& 6V 3) DBMBIGEHEE B eMLC MG LoMHMILD HeVES6U0TS &LD
d) §eor-@)-@ evman 4) 915UTTL IMWPSLLGSSLILILL (5 (bEFHeneTHS L0 HLOLINGEans
BC QsmHHsUULBG 6T GMIuiienL Ll LweaTu®MSS Fiflwmer LS emevsd CHTHOSH &&HaLD:
a) A-2, B-1, C-3, D-4 b) A-1, B-2, C-3, D-4
c) A-3, B-2, C-1, D-4 d) A-1, B-3, C-2, D-4

53. Find the incorrect statement regarding secularism in India:

a) The Indian Constitution ensures that no religion is given preferential treatment by the state.
b) The government can intervene in religious matters if they violate constitutional values.

c) The Indian state follows absolute separation of religion and politics.

d) Citizens have the right to propagate, practice, and profess their faith freely.

@ BB WTe6ev InGEFTTLNETEnD QG ITLITLITET &6UMITET N8 em&:eml &6voTLnluleyLb:

a) @HH W STHRWeveninllL] 6THS LDSSH MG SITFM6 (Lpeteflenin 6fleasLILB S 6vemey eTaTLImNS 2 NS
QEFEWRME.

b) SITFwevemlnliL] LDGHILILSen6T M6 ey SIpFMmEISID g ellagunbiserfley seneuulleumin.

0 @S W 9FJ& S0 MmN AFFweder wWeennwimeor Liflelenerenuwill LeTLIH IS MSI.

d) Gl9ID&&ET FHIGET BLIGenGEW &HSHHTMs HNysdamyh Qaulwan, saLliligssea|n, sinjlelssea|n

2 _flemin 2_evor(h).

54. Consider the following statements regarding Emperor Ashoka’s contribution to
secularism:
1. Ashoka’s 12th Rock Edict advocated for the tolerance and mutual respect of all
religious sects.
. He was the first ruler in history to declare that the state would not persecute any
religious sect.
. Ashoka’s Dhamma policy was strictly based on Buddhist principles and did not promote
religious inclusivity.
Which of the statements given above is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2,and 3
CunpEly 9CeFM&fler LHFFTTLINTEnN G ST LnISG6fILIL Qg TLFUmer LeTeu(HLd FaM M & eners
55611607 W M1 &5 61T:
1. gcFnsifler 126ug LTINS HLQALDH emerd g W5 LILNfleysefler & LL 55 6Temo WM MILD
ugesvuy wlwrmgamw 257155 8.
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2. apbg wsUFlaawb 9Ts SISTLUMISSTS aarml iMlelss eureurhle S6L DL FlwimeTy Sj6ury.
3. ICFM&Hl6T HOING Q&ETETENS QLIS S5 Q&HMETe0 5 & M6T LG LILIMLIWTSS Q&TeurL gl MM 105
2 _6TaTLSGH W SHeiTemlnenil 2ends & 68l & & edlevemev.
GG QEMH & & LILILBHETET &a MG 6rlev eTgi/eTemeu &Fiflumeorg?

a) 1 lnmmiLd 2 ol (HLD b) 2 LnMMith 3 (LD c) 1 wmmib 3 I GlLb d) 1,2 lommib 3

55. Match the events with the corresponding year in Kamaraj's political career:

Event Year

A. Elected as Secretary of Tamil Nadu Congress 1. 1936

B. First imprisonment in Alipore Jail 2. 1930

C. Participated in the Vaikom Satyagraha 3. 1924

D. Elected unopposed in Madras Assembly 4. 1937
STrTfler ST&Fwe6v aUMLDEems - [1&LD6YSHEBLD OI,600T(H & EHLD QLITIHS S 8:

Bl&pea 24600T(H)

A. 50 HBIH STHRIS TV QFWOTTITSES C5T6ey 1. 1936

B. 316911, Flemmuileb 1ps 6L FlemmeumsFLd 2. 1930

C. m6aUE S FEHEGHWTRTHS T 6L LIBICHML] 3. 1924

D. QLM FLLLO6TMSH 6L CUMTLIquilerms C5iTey 4. 1937
a) A-1, B-2, C-4, D-3 b) A-4, B-1, C-3, D-2
c) A-1, B-2, C-3, D-4 d) A-2, B-3, C-1, D-4

56. Assertion (A): Kamaraj convinced Nehru to pass the First Constitutional Amendment
in 1951.
Reason (R): The Supreme Court struck down the Communal G.O. (1928) as
unconstitutional, creating tension in Tamil Nadu.
a) Both A and R are true, and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) A is true, but R is false.
d) A is false, but R is true.
Famml (A): STOFTRF 1951-60 (NS6V TR WevemDLIL] BHSHSH NS BlemmCeumm CHIHemel FIOLNH &S
MEUSSITI.
&TIewrd (R): 288 BHI060TMmLD 6U(GLILI6UTS S| TFTenevor (1928)-23 TR WevemLILM @ TS T TEUTSI 6T60TMI
158 OF WSS, @5 SULBTLIGOL USHMSMS 2 HauTSSH W SI.
a) A InmmILd R @uevor(md &ifl, inmmild R etedTLIG A @) et Fifluwiment eflemdssin.
b) A LnMMILh R @ Tevor(hild &Fifl, 1,60TM6L R eTadTLIGI A @ 60T Fifliment eflemd:as1D 3(606v.
) A &1fl, 94,6016V R Heuml.
d) A BaumI, sLeoTmey R &Fifl.
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57. Which of the following statements regarding Shaheed Diwas are true?

. Shaheed Diwas is observed in India to remember the sacrifices of those who laid down

their lives for the country.

. Bhagat Singh, Rajguru, and Sukhdev were hanged by the British on 23rd March 1931.

. Shaheed Diwas is only observed at the national level and not at the state level.

. Mahatma Gandhi’s assassination is commemorated as Martyrs’ Day on 30th January.
a) 1, 2, and 4 only b) 1, 2, and 3 only c) 2 and 3 only d) 1 and 4 only
aqmranys Sleumerv Q&ML LIMeT LI6Teu(BLD &a M mIG6rfleL 6181 2 6toTemLn?

1. BILIGMSTS SHIGSET 2 ullemr GWMTSHLID QFUIS 6T 66T &) WITSm S emerT Hl6m6Te|Fn (BHLD 6uUemn s uiley
QBB Wmeilev agmans Geaumev IFF&&ELIUBSH M.
U&S FIM, FTRGIm LMHNILD &ECH6U HRCWITT RIS CWFTSHETT6L 1931 IDMTE 23 9| 6Tm
SN&H 6L LU Leor.
aqmanfs Gleumev C5F W aTaflev L HICL HIFFlESLILGS M, MTHle eTalley 36ve6v.
L&ISWT STHHUNT LG Q& Tamev Qetreulfl 30 S|60TM B W TH &6T H6UTLOMS BlemeoreydaJLILIGSH M.
a) 1,2, lnMMILD 4 L (LD b) 1,2, bMH®MILD 3 WL (HILD €) 2 LoMmMID 3 L (LD d) 1 ommib 4 DL (LD

58. Which of the following statements about Rabindranath Tagore is true?

a) Galpaguchchha is a famous collection of Tagore’s novels.

b) Tagore's poetry collections include Gitanjali, Manasi, Sonar Tari, Gitimalya, and Balaka.
c) Kal-Mrigaya, Mayar Khela, Visarjan, Valmiki-Pratibha, and Muktadhara are some of Tagore’s
impactful short stories

d) Tagore's poetry focuses mainly on science and technology.

TeSH S IHTS STamen L LMW LNeTeu(h Fam M6l 6Tg 2 6voremin?

a) HOLGEFFT eTedTLIGI HMaw.fl6or LNFLIGULDTET BTeU6V& 6T 60T Q&M@ LIL.

b) sMaa.fletr Halenss Q5TEGLIL &6 BHTEr&Fe), nmerd, Ggmermy SMifl, RS DEWIT LDMHMILD LIVST
QLGN S|LMIGLD.

) Gev-lA@BSHWIT, IDMWF G&euIT, A& Te6dT, aumeLIE -LNTH LT IoMmMID (N&ESTSTTT &6l & fleoT
STEHEHEHMG JOHLUGSSID Flev &FlmisenH e 60T

d) et SHeallengser (NSEHWINMS mlafluley IHmId Q& TSLEIL LISH6 S6eTD C&F g g5 edrmeor.

59. Which of the following statements regarding the Charter Act of 1853 are true?

(A) The Act introduced the first separation of legislative and executive functions in the
Governor-General’s Council.

(B) The Act established the British Crown's direct rule over India.

(C) The Act introduced, for the first time, local representation in the Indian (Central)
Legislative Council.

(D) The Act abolished the civil services examination for Indians.
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a) Band C b) A and C c)C and D d) Aand D
1853 9yl 9L600T(H LILLWE FLLID Qg TLLIMeor Letreu(bLd dammiserflev eTgl Frflwmenrsi?
(A) @@ @&FFLLID HM6VenLn 3LEBHI60T QLCTFeM6TE G (Walley FL L D6TM WMMILD BITeUMssLI Lieuot) & emem
WwaaTWasl LNfleEh wenmenw SMWsILGSH WS
(B) @&&L Lib @pHwmelley LG s meoflw gmesollufer GBIl oul Flemwl Bloieiluwigl.
(C) @FFLLLD PSETPODWNTS GBS W (0SS W) FLL0GTDSES 6 2 6Tean LTS B Sai0185e0 s
AMWELILGSH WS
(D) @&&FL LD @BHWTHEHHSTer Falley FraiFsv CHIameal JH5 QFUISHS.
a)BLmmid C b) A Lnmmib C ¢) C Lommilb D d) A Lomilb D

60. Which of the following statements about the Government of India Act of 1858 are
correct?

a) It abolished the title of Viceroy and replaced it with Governor-General.

b) It continued the administration of India under the East India Company.

c) It created the office of Secretary of State for India with full authority over Indian affairs.
d) It established a 15-member Council of India to assist the Secretary of State.

a) bandc b) aand b c) cand d d) aand d
1858 9u1b JL600T(H @HH W T&EF FLLLb LbHMlw LNeTeuBLb sammiserfley ergl &iflwmeorg?

a) @3 EUENVTITUI 6T6dTM LILL G605 RSS!, AFMEGS LIS VTS SelFer] QE60TI60 6T60TmI LOmm il Sl

b) BL&RBHH W S Ui lufer S @BHwmeller BlFuTsHsHm&s QSTLITHSHS!.

c) @BH W eNleusTrmisefley (N G STTLD Q&ML @ HEWITE &6 T I T&HEF QFwear Lgallenl &
2 (FAUTER WG

d) Qeueflyme s Q&FWeHEES 2 sallwims 15 CLIT Q& mevorL @) HS W Se|erdleanev Bloiedluwig.

a) b LoMHMILD ¢ b) a LDHMID b ¢) c Lommild d d) a lnmmith d

61. Which of the following statements about the transition of power in 1947 are true?
a) The Indian Independence Act came into force on July 4, 1947.

b) The British Monarch could still veto Indian laws after August 15, 1947.

c) Lord Mountbatten became the first Governor-General of independent India.

d) The Government of India Act 1935 remained in force until new constitutions were adopted.
a)bandd b) aand b c) cand d d)aandd
1947 @ 6L L LmHmD LMHMw LKleTeupLd Fammigefley 6T Frlwmersi?

a) QBHW FSHBHTEF FLL LD ZOe06V 4, 1947 3|60TMI [HDIL(LLEDME S 6UBHHSI.

b) @L&eVL 15, 1947 &L Uip@Ld LFL Qe neTer) @BEHIW FLLKBIGH6T JHS QFwIw (OLgu|Ld.

0 &HSHHT QHH W6 (N6 HeUeoT Q60T FeuMs ey evorGLIL L 60T LNTL QummIiGLImMMIT.

d) UHW Sr&FlWeven LI &H6T gHmISQ&MaTaTILGLWD auen T @BhH W T&HF FLL LD 1935 Bl wenmuiley
QAODH5E!.
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a)b lDMHmID d b) a LDHMID b ¢) c LommILD d d) a lnmmith d

62. Which of the following statements regarding the classification of Indian states in 1950
is/are correct?

1. Part A states consisted of the former British Governor's provinces.

2. Part B states included princely states which had legislatures.

3. Part C states were centrally administered and included former Chief Commissioner’s
provinces and some princely states.

4. Part D exclusively referred to the territory of Delhi.

a) 1 and 2 only b) 3 and 4 only c) 4 only d) 1, 2 and 3 only
1950 LD I1,600TIq.60 @)\ HH W LOMBleu k& erfletrT euemSBLILIMTH Q& TLFLIMmeT LN6iTau(bLD Fam migerfleL eTgl/eTemel
Fiflwumeorgl/&fl W meoremeu?

1. UGS A WMBlevRIGET (eiTer meit LI1fl & meoflul 4,655 60T LO TS ITET0T M1 & 6M6ITd: G & IT6v0T LY. (16 [H S 60T

2. UGS B LOMEBlVEISHETI6L FLLLOETMEISHM6TS QBT HCHTF T 56T @) (HIHS60T.

3. UGS C LDMBlEVHEIGET 105 W TFTE BIFTeUE &S LILILL60T L0MMILD (LD 6EOTEUTITET &6016V60ILD 3,60 600T L ] 60T
LOIT& T6UUT G185 61T LOMH MILD Flev &CH&F LOIMIH6UMLIS M6 2_6TeTL & & W Sl.

4. UGS D NFsHCWELNTE QLM KNTCHFHMSHE GM&ERMSI.

a) 1 LmMILD 2 L (HILD b) 3 LMMID 4 DL ()LD c) 4 LG d) 1,2 ommIDd 3 WL GILD

63. Which of the following statements regarding Fazl Ali Commission are correct?

1. Fazl Ali Commission was a three-member body appointed in December 1953.

2. The Commission rejected the idea of one-language-one-state theory.

3. The Commission considered linguistic and cultural homogeneity as the only factor for
state reorganisation.

4. The Commission submitted its report in 1957.

a) 1 and 2 only b) 3 and 4 only c) 4 only d) 1, 2 and 3 only
L& 3169 5186q60T QSTLITLITET SLD& & 600TL. Fammiserley el &iflwmerg?

1. UF6L 3|69 yeMmevOTWILD 6TedTLISI 1953 . FUfl6L BlwitlGsUULL epeirm 2 MILILNeT SjemLILMGLD.

2. @ QUMP- T&HE CHTLUMH eT6iTM &H(HHMNS S4,6M600T WD BITTHI S5 S

3. Qo LMHMID HTFFTT @BeLLILTH LLEHCL SFEH L MIFFeNLOLIL|&ETeT &ITFeuol] 6r6drmI
2J,60600TWILD & (15 G W Sl

4. @Q\IhS I,6M6UUTWID G6TH SM&HensHBeml 1957 @\6L FLOTLULINS S SI.

a) 1 lnmmiLd 2 (LD b) 3 LnMmMILh 4 1oL ()LD o) 4 0L (LD d) 1,2 lnmmiib 3 oL (HILd

64. Which of the following statements about the formation of new states in 1987 is

incorrect?
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a) Mizoram became the 23rd state of the Indian Union.

b) Goa became the 25th state of the Indian Union.

c) Daman and Diu became full-fledged states in 1987.

d) Arunachal Pradesh attained statehood along with Mizoram in 1987.

1987 9ylb 31,600T(H LS W LOMBleuMmISGET 2 (Heums s LMW GLh & & 600TL Su M MG 6rfleL 6151 &6UmmeTs?
a) WGEFMILD @BH W et UISEH 60T 23 aUgl LOMBleVLDMS MAIWLISI.

b) GameuUm @HFI 6RedTIILIS T 60T 25 QUG LDMTHIEULDTE 3, 60TS.

) LITLDGOT LOMMILD 6mL_W, 1987-60 (LD jemaileument DMBIeVBIGHETTS WMHWLG.

d) S|mevormEFeuLl LNTCH&ELD 1987-60 LAGEFTFINL 6T GEFFEH S OMTHl6V AHBSHEVENSLI QLIHMS.

65. Arrange the following in order of their occurrence

1. Acquisition of Puducherry

2. Operation Vijay

3. Formation of Andhra Pradesh

4. 9th Constitutional Amendment (Berubari Union)

LS etreu(peustTeuMenm 3jemeu MISG WD auflen&uilsv seuflemsiL(H S 518
1. 4s1&C&Ffl emsw s LILM &S5 60

2. 9LLIGTag.6oT eflggul

3. 9L BTL LNTCEHEF 2 (Heum& L0

4.9 augl SITFWevenoLIL] B(HSSID (QLem T eerniluib)
a)3-4-1-2 b)3-1-2-4 c)4-3-1-2 d3-2-4-1

66. Which of the following limitations apply to both the President and the Governor
regarding their ordinance-making power?
. They cannot issue ordinances on matters beyond their legislative competence.
. Their ordinance-making power is not subject to judicial review.
. They can issue ordinances even if a similar Bill was previously rejected by the
legislature.
. Their ordinances are subject to the same constitutional limitations as regular laws.
Choose the correct option:
a) 1 and 2 only b) 1, 3, and 4 only c) 2, 3, and 4 only d1,2,3,and 4
SQUFTEF FLLID GUMMID SIGSMTTD QSTLIUMS GLGWTHS Sem6evell oM MID LEBHT @) (56U [5G0
LletTeu(pLh euFLDL|&6rfl6v 6T8 QLUIMTIHH SILD?
1. SUT&ET HMHIGET FLLIOETM FSETISH MG SLUTHULL eflaqukigefle) eusFFdF &L L kg 60 6T
Wpliiés Wigwmsi.
2. geufserfledr jeuFrF FLLIb @UMHMIDL SH &ML BHSSHIenm oML SHS 2L LILL & 3|6V6v.
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@CEHCUMETM WGFMSHIT (N6ITL FLLIOETMS ST BITTH&SELILLLY[HHS TN 6UTEHET S UFTEF
FLLRBsameT WML &Es (WigujLb.
UMM 6T S|UFTF FLLMIGET 6ULNE ST FLLEIGm6TL CUITeLGa 9 JFWeuemloLiL] 6UIFLDL]& @5 &G
2 LUl L emeu.

grflumerr eflemLemwsd CHTHOSHH &8 LD:

a) 1 lnmmILd 2 L (HLD b) 1,3 LnmMILD 4 OL_BHILD €) 2,3 mmid 4 oL_(BHID d) 1,2 3 mmin 4 ol (L

67. Which of the following is protected under Article 23 of the Indian Constitution?
a) Right to practice any profession

b) Prohibition of traffic in human beings and forced labour

c) Freedom to manage religious affairs

d) Right to conserve distinct language, script, or culture

AHH W TFAWevenlnliLNer eNG) 23-60r GLh LI 6tTou(HeuetTUMNM 6L 6T LIMSISTSESLILGEMSI?

a) 6THS Q& MSlemneuu|d QF WL 2 flemin

b) neflET&emer ellWMUMTTD QFUIaISID &L LMW 2 ampliLld Sl QFWWlLIH &6V

o) I0S NEUSTIBIGHEM6T BITeUR &G &S HHTLD

d) SeoflGgaunmer QLML 6TR& S VLS HEVTESFTISHMNSGL! LIMSSHTEHGLD 2 flenin

68. Which of the following statements is/are true regarding the functions of the
Legislative Council?
. The Legislative Council can amend and reject a Constitutional Amendment Bill passed
by the Legislative Assembly.
. The Legislative Council can delay an ordinary bill for a maximum of four months.
. The Legislative Council has no role in approving the state’s budget, except for
discussing it.
Select the correct answer using the codes below:
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
FLL Ceueneuuller Leooll&6T QGTLIUTS LNeTau(bl Fammiserfley ergi/eremeu Fiflwmeoremeu?
1. FLLWLOETMSSMTE BlemmCeummULL L TFWevenlnliL] H(HS5S LDCFTSHTem6U &FLLL06ITM GLO6Veme6l
H([HSHHVITID S 6VevGl BITTEF&ES&HITLD.
FLL GLO6Uem6U @(h FMSMTT6U IDCFTSHTem6 S|H&LLFLD HTETES LOMSHBEISHEHSHES STNSLILGSS
pIguyLb.
LTElVSH 6T LLQRL L SRS&SFILILG6 FLLID6ETD S6|rRasEES Sens aleumH LU ss Sy
6TIHh G LIMIGLD @) 6V6m6v,
G 2 siterm GMIUIH STl LweTU® S S srflwmer LS emevs G5 HO S5 M &&6a]LD:
a) 1 LmmILd 2 L (HILD b) 2 LoMmib 3 LG ¢) 1 wmmib 3 LG d) 1,2 lommib 3
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69. Under Article 174(2a), the Governor can dissolve the Legislative Assembly with respect

to this statement identify the correct answer
. The Governor can dissolve the Assembly only on the advice of the Chief Minister.
. The Governor can dissolve the Assembly even without the Chief Minister’s advice
under special circumstances.
. This Article also gives the Governor power to prorogue the Assembly sessions.
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d) All of the above
LN ley 174 (2a) @ 6T BLD, SLEBHT FLLIOGTMHMS &MV (LPLGUJLD 6T60TM FaM N 60T LILG
LSl etTeu B euctTaUMMIl6L FflWmenT LIS emevs CEHTHOSH & 5:
wsevaurfleT oLCeumFemenruiletr GLINfleL WL HIGLD SLEBHT FLLFMLIEMW SH6M6VE S (LNLGLULD.
FMLIL GLDBlemeuserfley (N5 evenn&EFF6T 91LC6VITFm6rT B)6V6VITINCMIGCW JLEBHT FLLLOGTMES NS
S6M6VE S (LPLgULD.
FLLLUGCUTeMEUE Fnl g QSTLNT & FH 06U G B &TTHMS WD O 6BHIHESS O)\HSF
FLLUA ey aupraig&mSI.
a) 1 LmMILD 2 L (HILD b) 2 LbMMID 3 WL GILD ¢ 1wmmib 3 LGLD d) GLOB6V 2_6ITET 6060TSH SILD

70. Which of the following statement/s is true regarding unitary government

1. Constitution is the supreme law of land

2. All powers are vested with the national government only.

3. Legislature may be Bicameral and Unicameral

a) 1 only b) 1 and 3 only c) land 2 only d)2 and 3 only
@NEOMWITLEF IFMHRISID QSTLTUTS LN6Teu(hd FahmisGerley ergl/eTeneu FiflWimergi?

1. 3IFFAWevemnLIL] FITL Q6T 2 &F&F FLLIDMGLD.

2. 9|MEUTS & SBGMTTMHISEHL G5 TFMHEISSS LD L HIGLD 2_6T6rTeor.

3. FLLLOGTMLD FFIJ6M6UWITS LD, pMemM j6MeULIMTSH LD @) (H&&6VITLD.

a) 1 (b b) 1 Lommith 3 ()LD c) 1 wmmih 2 I @HILb d) 2 inmmith 3 ()LD

71. Which of the following pairs regarding the characterization of the Indian federal
system is INCORRECT?

a) Alexandrowicz - Sui generis

b) Ivor Jennings - Federation with a strong centralizing tendency

¢) Morris Jones - Cooperative federalism

d) Paul Appleby - Extremely federal

QBB W Fal LTS wenmuileir 66 & migG 6T Q& MLITLImer LIeiTau(BLD @) 6060uT8:6rflel 6T &6UMITeoTS?
a) I Qeugerumesor_Crmalld - &ufl Q@ erifley

b) 56U Qeg60Te0TIMIEN - EUAIEUTET MWWILILIHGSSILD CLTEHEG Q&HTeooTL Fnl LT &

¢) Gmiflev GmeiTen - R&HHIMLPLIL] Fal LT H
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d) Limev @ LIl6TL — 9B S LILIGUITET Sal LITL &

72. Which of the following factors, as highlighted by K. Santhanam, contributes
significantly to the unitary bias in the Indian Constitution?

1. The dominance of the Centre in the financial sphere.

2. The emergence of a powerful erstwhile Planning Commaission.

3. The independent functioning of the judiciary.

4. The rigid nature of the constitutional amendment process.

a) 2 only b) 1 and 3 only c) 3 and 4 only d) 1 and 2 only
C&. FHSMETID &L 196 S Mg WL, LeTeu(pLd &myenflsefle gl @HH W SFEFwevenioliieéy
@NOMWITLE &ML SS6Tenns G GOILNLESS5E85 Lmis6afllamu I eflé& msi?

1. BISSsmmuiléy LSH W TR 6T 9 H &S0,

2. F&BUMIBHS (LPEITETITET HLL 160600TL S B 6dT G5 mTMMLD.

3. B®H & GIemmuileT &5HS TLOMeT QFwWeuLm®H.

4. IR WevenloliL] B(HS5S Q& W6 (e MUIN6IT &19.60TLOITEOT & 6OT6OL0.

a) 2 0L b) 1 LoMmmith 3 ()LD ¢) 3 MmMID 4 10 (HILD d) 1 iommith 2 ()b

73. The Inter-State Council consists of

1. Prime Minister

2. Chief Ministers of all states

3. Chief Ministers of union territories with legislatures

4. Eight Union Cabinet Ministers

5. Administrators of union territories with legislatures
a)l,2,3,4and 5 b) 1, 2, 3 and 4 c)1l,2and3 d1,2,3and 5
LOMTBIEVEIS @EH & E @) 6L ulleumer & weleT 2 M6 s 6T

1. YosLwoF
2. 9|6M6UTS Sl LOITIH]6V IS 6rfl60T (LD &6V 600 & & T8 6T
3. FLLLD6OT MG 6m6TS G185 Mevor L. W,evfledr LN yGCg & migserfletT (LD S 6v6nLn & & (78 6T
4. TL(® WLSB W S|MDEFTM6U | 6NLDF &[T 6T
5. FLLLOGOTMEISGeM6NS Q& mevorL Wi eollwetr LNy Cg &g erfler Hlyeume) et

a)1,2 3,4 HmID5 b) 1,2, 3 LDHMILD 4 01,2 Mmmin 3 d) 1,2, 3 0mmin 5

74. Arrange the following in the chronological order according to the year of their
establishment:

1. Anandpur Sahib Resolution 2. Punchhi Commission

3. Rajmannar Committee 4. Sarkaria Commission

a) 1-3-2-4 b) 1-3-4-2 c) 3-4-1-2 d) 3-1-4-2
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@eumenm BlMIeULILIL L. 91600719607 3JLqLILIemL U6V &Teveauiflem&FLILILg 9emn&&eayLD:

1. QyeThSLT FMEL GTLnmerin 2. L& S emeuorwiid

3. TTQLO6TEuTTH (L0 4. FTSMIFIWIT 3),6m600TW LD

a) 1-3-2-4 b) 1-3-4-2 c) 3-4-1-2 d) 3-1-4-2

75. Who among the following are members of the Standing Committee of the Inter-State
Council?

1. Prime Minister 2. Union Home Minister

3. Chief Ministers of all States 4. Cabinet Ministers of the States

5. Governors

a) 1, 2 and 4 only b) 2 only c) 2, 3 and 4 only d) 1, 2 and 5 only
LOITH6V IS 658 & @) 60 L-USl6uITeT & 6 60T T 60l60T Mlemeus: (& W elleor 2. ML NeurTa 6T LN 6dreuHLeuFserflév wmy?
1. YgsLwLF 2. GBI 2_6TZ5IemMm I MDEFT

3. 9|eM6UTS S LOITIH16V M 6160 (LD &6V 6ML0 & & T8 6T 4. 10T Bl6VMREIS 6l 60T I|MDFFTEN6U 3| 60D F&FITE 6T

5. S4E@BIBJ& 6T
a) 1,2 Lommith 4 (LD b) 2 0L_(h\LD €) 2,3 MM 4 0L_(hILD d) 1,2 lomoih 5 10 @GlLb

76. Match the following

A.243P - 1.Composition of municipalities
B. 243Q - 2.Definition

C. 243R - 3.Constitution of municipalities
D. 2438 4.Ward committees

QUM S S15.

A. 243P 1.6&5FTLA ser6er 9jeminLiL]

B. 243Q - 2.6uemFWemMm

C.243R - 3.5&IMLF&em6T 3|6ML0S 56U

D. 243S - 4.euri( & W& 6T

a) A-2, B-3, C-1, D-4 b) A-4, B-2, C-1, D-3
c) A-2, B-4, C-1, D-3 d) A-2, B-1, C-3, D-4

77. Which one of the following statements about the 734 Constitutional Amendment Act
is true?
a) The Eleventh Schedule added by the Act contains 21 functional items for municipalities.
b) The Act does not apply to any Union Territories under any circumstance.
c) The chairpersons of all three levels of Panchayats are elected directly by the people.
d) The Gram Sabha is considered the foundation of the Panchayati Raj system as per the Act.
73au8 SIFFWevenollL] H(HSHSE FLLID LMW NeTaubLd ammiserfley 618 Fiflwmersi?
Page 30 of 75

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

a) FLLSSMEL CFFHSLILLL UG CTTImaug Sl Lealemnsooruiley B&EITLA&HEpSHESTeT 21 QFweLTL (6

2 _(HLILILY G6T 2_6IT6IT6T.

b) @FFL LD eThg Ww,eoflwledr LIFCHFMIGHEH&HGLD 6ThHEF @LDBleneuuillald QUITIBHS TS

C) eLNEITMI TBlemey 2an TG G 6rfl60T &H6mevelF&HEBHLD L& S&HETTEV CBIILLTSES CHIHAS M HHLILIGSHMTTSHET.
d) B FeL FLLSHTLI LIGFTWSS T3 ennlILNe6r <1985 56TInMHS &HSLILGSH M.

78. Identify the incorrect statement regarding the changes implemented by Annadurai's
government in 1969:

a) The Sanskrit word "Shree" was replaced with "Thiru" in official communications.

b) The Secretariat of Tamil Nadu was renamed to "Tamil Nadu Arasu Thalamai Seyalagam."

c) Annadurai's government sought to replace all Sanskrit words with Tamil equivalents in official
correspondence.

d) The changes were aimed at asserting Tamil identity and reducing the influence of Sanskrit.
1969 @)6L 3| 6VUTEUOT THI6M T S| TFMHEIGHEHS TV QFWLHSSLILILL I0MHMEIGET LMW &eumITer Fahenm
SO WITEITLD &IT600TS:

a) 2 5HCWMEHLLT6 HHaUVRASTLTL &6 6 "wf" eTedTm FOaVERIHS aUMTTHmS "H([B" eTeoTm LDMMHMLILIL L &I

b) SALBT(H Heneveningd QFWeVsLD, "SLALPBITH AT&H He6VemLn Q&SN 6T60T QILIWIF WMMHMLD
QFWWLILLLgI.

C) S| 6UOTEOOT TSN S| J&F S|6M60TH S FLNNR(HSHEF QFTMEHEHHGL LIFVTHS SLALD @)60)600TLIT60T Q& TM & 60 6L
LweTL(h &S (LpUIETmSI.

d) sl siemLWmaTdHens 2 IS ILMG S S, FLD6V S [(HHHH 60T G FVaITEMEE GMME56]|D @ hHs

LDTMHMBIGET Q& UIWILILIL L 60T

79. Who was listed in India Today’s "Top 100 people who shaped India by thought, action,
art, culture, and spirit"?

a) Dr. b) R. Ambedkar b) C. N. Annadurai

c) Jawaharlal Nehru d) Subhas Chandra Bose

@BHWT GCLUN 6T "FIH S emeur, QF 6L, M6V, HEVITEFEFTTLD L0MMID L60TIOIT eLp6VLD @)1 W Temeu

UL eUEMLNG S (LNG6V 100 HLIFSHET" LIL19W6d6v LILIquied L LIl Leuy wimy?

a) LM&LT 9. 9bF.HDCUS ST b) ).6T60T.. 6007 600T TSI 60) [

¢) LalamFeumeL GH(H d) &UMeq FHEHT GUImeu

80. In which of the following circumstances, the calculation of GDP would be inaccurate?
1. Including net exports in Expenditure method of GDP estimation

2. Accounting for Depreciation in Income method

3. Including both Intermediate and final goods in Value Addition method of GDP

estimation
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4. Subtracting Product subsidies in the GDP estimation

Select the correct answer from the code given below

a) 1 and 2 only b) 3 and 4 only c) 2,3 and 4 only d) 3 only
L etreu(BLh 6THS @& Lhmlemeuudlev, GDP & 6008 S () &6UMITEITS TS @) (H&(&LD?

1. QMSS 2 6THTLE 2MHUSS LG LIS 96T QFeveller (penmuiley BI&T gHMILB e C&FTs 560
2. aU(BLomeT (emmuilel G5 UL MTETS MBS & 60018 ) (B S5 6L

3. QLMES 2 6THTLH 2-MUSH) LS LI 1960 LI ol L6V (nemmuileh @emLBlemev LOMHMID @) MISH
QUITIHL&6ET @) J6UoTenL LD 2 6iTermL &SR W Sl

4. GDP LB L1960 swmiflly wmeflwmiseners &8 560

GG AamH&&LIULBG6TeT GMUTLIge0BHE Frlwumer LS eameas G5 HOSH &&a]lh

a) 1 LMmILD 2 L (BID b) 3 LLMMID 4 L (LD €) 2,3 mmIb 4 WL BHILD d) 3 LL (D

81. Which of the following statements about the Second Five Year Plan (1956-1961) are
correct?

a) The Harrod-Domar growth model was used for overall projections and resource
allocation to agriculture and industry.

b) The Second Five Year Plan prioritized agriculture and de-emphasized industrial
development.

c) The plan focused on rapid industrialization, particularly heavy and basic industries, and
advocated for huge imports through foreign loans.

d) The Industrial Policy of 1956 aimed at establishing a socialistic pattern of society as
the goal of economic policy.

a) Only a, ¢, and d are correct. b) Only b, ¢, and d are correct.

c) Only a, b, and d are correct. d) All statements are correct.

@\ [T600TLMeU S B & Mevor(® HLL LD (1956-1961) LMl SLhsmawild 6ums & wnkiserflev eTemeu &l meoTemeu?
a) efleuEFmwid LMHMID QFTHLFMMESTET L (HGLOMSS &600f1LIL|&6IT L0MHMILD 6U6T RSIGHTHLILMES
QNCrML-CLMT euemf&ER LrH Kl LwWeTUMSSLILILL SI.

b) @retoTLmeus RHSTT(hS S L aleusmTusH NG wearanflenw siaflg s, agmiflevgienm

UMTEFER &G (NERWSH 6D QEHTH S5 SI.

<) @SS G LD aflemyeumer QGMHeLIOWLOMES5960, GMILILIME &60TI8S L0MMILD G LILIenL S
Qsmflcusefley HeueTd QFNIGH WS, CLad QeueflBTLH\& &L 6TSH6T eLneuld QLI(BLD @)ME (&L & EHEES
IR ) OIRF-T- Y-

d) 1956 9yLb ,600TL.60T QG TSV ZIMM QG TEITeNS, QLITIHETTHITTE G & T6iTem & Ul 60T @ 6VEHSH TS 6 (H
CoFmFallF Fens SenlnLienU FlMie|euensd CHTHEHIONGS Q& TEUoTL Sl.

a) a, ¢, InMHMID d L BHIGLD FiflwimeTenel. b) b, ¢, DMHMILD d GG FIflWLITeTem 6.

d)a b, IDOHmILD d LLHEL FlwmeTemne. d) S|eeTH L UTHRWIBISEBLD &l TeTem .
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82. Which of the following statements is/are correct regarding the First Five Year Plan of
India (1951-56)?

a) The plan was presented by Jawaharlal Nehru and laid emphasis on industrialization.
b) The main focus of the plan was on the agrarian sector, with significant investment in
irrigation and dams, including the Bhakhra Nangal Dam.

c) K.N. Raj, a young economist, recommended a "hasten slowly" approach for India's
development during the first two decades.

d) The target growth rate was 2.1%, and the achieved growth rate was 3.6%.

a) Only statements a and b are correct. b) Only statements b, c, and d are correct.

c) Statements a, b, and c are correct. d) All statements are correct.
@hSWmeller NH6L BHS! 31,600TH G LD (1951-56) LMHMIW GLh& & TEmID 6UME S W kIS 66 erg)
FiflwmetTemeu WITE: @) (H & 6 60T M Z1?

a) @Hs G L LD QeuamFeumev CIH(H UPMBIG WG LDMHMIL QSTHLZIenM aaTTEF enW (NHHWINMTSHES
seauellg s gl.

b) @\H5 S L_LLD GeUETITEuOTENLD aUMTTEF &G (N&EHR WS SIaUD I 6fld S Sl ©) 56T epeuld BIFLILITEFer

S LMIGET InMMILD 9|6meorsserfley, GMILILIMTE LITSITIT K& 3jemevoruilev, (ns56eSH QEFWWLILLL I

) @6 QUITIBETTHTFeWeumery G&. eTedr. FITR @ hHSW TalleT eueTTFR&SHTS (NS @IHLIS
34,600T(H & 6rfl6L "QLD ZHIUTS aUETTH S LSl6tTeory CeussLOMTa: (LN6iTCeorm Ceuetor(RLD” eTedT LIflH SIS ST,
d) BILLSH 6T G\ 6v8 S euemTEF TS0 2.1% 31,5 @) (HIHS I, 6TTITEL DL 6 eueTTFF & FLb 3.6%
A5 QGHS S

a) a LnMHMILD b L GID FlwmeTenel. b) b, c lnMHmMILD d GO FFlwmeTene.

¢) a, b LDMHmILD ¢ FiflwimesTemeu. d) S|ETH G UTHSRLIBIGEBLD &l TeTem .

83. Consider the following statements regarding NITI Aayog:

1. Unlike the Planning Commission, NITI Aayog does not have financial allocation powers
for states.

2. The Governing Council of NITI Aayog includes the Prime Minister, Chief Ministers of all
States, and representatives from Union Territories.

3. NITI Aayog’s Three-Year Action Agenda, Seven-Year Strategy, and Fifteen-Year Vision
Document aim to replace the Five-Year Plans.

4. The Atal Innovation Mission (AIM) and Aspirational Districts Programme are initiatives
launched under NITI Aayog.

Which of the above statements is/are correct?

a)Only 1, 2, and 3 b) Only 2, 3, and 4 c) Only 1 and 3 d 1,2, 3,and 4
BIS SL,CWMTEH QGTLFLMET LN6iTeu(BHLD |8 6088 6m6Tg: 85616011 IS 6lT:

1. BILLE Gwemeu GUmeveirm), B1H SLCWTEH MG LOMBIVEISGEHS S B8 @516 EGD G SGTFLD G 6Lemev.
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2. B1S oL,CWME&H 6ir BlTeums:s @& uweiley LNTSIOT, 3 emeTs Sl LOMHBleuEISG6T 60T (NS 6V EFTE6T M MmILD

wenflwett LNFCHFmGerletr L7 H BIG &6T @) L 1DG LM MI6TETerI.

3. BIS) &,CWMTHER 6T eLNETMTEUoT(H Q&FW6V G L LD, (0 3L600T(H 255 LM MILD LIS 66T H Sl ,600T(H)
QBMeMUCIHITE S 3)6U6UUTID 3, W emeu RHSTeoT(H HLLHISGem6T LDMMHMIcueng CHMTE&HI0TS S

@ & IT6voT () 6ITETEOT.

4. 9|6V L SI6mD @ W &S0 (AIM) LLMMILD UL FIW WML L MG HLLLID LS Wenel B1S oCWTEHSH 60T SBLp
QSMLBISGLILLL (NeTIpWMHE&ETMESLD.

CLOB6v 2 6iTel FaM MG 66V eTgI/eTemeu FHlWmeTSI/& W meuTem 6u?

a) 1,2 nmmIb 3 LLHGLW b) 2, 3 MHmILD 4 WL H G ¢ 1 wmmib 3 LLHEL d)1,2 3 wmhmib 4

84. Consider the following statements regarding India's Annual Financial Statement:

1. The Constitution of India explicitly mentions the term "Budget" under Article 112.
2. The separation of the Railway Budget from the General Budget was done on the
recommendations of the Acworth Commaittee in 1924, but they were merged again in
2017.

3. The revenue budget includes receipts and expenditures that relate to the government’s
assets and liabilities.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 only c) 2 and 3 only d1,2,and 3
@ BB Wmeller auBLTHS T BIS Hlenev M &ens QG TLFLmeT L eTeu(HLD M8 608 5 6m6ms

8561 6071 L 161 &5 61T:

1. @hSW TP wevenwliL & FLLIb L9fle] 112 @ 6T S "LILQEL" 6TedTm 6UITTE M & 6mil
QeueflluLenLWTsH S GMULNOSR M.

2. uileLGeu LLQEL L QUTE LULQRLIGeSBHS NfllLg 1924 @60 SHC6UTTS & el eor
urflbgliennserfler GUNfl6L QAFWWLILILL &I, SL60TT6V Sjemeu 2017 @) 6L LS6toT(HILD @) 601600785 & LILIL L 6OT.

3. au(BeUMl LILQRL 960 STFMMEIGSS) 6T Q&F TS S8 6T MM QUITNILILSGET QG TLFUTeT & I8 6T
LM MILD QF6VEY 6T L HIGLD.

GG AEMH&&LILL B 6TeT 9 nl&an s serley 615l &Fiflwimergi?

a) 1 LmMILD 2 L (HILD b) 2 LOL_(h\LD €) 2 LoMmMID 3 DL GILD d) 1, 2, LoMMILD

85. Which of the following statements correctly describes the classification of public
expenditure based on benefits, as given by Cohn and Plehn?

1. Public expenditure that benefits the entire society, such as spending on general
administration, defense, and education.

2. Public expenditure that provides a special benefit to certain people while also benefiting

the community, such as the administration of justice.

Page 34 of 75
Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

3. Public expenditure that directly benefits a specific group but indirectly benefits society,

such as social security and unemployment relief.

4. Public expenditure that provides exclusive benefits to certain individuals, such as
subsidies granted to specific industries.

Select the correct answer using the codes given below:

a) 1 and 2 only b) 1, 2, and 3 only c)1,2,3,and 4 d) 2, 3, and 4 only
G&medT LoMMILD LN 60T 6uULPMIG W 560T6m L0 & 6rfletT 241 Li1LlemLudlél QLTS Q& 6veil6ormi & 6rfleor

auens LML enL LNeTeu(BLD Fammisemlev ergl Eflwunms afleufl&&H ma?

1. QUITE BIFeUMSLD, LMSISTLIL IDMMILD &60698 & Ter Q&F6V6 86T CLIMETM (N(D FENaG S H MEGLD
Lwleorerfl& G LD.

2. 5% BlFeumsb GUTETM Flev(H& S FIMLIL] [HeiTemOEML 6ULNTEIG LD 3|CF CeuemeTuilel Fens s H M EGSLD

Lw eorerfl& & LD.

3. FesLU LUMSISTLL MM CeuemeuuileTenio Mleumyesorid GLIMeTrm @B GMILLNLL GwelhES
CHIIGWITHA|LD MM NSLOMTSHa|LD Liwererl& GLD.

4. GOILNLL QTN EHSHE aUlpmISGLILGILD LOmellWmkigser GUMeTm Flev el LTS EHS G LNTs5CWws
IH60T6MILO & 66T GULN I (G LD.

SC Aam@s&LIULBG6reT GMuiGsamer LWaTU® 5SS Fflwmer LSlamevs C5ITHAS M &&e]LD:

a) 1 lnmmILd 2 L (HLD b) 1,2, nmHmILD 3 0L_(HILD o 1,2 3 Inmmiin 4 d) 2, 3, InMmmILD 4 0L_(HILD

86. Consider the following statements regarding Canons of Taxation:

1. Canons of taxation refer to the qualities of an isolated tax and not to the tax system as
a whole.

2. According to Adam Smith, there are five canons of taxation.

3. The Canon of Ability suggests that individuals should pay taxes based on their capacity
to do so.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d1,2,and 3
aufle S L NH(WemmS 6T QAGMLTLTET LN6Teu(HLD oD WIS M6 & 6u6ullW] hi & 6lT:

1. uflefB LI B (LM 6IT TETLISI 62(H SevflemLILIB &S LILL L eurfludl6or (& 600T I & 60618

GM &R ermert, RLHOLLMSS eurfl (DML 3{6L6V.

2. 9L 1b e G B 6T Fnm ML, euflaS L eSS (WM& 6T 231H I 2 6iTeTeuT.

3. B meir NG (NemM FHeuflBHLITSH 6T HMIG6T HlmevllerT g LiLienLulleL aurfl Q&g s GeueooT(hHLD 6T60TMI

WL EARL AN

GG QEHMH & & LILIL(HETeT Fahmiserlev 1zl Fiflwmenrg?

a) 1 lnmmiLd 2 (LD b) 1 LoMmmith 3 oG c) 2 InMmMIh 3 I (HILD d) 1,2, lommib 3

87. With reference to the Budget in India, consider the following statements:
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1. The word "budget" is derived from the French word "Bougett", which means a small
leather bag.

2. The Union Budget is presented under Article 112 of the Indian Constitution.

3. The State Budget is presented under Article 202 of the Indian Constitution.

4. India follows a unitary system of budgeting where only the Union Government prepares
the budget for the entire country.

Which of the statements given above are correct?

a) 1 and 2 only b) 1, 2, and 3 only c) 2, 3, and 4 only d1,2,3,and 4
@ BB Wmellev LLARL L LI QUITMISHeUenT, LN6iTeU(HLD FaM MG eM6TS 561601 BIS6lT:

1. "ULQKQL" eTedTm QF M6V LNQTEH& eUTTEH6em S WITer "LLQS&L" eTedr LIS 60 (BH S QUMLUILILL &I, §) & 6T
QUITIHET @@H FMw G5 ITeL ML 6T60T LIS TS LD.

2. 05HW LULABL @S W TR wevenwoLiber Kfle] 112 @ 6T S FLFUNGESLLGSRMSI.

3. 0mBlev LLQZL @S W SFflwevennlifer Nifley 202 @ e6ir Ep FLTUNGSILGIHMS.

4. QHHWIT @ MHeMWTLF LLQAQL wemmenwll LNaSTLUMMISRMSI, @B 6L LHHW 37s GG (LW
BILYMHGSD ULQZLamLs wmfla&Smsl.

CLGev AEMH & & LILIL B ETET Fa M miserflev eTemeu Fiflwimeremeu?

a) 1 lnmmiLd 2 Ll (HLD b) 1, 2, InmHmILD 3 L (HILD €) 2,3, InMmmILb 4 10L_(hILD d) 1,2, 3, nmmibd 4

88. Consider the following statements regarding the revenue utilization of taxes:

1. The revenue from taxes is used for civil administration and national security.

2. Infrastructure development is one of the purposes for which tax revenue is utilized.
Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
eurflserfledr eu(Beuml LIWeTUT® QG TLFLMeT LN6TeUIBLD JaMMISGHem6Td: &6 6T Mg 6iT:

1. euflmerflef (BH S FevL & GLD eu@Beuml Falley BlFeumssd WMMIL CHFW LIMTSISTLILSHGSLI
LweTURMSSLILG&R M.

2. 2 6T&LLemollL] CWUM® eredTL S euifl eu@Beumil LWeTUGSSLILGILD CHTEHSHEmISTl6v @6eTMMELD.
GG ASTH&SLILILGHETET gammisefley g Fiflwmers ?

a) 1 (b b) 2 0L_(hILD c) 1 mmid 2 @ evor(hLd d) 1 9j6LeLSI 2 Bj6V6V

89. With reference to the differences between direct and indirect taxes, consider the
following statements:

1. In direct taxes, the incidence and impact fall on the same person.

2. Indirect taxes can be shifted from one person to another.

3. Tax evasion is easier in indirect taxes compared to direct taxes.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
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GBIy LnMMIL WeMNS aulflE&EEsE @emLullevmear Caumumpseamens MG emsulién, LeiTeu(sHLb
T (D M1 G 60V6TE 5561601 615 61T:

1. GBIy eurfl&erflev, Blahe WMHMID SM&ESHWL @CF HUF g elwHma.

2. MG auflseneT e HeuFILLOIIBH S G)60TQ 60T TIH6UIHE (S LDMTHMEVITLD.

3. G euflsEpLeT @UEHLEUTS weanmns auiflsefley eurfl guiliL] ererflgmeorsi.

GG QSMTH&HSELILILDH6TET Sammserfley ersl Frlwmers?

a) 1 lnmmILd 2 L (HLD b) 2 LoMMith 3 ()LD c) 1 wmmib 3 I GlLb d) 1,2, lommib 3

90. Assertion (A): The Finance Commission recommends only tax devolution and does not
provide for grants-in-aid to states.

Reason (R): Grants-in-aid to states are provided exclusively through Centrally Sponsored
Schemes (CSS).

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is false, but R is true.

d) Both A and R are false.

Fammi (A): BIG) 3yemevorwilb eurfl LG Femeu WL HCL UK SeTEHEHMS LDMMILD LOTH6VN S EH &S LOmeollw
2_geifleml euLpTHI(G 6uBTevemev.

&TIeorld (R): LOITBl6VEIS 658 S L0 M6l MG 6T 0SS W BIS W s5ei G L Kig6T (CSS) epeuld L HGL

6ULP 185 1L (H) S\ 60T M 60T

a) A LnMHmILD R @resor(d &ifl, GLoayid R eTedTLIG A @)6oT & ifluimeor eNlem& & InmEGLD.

b) A LnMMIh R @Tevor(hID &Fifl, 21,6076V R eTadT LIS A @)6dT SFiflulmeot eNlemgasLD 2606v.

) A 6T60TLISI S6UMI, 94,6076V R eTedTLIG! &ifl.

d) A Lommilh R @pevor(hLd &euml

91. Consider the following statements regarding the allocation of taxing powers in India:

1. The Parliament has exclusive power to levy taxes on subjects mentioned in the Union
List.

. The State Legislatures have exclusive power to levy taxes on subjects mentioned in the

State List.

3. The residuary power of taxation lies with both Parliament and State Legislatures.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3

A BB wWmeilev auflafIHLIL BH&TIHIGSMET 8185 G6US QGTLFLIMeT LSleiTeubld il 608 & em6rs:

55611601 WL M1 &5 61T:

1. wsHWL uLigwedlev EMILKLLILL R 6Ter UEGH & EHEHES aulfl NG &8 [HITLTEHL6TM &S H S
KosCWe BT 2 6Terg.
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rElev LILIgWed6v ML LU (G 6TeT LMLKSE58 G eulfl efl§ & InMBlev &L L L060T MBI & @6 E
KrsCWe SIF ST 2 6iTerg.
aufle S LI G & meT 6T W G &TTLD HITLMTEHLO6TMLD WM MILD WOMHl6V &L L L0 60T Mk 6T
@TeTI NGO 2 6iTemS.
GG AEMH&&LILL B 6TeT & & serley ergl &Fiflwimergi?

a) 1 lnmmiLd 2 oL (HLD b) 2 LnMMith 3 ()LD ¢) 1 wmmib 3 DGl d) 1,2, lommib 3

92. Consider the following statements regarding Employment and Labour Force in India:
. Labour force includes all individuals in a country who are currently working or capable
of working.
. Employment growth in India has consistently remained above 5% since 1972-73.
. The organised sector provides job security and additional benefits like insurance to its
employees.
. The public sector consists of government-owned enterprises and undertakings.
Which of the statements given above are correct?
a) Only 1, 3, and 4 b) Only 2 and 3 c) Only 1 and 4 d) Only 1, 2, and 3
@ HH Wmellev GeuemeveumLIL] LDMHMID QSTNETETT &S QG TLTLIMeT LIN6Teu(HLD Sa M MG 60 6T
55611601 WL M1 &5 61T:
@@ H HITLI96V SHECLIME LevollFlulb 26vev gl Ceuemeu QFWIWEFalqll | 6M60TS Sl & 60T B LIS @EBHLD
Qgmfleumery &&HUl6L L MG 6.
1972-73 056V QBB WMTeTl6L CouemeveumILIL] aUETTEF QSTLIHSI 5% &G B &I0THGCe 2 6TeTsl.
RUMEISMGESLILILL Slenm 56T 2orSWFTsHEHS G Cauemevll LIMSISTLIemUWL STULlS®H GuUmeTm
T (D) &6V F8YI6MEGEMETILLD ULDEIGHMSI.
QUITSISH SIemm 6T6TLIS ST EF QFTIHSLOITET Bl M6 60T IS 6068 G\ & IT6oT(h6iTeTS.
CLGev AEHMH & & LILILHETET &a M miGerfleL eTemeu Fiflulmeoremneu?

a) 1, 3, LoMmMILD 4 101" ()LD b) 2 LnMmmith 3 ()LD o) 1 wmmih 4 1D (ILD d) 1,2, nmmid 3 LB

93. With reference to the trade guilds of South India, consider the following statements:
. Trade guilds were formed to organize and expand trading activities.
. These guilds played a crucial role in spreading Indian culture to other regions.
. The main focus of South Indian trade guilds was on internal trade, with minimal
foreign trade relations.
Which of the statements given above are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2,and 3
Q6T HH W UTSHHSH FhIGMEIGMETL QUITMI S S eUenT, LN6iTaU(IBLD FnM MI&606Ts &6 6T U] Mg 6iT:
1. U555 HLEULLE MG EHMET (MGG S eflifleuBHSHHe|LD 6UFs S8 &nignh & 6T

2 _(IH6UME & LILIL L 60T.
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2. QB W SHTFFTIHMS LM LGS &HEH8E LITLIL UG 6L @)\hHS &FhigG M G6T (N&HS W LINIG 6us g s er.

3. GOMBSLLF QeueflBTL® euTHSH S5 2 M6 & EHL.60T G5 60TeulH T W 6UTE 58 &Fhigsk g erler (n&a&Ww
SeUaTid 2 6THTLD UTS55855 8L @ BHS S
GG QAEHMH & & LILIL BHETET Fa MG 6rleL eTemeu FiflwimeoTemeu?

a) 1 lnmmiLd 2 ol (HLD b) 2 LnMMith 3 (LD c) 1 wmmib 3 I GlLb

94. Consider the following statements regarding rural development:

1. Dualism in rural areas refers to the coexistence of contrasting features such as
developed and underdeveloped sectors, organized and unorganized markets, and
modern and traditional systems.

. Rural inequality primarily arises due to historical, social, economic, and political
factors, with wealth, income, and assets being evenly distributed among rural
populations.

. Migration from rural to urban areas is largely driven by a lack of employment
opportunities and basic amenities, a phenomenon described as 'double poisoning' by
Schumacher in his book Small is Beautiful.

Which of the above statements is incorrect?

a) Only 1 b) Only 2 c) Only 3 d) 1 and 3

S ymolym CLUM® QS TLFLmeT LI 6tTeu(HLD JaM M8 em6Td & 6u6ul ] kg 6lT:

1. Ayrolymrisefey @ L enLeUmsLD 6TeTLIS aUeTTHS OMMILD 6UeTTFEFIWMLWITS S6mM& 6T,

RWRISMGESLILLL IDMMID RUOBISMGSLILILTE &Heng 6T, Hafer Lnmomib umywuflw

S|eMLOLIL| &6 GLITETM LOMMILIL L. S|IDFEIS 6T 6T F&HeUMpeneus &M &SR M SI.

2. @lymolym F0g gleulll6iTenln (L0 S 6TenI0WITS 6UTeVTMH MI, FEN&, QLIMIBETITSTY LoMMILDh {FFwe

STI6uol & ETITE TR MG, QF6L6ULD, QUIBLOMEITLD LM MILD QFMTSSIHEET G FTLLILM WwESseflenLGw

FLors N EICW T & & LILI[H S 60T meor.

3. aqOCLESET Sers "FIN WS SLPETETSI" 6TeTm L5555 T 60 '@ TLenL eflagld’ eredrm ,

SrmuoulLmnisefedBHS HHFTLILMEISEFSE @LDAUWTe] QU@GLUTID CalemeueumlLiL LoMmILh

S LILIEOL aUFBH&ET B 6L6VTHSTL gHLGBMSI eTeor laurfl g S HES M.

CLOM & 600TL. T D) MG 61Tl6L 6THI FHEUMTEOTSHI?

a) 1 L (LD b) 2 I0L_(hILD ¢) 3 DL @Lb d) 1 lompmiid 3

95. Consider the following statements regarding Minimum Support Price (MSP):

1. MSP is announced after the harvesting season to ensure farmers get fair prices.
2. It is recommended by the Commission for Agriculture Costs and Prices (CACP).
3. MSP helps in preventing distress sales by farmers.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2,and 3
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GONHSLLF 576y 6Slemev (MSP) QS ML TLIMeT LN6tTeu(HLD 3N & 6088606118 & 6L 60T L I & 6iT:
aleusFmuilaser BlWMWLDmeT eflemeudsemeTL] QLMIUMS 2 MIT QFLUSMNHEHTSH 3 MieuenL
STVHH MG KNG GoMbHsLLF 576 aflemev SiMell&sLUUB&R M.
©)\ 51 CeueTeuor Ql&F6VEY&H6IT LM MILD 6566V S 6T Y 6Mm6etTILS &ML (CACP) LIhSIem s & LILM S mSl.
aleusmuilsefler efllhHLemeTensd &H&HSH GOMBSLLE I1.576] allemev 2.5 SR mSI.

CLGev AEMH&&LILLBH6TeT & & serley ergl &Fiflwimerg?

a) 1 lnmmILd 2 L (HLD b) 2 LoMMILD 3 DL ()LD c) 1 wmmib 3 I GlLb d) 1,2, lommib 3

96. Arrange the following initiatives in chronological order of their launch years:
. Mid-Day Meal Scheme
. National Program for Education of Girls at Elementary Level
. Sarva Shiksha Abhiyan
. Rashtriya Uchchatar Shiksha Abhiyan
L etTeu(BLD (LW MBS M6 jemeu QG ITLMBIGSLILLL 600TH &erfledr &meveurflemaLiLiLg
suflen &LILI(H & SIS 6iT:
1. 0B W 2 ewreysd S L LD
2. Q5 MLES Bleneuuilev QLIGOT &L1Hem S & 6erfletr &evell& & merr G5 WS G L LD
3. ey A ewq M LN wimedr
4. gmeqLflw 2§55 Faaqm LNwmesr
a) 1-3-2-4 b) 1-2-3-4 c) 1-3-4-2 d) 1-2-4-3

97. Which of the following statements is correct about the Sickle Cell Anaemia
Elimination Mission launched in 2023?

1. The program aims to eliminate sickle cell disease by 2047.

2. It will screen 7 crore people in urban areas across India.

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
2023 gulb gLe00T() QASTLBISLIULL ifleurmeT Q&F6 @rss CFmems @EILIL L LD G0lS s LeTau(bLh
Fahmserfle ergl Frflwmergi?

1. @\H& S L_LLD 2047 94LD 94,600T(H & & 6T S FleumeiT Q&F6L CHMeMW WILILIMS CHTHSINMSS

Q& mevor(h 6TEMS.

2. @5 @BHHWIT (PWeuSID HEFTLLMEISE6 7 C&HITLY 108 &emeT Hemyull@ILb.

a) 1 L (D b) 2 nL_(hthc) 1 oMM 2 @ Jevor(hnd) 1 6VeLSI 2 @) 6L66V

98. With reference to Eat Right India Movement, consider the following statements:
1. It was launched in 2018 to promote safe and nutritious food.
2. It focuses solely on certification of food vendors.

3. Recent updates emphasize public awareness campaigns.
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Which of the above statements is/are correct?

a) 1 only b) 1 and 3 only c) 2 and 3 only d1,2,and 3
Eat Right India QW& &G L QUTMIS S auenT, L eiTeu(hLd 3|05 60185606118 & 6L 6011 WL IG5 6iT:

1. UMSISTLULITET DM MILD &85 ITET 2_600Tem6 2618 &6 LILISMETES @) 51 2018 @) 6L QS TLMEISLILILL S

2. @\ 8 2_evorey elMHLIemeTW e T&6rfledr FmerMIHL6L DL (RGO &6uUeTD QFN S FHH M.

3. FLSLUSH W gL &seT QuUTg eNWKLLeorTey KTEFESFTIEISeme6T 66w mig gl 6drm eor.
Cumaamlw Fammisefley T FRlwmersi?

a) 1 LG b) 1 LoMMID 3 L (LD ¢) 2 nmMIb 3 LD d) 1,2, Lommild 3

99. Which of the following is/are correct about Pradhan Mantri Garib Kalyan Anna Yojana
(PMGKAY)?

1. It was launched in 2020 during the COVID-19 pandemic.

2. Beneficiaries receive 5 kg of food grains per month under the scheme.

3. It was integrated with the National Food Security Act (NFSa) in 2023.

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
Kpgmeor LS N &l &60W mesor 9|etTeor GWIMeeoTT (PMGKAY) LM L9 edTeu (5 6ueoreu mml6v 6rsi
grflwumeorg ?

1. @8 2020 9yb 60T CHMeNL-19 QSTHMICHTI HMVHH 6L QGTLBEISLILILL .

2. QHS5S HLLGSH6r GLp LiweTmerl&6T DTS HH MG 5 FG6VIT 2_600T6Y & T6uT1 L MBI M6 QLI MIGMTIT& 6.
3. @51 2023 9ulb SL600T(H CHFIW 2_6vvTeYLl LITSHISTLIL|EF FLL&SIL 60T (NFSA) 62 (1 M!S 6m600T8: & LILIL L.
a) 1 lnmmiLd 2 L (HLD b) 2 LnMmmith 3 oG c) 1 wmmith 3 I G d) 1,2 moin 3

100. Identify the Incorrect Pair using the Code (2011 Census)
a) District with Highest Sex Ratio - The Nilgiris

b) District with Lowest Sex Ratio - Theni

c) District with Highest Child Sex Ratio -  The Nilgiris

d) District with Lowest Child Sex Ratio - Ariyalur

GO 6L LWeTUR S S H6UMITEUT ©)606UuTed W 3|60 LITETLD &ITeuoTayLlh (2011 D& & 6T Q& TN

560015 & (H LILY)

a) 5 & Limedler elHI G0 Q& MeoorL LOMaUL L LD Bev @ fl
b) GBS LMedler el &0 Q& mevorL omel L LD G eofl
Q) 9B GpHans Limedler eSS0 Q& Meoor LOMeL L LD Bev @A f]

d) GMMbBS GLpHans LimeSler eSS Q&MeoTL (DMaIl L - flwsyry

101. Assertion: Child Sex ratio is defined as number of girls per 1000 boys between zero

to five years.

Page 41 of 75

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

Reason: Beti Bachao Beti Padhao (BBBP) Scheme aims to address declining Child Sex Ratio

(CSR) and related issues of empowerment of girls and women over a life cycle continuum.

a) Both assertion and reason are correct, and the reason is the correct explanation of the assertion.
b) Both assertion and reason are correct, but the reason is not the correct explanation of the
assertion.

c) The assertion is correct, but the reason is incorrect.

d) The assertion is incorrect, but the reason is correct.

Fhm: GhHeng Umedler aNSSID Tt LRSI NSV BHSE euwg euemniulleumeor 1000 Sy 600T
GLPHMSHEHE G T8 S 6M60T G)LIGIT (&LP1H6M S SH6IT 2_6ITEIT6OTI) 6T6iT LIS 1,(GLD.

SITI6uoTLD: UL LY LIGFFmed GUL LY LISTGeUIT (BBBP) HILL LD GemMIbS 6U(bLD GPHems Limedler eNl& gLb (CSR)
LOHMID UMTpHEM&EEF &HIPMEF QSTLFFAUNG QU6TITHET LMMILD QUEISEEESE AH&Tr6flLg
QSMLIUITET Fl&H0SGEM6T BleufsH s QF IS CHITES0ME S G\&Teoor(h 6iTems.

a) oMM LDMHMILD STFeoord @ Uesor(GID Fiflulmeenel, GLOsVILD SITFeooTLD FoMMmI& & Teor &flumer elleng: &L mE@LD.

b) oMM LDMHMILD STTeooTD @) Tetor(HILD &l WITETEm 6, L 60TITEV SITJeTTLD FoMMmIS & TeT Fflulmest ellemd: o S{6v6v.
Q) FaMm FfLITETSI, S,60TIT6V SITTEU0TLD &6UM TETSI.

d) FaMHmI HOUMTEOTSI, ShL60TITEV & ITFevoTLD &FIflWITeTS

102. Consider the following statements regarding the Tamil Nadu Health System Reforms
Programme:

1.It is being funded by the World Bank.

2.1t aims to achieve the SDG 3 target.

Which of the above statements is/are incorrect?

a) 1 only b) 2 only c) Both 1 and 2 d) None of the above
SUILBTEH &H&ETSMT el ETFHHHSS G LD QSTLTLITer LN6Teu(HLD Fn M MIHem6Ts & 6w 6ol mi&e6iT:
1. @8l 265 umIGB WML BIGWefl&EELLGRMSI.

2. @151 SDG 3 @ eVEM& ML U CHTEHSHLOMSGES G & TeuorT(hH 6iTeTS.

CLOM&EU0TL. S M MIG 66V 6TF1 SaUMTETSI?

a) 1 L (b b) 2 n_(HLD o) 1 MmmILh 2 @revor(hLd d) GLDM&600TL 616D @)6L6tI6V

103. Identify which the following statement have no relevance to Socio- religious

reformist Muthukutty of Samithopu

1. Thuvaiyal Pandhi to unite all people

2. Planting trees to improve natural resources - Nizhalthangal
3. Akhilathirattu Ammanai - Autobiography

4. He said that worship of minor deities is religious superstition and an act incompatible

with knowledge
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L etTau(BLD SamMmiGerfleL 6181/ eTemel FeNG-108 TS HHHUTH FMEICHTLL (0SS G198 S
QS TLITLITEOTE06U 606V

1. D& & 6T Y emeTeuenT LD RTOILIHSHS Slemeullev LilhS)

2. QumengeueTd CIDLIMSS O EISGe6T H(H &6V — [H1L060 S TS 60

3. AFLSHTL(H DD TEM6IT- & W 6UITLDE 60 E 6UITEVTMI

4. M Qe euEILIM@ FLOW eNLBLOLINGmESW LD MeYdHES QLTIBHSTS Q&W6) 6TedTmITH

a) land 3 only b) 2 and 4only c) 2 and 3 only d) none of the above

104. Identify the incorrect Pair about Sustainable Development Goals

a) Goal 1 - No Poverty b) Goal 6 - Clean water and Sanitation
c) Goal 7 - Affordable and clean energy d) Goal 8 - Industry and Innovation
Bl6M6ULLITEOT EUETTEFS @) 6V8E 6T LIMNMIW H6UMITET ©)6M6UITen {60 L LITETLD &T6uoTayLD

a) @6V5HG 1 - aumienin @LLIL b) @eVE& 6 - &HSI0Me BF WMHMID &F&HTSTFLD
0) @eVEG 7 - 6%l DMHMILD &5 LOMTET B,M M6V d) @6evE& 8 - QM6 IDMHMILD LSlemLn

105. Match the following industrial hubs with their corresponding industries:
Industrial Hub Industry

A. Sivakasi 1. Textile Manufacturing

B. Karur 2. Safety Matches and Fireworks

C. Tirupur 3. Knitted Garments

D. Erode 4. Cloth Market (Retail and Wholesale)

Select the correct answer:

edreu(pLd QS TLHl6LI6M M 60110 LLIMISeMET 3 eUMN6r QSTLFLemLW Q& TYS6L8 EhL 6T QLITIHS S18:
Qs Ml gienm enwowib Qsmfle

A. Fausnd 1. geayefl 2_MHLISS)

B. &6 2. SUQULLY IoMMILD 6UITEoT G6ULY & 60 &

C. wmULLT 3. NedreorILIL L 160L 86T

D. FGrm(® 4. gleoofl FHem s (FlevevemnMm LOMHMILD QDTS S)
giflumerr eflemLemw s C5THAHH &6 LD:

a) A-2, B-1, C-4, D-3 b) A-2, B-1, C-3, D-4

c) A-3, B-2, C-1, D-4 d) A-4, B-2, C-3, D-1

106. Consider the following statements about Tamil Nadu's MSMEs and recent
developments:
1. Tamil Nadu's MSMEs have received the highest number of investment proposals among

all states in India in 2023.
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2. The "Tamil Nadu New MSME Policy 2023" aims to increase the state's MSME
contribution to 20% of India’s total MSMEs.

Which of the above statements is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
SO BT 1965 MSME oM Ml FLSLISH W (WDeTGeTM Mg 6T Lmmiw LSleTeubld o0& em & & emerds
55611 601 WL M1 & 61T:

1. 2023 QYLD 1,600TLL.60 @) HH WITeSl6L 2_6iT6T I 6M6uTsH G LOMBlEUMHEIGEmETUW LD 68l HLSILDHITL 19 60T
6TLD.6TEN.6TLD.E) IB] MI6L 6UT IS 61T B\ & 6T600T6001 186008 Ul euITErT (NS (WP ETALOMYS 68 emerTLl

QUM mieTeTeDT.

2."s101hBIE LS W MSME Q& meTens 2023" @ hS\wmeller QLomggs MSMES erfleL ommlevd ) eor MSME
unigefllienu 20% 91,8 SIBSFLILMG CHTESHI0TES G &TeroT(heiTemg.

CLOG6v 2_6iTel FaM MG 6rfley eTemeu &iflWimeoTremeu?

a) 1 (b b) 2 I0L_(h\LD c) 1 Mmmih 2 @ Fevor(hLd d) 1 9j6LeL gl 2 @pevor(H LD @)6Lem6Y

107. Assertion (A): The 69% reservation system in Tamil Nadu was given constitutional
protection in 1994 through the 94th Amendment.

Reason (R): Chief Minister Jayalalithaa and Prime Minister P. V. Narasimha Rao played a
crucial role in securing this safeguard for the state's quota system.

a) Both A and R are true, and R is the correct explanation of A

b) Both A and R are true, but R is not the correct explanation of A

c) A is true, but R is false.

d) A is false, but R is true.

Famml (A): SOIDHBTLIL6 69% G LR SIGHEM (LNeMME S 1994 410 I600T(H 946uG H(HSHSLD eLpeuLh

TR WevenDLIL] LMSISTLIL] 6UpmISLILLL S

&myeuorld (R): (NSVEMEFT QRQWaST MM LNFswLF LK.af. Hrélbnrmel LS CWITT LOMEHlev s &) 6ot
RSIGEL[H WM& @HSL LIMTSISTLmUL QLM 6L (&S W LIMIG 6uS &S e6ri.

a) A lnMmmILd R @uevor(b &Fifl, GLosuild R eTedTLIG A @)6dT Fifliment eXlemgasLnm@LD.

b) A lnmMIh R @Tevor(hid &Fifl, 21,6076V R eTadT LIS A @)6dT SFiflulment elemgasLD 2606v.

) A eTedTLIG &1, 96076V R 6TEITLIGI S6UMITEOTS.

d) A 6TETLISI SAUMITETSI, 24,6076V R eTedrLIG! &ifl.

108. Which of the following statements is true regarding the Vazhndhu Kattuvom Project?
a) The project is governed by Tamil Nadu Urban Transformation Society.

b) The project is implemented solely by the State-level Project Management Unit.

c) The project is supported by the World Bank and focuses on rural transformation through
enterprise promotion and employment opportunities.

d) The project is unrelated to previous rural development initiatives in Tamil Nadu.
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uMpH s &L HIGeUMD S LI QFTLIUMS LN6eTeu(Bh sammiserfley gl &ifl?

a) @BS5S S LI SLDPHTE BEILILM 2 BLMMHMHF FRGSST BlIaH & ILGSR S

b) @b55 HL_L LD LomBlev Siemaiflevmer S L Gevmesoreminll LNfleumey L GG QFWLLRSSLILGSRMSI.

0 @bSsS HLLID 2 608 BIRWTL WS FH&ELILGRMS HMID Bloeisr GMUT@H LMD GalemeuelmulliL]
QUIMUILILIS6T enevld SFmLILm 2 (FLTMHMESHE) SeleTD QFNSSHMSI.

d) @556 HL LD SULBTL 6 WG SrmnliLm Cubum® WwWmH&HEBL6T Q&TLTLETSS!.

109. Match the Leaders with Their Tenure:

Raja of Panagal a) 1926 - 1930

C. Rajaji b) 1937 - 1939

P. Subbarayan c) 1946 - 1947

T. Prakasam d) 1921 - 1926

5 606V6U TS 06T | 6U T8 6rfleor LG 68 8Imev s SIL.60T GILIIT(H S Sk & 6iT:
1. LTS 6L TIeam a) 1926 - 1930
2.C.pmgrg b) 1937 - 1939

3. P. &LUILITTW6ST c) 1946 — 1947

4.T. Ypsm&Lh d) 1921 - 1926

a) DBAC b) CBAD c) ADCB d) DACB

110. What types of diseases are addressed under the 'Kalaignarin Varumun Kappom'
scheme?

a) Only communicable diseases

b) Only pediatric diseases

¢) Various health issues including dental, ENT, heart, kidney, and psychiatric conditions

d) Only maternal health issues

'8 6016V (6h 60T 6u (HLD (LN 6T STLICLITID' G L G5B 60T GLD 6T60T60T 616M & WLITeT GIBITUIE 6T 8178 & L1 (h &) 60T m 6oT?
a) QaTmm GBITUISET DL (HLD

b) ®LHSG CHTUILET DL (LD

) LIy, &g, @&WiD, S oBrsd wmmih werbeulh 2 arefll L LisuCauml o L euBevll LNge&Hemerser

d) Gum &mev LIF&F emenrgser oL (HLd

111. Which of the following is incorrect statement about Innuuyir Kaapom - Nammai
kaakum 48?

a) The scheme was launched on November 18, 2022, to provide emergency medical care for road
accident victims.

b) The initiative covers 609 hospitals, including 201 government and 408 private institutions.
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c) Under this scheme, all accident victims in Tamil Nadu, regardless of their insurance status or
origin, receive free treatment for the first 48 hours.

d)The scheme provides free treatment up to 32 lakh per individual for road accident victim

@ eoremiuily SITLUIGLITLD - [HLOEMLD &ITEGLD 48 LMW HeUMITET SaM M 6TSI?

a) Fmemev LSBT LITH&ELILIL L aITSHEHHEG SI0F]T ID[(HSSI6 CFemaleml aINBIGaISMHHTEH @bHES HIL_L LD
HEULDLIT 18, 2022 60TMI Q&ML MBISLILIL L SI.

b) @BS WWMHH 201 SIS InMHMILD 408 SesfIWITT BloIaIeTHISET 2 L LIL 609 L0(H S S 6110 6D 60155 60) 61T

2 GTeTLER WG

0) @55 S LS B, SALBTL Q60 NlLUSHeTTeL LUTH&HSLILILL 3{emeral(BaH G, Heaujserflar srlilfl @
Blemew gevevgl LI GemsL QUTGBL LM SSTLION, (NS 48 06wl CHISHMES @evels AHFamnFan L
QUOITBMTIEET.

d) Fmemev elLIGH 6L LITHGSELILLLaI[HSHEG @HSS S LD @ BLBEHSG 32 UL FLD alen] GevalF FRFamaamul

QULLHIGHE M.

112. Match the following Tamil Nadu awards with their respective recipients:
Award Recipient

A. Thiruvalluvar Award (2025) 1. Poet Kapilan

B. Anna Award (2024) 2. K.V. Thangabalu

C. Bharathiar Award 3. Pulavar M. Padikkaramu

D. Kamarajar Award 4. L. Ganesan

Nereupld SLODLBTH (5 S15 606 6umnedT GLIMIKBITSEHL6T GILITHSS6LD:

RGET QUOIBT

A. Bl(eusTEbauy eN(H g (2025) 1. 36l @1y &LN6evetr

B. o|6voreuorIT 68115 S (2024) 2. C&.6l. RIS LMY

C.umrpwry eI 3. LJeveury eTh. LI & &SI MO

D. syl ef@msl 4. 6T6V. & Ge6UoTE 60T

a)A-1 B-2 D-4

b) A -2 B-1 D-4

c)A-3 B-4 D-2

d)A-4 B-3 D-1

113. Which of the following is NOT an objective of the Chief Minister’s Girl Child
Protection Scheme?

a) Encouraging parents to adopt a family planning norm with two girl children

b) Strengthening the role of the family in improving the status of the girl child

¢) Providing direct cash incentives for parents upon the birth of a girl child

d) Protecting the rights of girl children and providing social and financial empowerment
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WSV F& 6T QLIGTOT GLoMHeMS LIMSHISTLILS S L& 6T GBI LI 6tTeu (HeueTeaummMiey 615l 2 606u?
a) @ 7600T(h G\LIGTIT GLPIH6MGSH6T 2 676 GGHIDLKIGET GHWUS SLGLUUTLG Qnmlenw &l 119865
QUMHCMTENT 2615 G565 5 60.

b) QLIevoT GLpHem & U6t Blemevenl GLMGSSIaF GOHILDLIGSH 6T LiIEiend ausvll1LIH &S5 60.

) QU GLhens LImbseaLer QuUOHCMTIHEE CBITLY. LIGTT 2618585861 % 60 610 MEI (G560

d) QLIGTT &LoIb6m B &6rfl6T 2 [flening e LIMSI&GMTS S5 InMHmID Fens IMmmILD QUITIHETTSTT SH&HTTHNS
QULDMHIGH6V.

114. Consider the following statements regarding the Protection of Children from Sexual

Offences (POCSO) Act:

1. The POCSO Amendment Act, 2019 introduced the death penalty for aggravated
penetrative sexual assault on children.

. The POCSO Act, 2012 is gender-neutral in its application, providing protection to both
male and female children.

. Under the POCSO Act, the minimum mandatory punishment for penetrative sexual
assault has been increased from 7 years to 20 years imprisonment through the 2019
amendment.

. In October 2024, the Supreme Court of India mandated the establishment of exclusive
special courts for POCSO cases in every district having more than 100 pending POCSO
cases.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 4 only c) 1, 2 and 4 only d) 3 and 4 only
LUmeSlweb G mHMrG6Tfed(BHS! GLMHeMS & meTL LITSISMTHGW (CUMTHECEFT) FLLID QGMLTUmerT LN6TeupLD
3|1\ & 60085 5 606 &5 616071 L M1 &5 61T:

1. GUNECET HF(HSSHEF FLLID, 2019 GLoMHeNS 6T LA MT6T GLOMEFLOMer LIMeSL6L 6ueTQ &M (H 6mL0 & (S LOIT600T
& 600T 60 60T6m L I Ml (LN & LILI(H & B Wi Sl

2. GUT&EGerIT FLLLLD, 2012 9IS 60T LIW6OTLITL 1960 LIMT6S 60T -6 B\ Bl 606V WLITEOTSI, 34,6007 oM MILD G)LI6woT
GLPHeNSHEHSHES LMSHISTLL aULpEIGHMS.

3. GUTGGHFT FLLSS 6T BLp, 2er(H) (HeYLD LITeSI W 6V 6U6tTO & T(H) 600 & & ITEOT (&M MIHSLIL & &L LITW

& 600T L6 60T 2019 B\ (155 5 5 H 60T eLn6uLh 7 3L 600T(HI G 66V @) (HIH S 20 4,650T(H HETITE 2 WITSHSLILL B 6Temgl.

4. 9IHCLMTUIT 2024 @6V, QHHW 2 &F&F HHeTMLD 100 &GSW CLMHULL GUITE:GCEHFT 6ULD & (S 86T
Blsviemeuuiley 2 6TeT euGeUT(H LML L &Hsih CUTHGEFIT ULNE @GS EHE S LNrsECws FmLiL

BB eTmHEISGemeT Blmiey SLLTWAILGSSHWSI.

GG QEHMH & & LILIL (B ETET Fa M miSHerley eTemeu Fiflumereneu?

a) 1 InmmiLd 2 ol (HLD b) 2 LnMmMIh 4 10 ()LD o 1,2 mmid 4 0L_HILD d) 3 inMmmith 4 @I
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115. Which of the following are the components of "Ennum Ezhuthum Thittam" introduced

by the Tamil Nadu School Education Department is / are true

1. Teaching at the Right Level (TARL) approach

2. Level Based Workbooks

3. learning by doing the activities

4. subject-wise teacher handbooks and workbooks

a) 1 and 3 only b) 2 and 4 only c) 1, 2 and 4 only d) All the above
SOLBTH Ueiterls &evails Slemmwme M SLILGSSLILILL "6Te0oTenl LD 6T S SID GLL & S 60T" T 018 6iT
L9 60T 611 (I 6L 60T6U (D) MI 6T 6T / eTemeu &FiflWimeoTI?

1. &MHMEL BlemevsCHEMLIG &MLINGSH6L (Teaching at the Right Level - TARL) 9891 (W0 6emMm

2. Blemeveurmflwmesr LUNMHE) HIELS 6T (Level Based Workbooks)

3. QFW6LLIM(H & 6eM6ETEF QFWIS &MMeV

4. urLaurnfluns AWl emsCW@ S EELWL LUNMHE) BTV EHLD

a) 1 LmMILD 3 L (HILD b) 2 LMHMIWD 4 WL (BHILD Q) 1,2 mmMILD 4 L HILD d) GLoMFanW 316m60TS SILD

116. Which of the following statements regarding Eklavya Model Residential Schools
(EMRS) is correct?

1. EMRS were started under the Ministry of Education to promote digital learning

2. EMRS follows the CBSE curriculum and provides free education from Class I to XII.

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 or 2
gaemevaur LMH Il 2 emmeilL L1 Ueiterflgs 6t (EMRS) &0 &1 LN6tTeu (LD Fom M6y ergl &iflwimeorgi?

1. EMRS 8606 9|emn&FFSHE5H 60T SLp 9L L6L &SMMmenev 2618 GaNl& 8585 QG TLBEISLILILL SI.

2. EMRS CBSE LUMLSHLLSems NeTLM IS MG MHMID 1 (PSH6L 12 Q41 aUGLIL euen T @ 6VeuFs &evall
UPHIGHMS!.

a) 1 LB b) 2 GO c) 1 MHmILD 2 @ Fevor(hLD d) 1 3jeveval 2 eTgI6]l6Vemey

117. Which of the following statements about Tamil Nadu’s Mental Health Programme is
true?

a) The State Mental Health Authority (SMHa) registers mental health establishments and
ensures governance at the district level.

b) The District Mental Health Programme (DMHP) functions in only 32 districts of Tamil Nadu.
¢) The Institute of Mental Health (IMH) in Chennai primarily focuses on physical health rather
than mental health.

d) Tamil Nadu does not have any Emergency Care and Recovery Centres (ECRc) for wandering
mentally ill patients.

SO BT L9.60T D6THeVS G LLb LHMlw LN6eTeu(bLD Fa M MISH6rleL 615l 2_cuoTemin?
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a) LDIMBl6V LDEDTIH6Y 34,6M600T WLILD (SMHA) LDaTHev BlmialeThIgGemeTl] LIS6| Q&FUlg mall L oemeilev BlIalms:sHens

2 M QFULRMSI.

b) LoMeUL L L060TIHE6VG B L LD (DMHP) SLALDBITL Q65T 32 Wnmeul L Migerflev 0L (G QFWLLGSR M.

¢) QFaTemeTUéL 2 6TaT NETH6Y BlmiaueTd (IMH) (LN&ETENDUINS DETHVGMS el 2 L6 CTTHSIWSH 60
HAIGTD QFNSSIRMS!.

d) emsell LIl L et Hevld LTS &&LILLL CHTwmel&HeEhsHE& SeusFy AR EFns mmib LS L] enLDWBIgGS6T (ECRC)

SLALDBITL 196V E)6V6DI6V.

118. What is the purpose of the Idhayam Kappom scheme?

a) To provide free heart surgeries

b) To distribute free medicines for heart patients

c) To administer emergency cardiac doses to prevent deaths due to heart attacks
d) To provide financial aid for heart patients

@5 Wb STLUGUITD S LSS 6T GIHITE&LD 6T60T60T?

a) @evelF @& M6l FIRG6TF5 66T QULNMHIGHS 60

b) @& W CHMWMefHEHHE @ 6veld LDIHHS&Hem6T elBlCWITEH &5 60

¢) IDMFeMLLILIT6L gMmLIBID @MLIL&Hm6TEH HHEHS SIFT @ FUI LDIHHSISHEMET 6ULOMIEG 56V

d) @&W CHMwmeflesEnsE BIF 2 g6 auLphkiG s ey

119. What is the primary aim of the Scheme for Adolescent Girls (SAG)?

a) To provide financial assistance to adolescent girls

b) To improve the health and nutrition status of adolescent girls aged 14-18 in Aspirational
Districts

c) To provide skilled employment opportunities to adolescent girls

d) To offer free higher education to adolescent girls aged 14-18.

@) 6D LIH6UL] G\LI600TS: 6158 & T6oT (SAG) B L &S 60T (LN S5 60TemLn GIHTEH LD 6T60T60T?

a) @6rLd LIhelLl QLItIT&HEH5 & BIF 2 sail eIk 60

b) WS Lmeul Liigsefle 14-18 eugienl_ul @eTd el QLiesrsserfledl 2 L 6VFeVld LMmMID 26l | FF&5SI
Bleneveml GLOLDLI(H & &S 6V

¢) @6 LI HeULl QLIS EH5E HMennulmeT Galsmev aUMUILIL|& 66T 6lULDMBIE 56V

d) 14-18 U glen LW @)6TLD LI[HeIL] QLTS EHE G @6veldF 2 W sevall aILDMbIGS56V.

120. Assertion (A): The Adichanallur site is significant for its burial urns and skeletal
remains.

Reason (R): The findings at Adichanallur confirm the existence of a fully developed
Dravidian civilization with iron implements and megalithic culture.

a) Both A and R are true, and R is the correct explanation of A.
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b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Famml (A): QB FFHOKTT H6MD 3|5 60T L|60 5SS 6T oM MILD 6TVIDL]& Fn D) 6T &M% @5 & (S
GG 5685TESLD.

&Tyeurid (R): LB\ FFBeuflel BenL G5 &evoT(H LI LIL & 6T @IBLDL & & [HeN&6lT LM MID G LIIHEISMETe
SMFFTISHSIL 6T (N(DEMWNTS euenhs K rmeilL Brsflswn @ @LiUams 2 MG LILIG 8 516 65T m 6or.
a) A LnMmILd R @esor(hid &ifl; Gosiid, R eTedT LG A-23 Fiflwins eflens:GH mSl.

b) A lnMHmMIh R @TesorGIb &Fifl; Queurmev, R eTedTLIg A-23 Fiflwims aflend&allsuemev.

o) A &1fl; 9LeTmey, R Seuml.

d) A Zeumi; sLeoTmev, R &Fifl.

121. The Thirumallapuram excavation is most closely related to which of the following
historical developments in Tamil Nadu?

a) The spread of Jainism and Buddhism under the Kalabhras.

b) The transition from rock-cut cave temples to structural temples.

c) The establishment of maritime trade links with Southeast Asia.

d) The emergence of Vijayanagara-style temple architecture.

B\ ([HLOLVEVL|ITID SGLUTTTULFS SLSLDHITLL9.60T LIN6OTEU(BLD 6THS GUITEVITMMI 6UETTEF WL 6T L& e LD
QBHHEHTE QS TLITLenLWSI?

a) BN Iseflesr &b &FlneooT I0GLD MM L|6S oS0 Ligedul Sl

b) UMM Gnd SVl () Camallevserflel @ HS &L 19L& Comellel s EH&&Ter DMMHMLD.

0) QBOTHRIPE G UFWMTE|L6T HLOFTT QUTHHSH 2 M6)5606T 6D LIS S5 60.

d) eflgwrpsy Umenfl Gamulley &L gL &&Hemevuwller GHmHmLD.

122. Which of the following findings from Sivagalai excavation indicate early agricultural
practices?

a) Copper storage for grains b) Ploughing tools

c) Carbonized millet grains and storage pits d) Iron weapons and battle axes
Fleusemer &ML &euoTBLI19.8585LILLLeauMN6L 6TSI LILPemLOW TeoT 66U & T [560)L (LD 60 M) & M 6T
(CTEARIOE ]

a) SMeflWBIsGamer GFLAGS QFUIWLLL QFLDL|S &6VkGe6T

b) 2 06| &mailser

0) BTFLUGeTHMLILIL L S migmeflmbigser inmmid GFLALIL| GLslgeT

d) @@L QWS BIGET InMmMIh GLITTEGSHTLTIfl&6T
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123. Consider the following statements regarding the influence of Agathiyar on Tamil

grammar and literature:

1. The Agathiyam text classified Tamil language grammar into multiple disciplines,
including political science and aesthetics.

. The influence of Agathiyar’s grammatical rules can be seen in Sangam literature as well
as later texts like Tirukkural.
. Agathiyar is sometimes identified with multiple historical figures, making it difficult to

pinpoint his exact identity.

4. Later Sanskrit texts acknowledge Agathiyar as a revered scholar.

Which of the above statements are correct?

a) 1 and 3 only b) 2 and 4 only c) 1, 2, and 3 only d) All of the above

SOILD @6V & 60TID LM MILD @VEHH WS T 6L 55 H W6 QFUTHSG SN S5S L6Tel(HLD FaM M & eme6Td:

55611601 WL M1 & 61T:

1. 91855 W 2 ey SLALD QLMY B VESHEUTSHMS S TF W6 I Mleflwey LMMID PSW6L 2 LI L6

SIMMSGETTS UNSLILIGSH WS,

2. 9155 B Wifler @ evs s euor 698 & 6rfleir QFTHMS FMhiG B) V8T WSS eI, B ([HEESM6T GLITETM

L mhamev HBreuaserflepilh &ITEUUTEVITLD.

3. &BHHWT Flev CHIMIGerTleL LI6w euTeUTH M [HLITE EHL60T S|6MLILITETLD &TerrILIGSMTIT, &) 8 60T eV

Slurg FHWITET S enL TN SleLeSlWnns: s &GMILILAHleug &Lq.60TLD.

4. 9H&MeV FLN6VR (HS HILSEET HSHSWenT (b LG LILNHGSG KW b T 6 LIL|8E6 & T6iT S 60T M 6oT.

CuMaamiw gammiseflev gl FFlwmergi?

a) 1 mmid 3 (KD b) 2 LnMHMILD 4 OL_(HILD 01,2 mmin 3 LG d) LM TN 6m6TSHSILD

124. Which of the following statements is correct regarding the classification and
chronology of Ettuthogai?

a) 'Natrinai' is the latest among the Ettuthogai anthologies.

b) 'Paripaadal’ and 'Kalithogai' are the two Ettuthogai texts that are identified based on their
poetic meter.

c) 'Kurunthogai' is the earliest text among the Ettuthogai anthologies.

d) The phrase "Nal" appears as an epigraphic reference only in 'Kurunthogai'.

etreu(pld gammiserflev 61zl Frflwimenrs?

a) 'BHMleneonr' 6T (H &0 & Tem& U6V HTevS STV LHeng Wl BIeVm@GLD.

b) 'UflUML6L' LnMmMID 'S5 & TS L& W @) BIV&HEHLD WITLIL] (LT 6608) QLI UN6L ojemLWmerid
& IT600T LILIL_L_60T.

Q) 'GNHOSHTNG' T (NS & TS 6T HTeVEHSHT &L LILD6MLOLLITETS.

d) 'I56V’ 6TedTM QIFMEVEVTEY GMIGSLILIL L (NSH6V HBT6L 'GSMIHOSH TS .
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125. Which of the following statements is/are correct regarding Ettuthogai literature?

. 'Kalithogai' and 'Paripaadal’' are the latest anthologies in the Ettuthogai collection.

. 'Kurunthogai' contains the phrase "Nalla" in its verses.

. 'Purananooru' is the earliest among the Ettuthogai anthologies.

. The phrase 'Nal' is found in 'Natrinai'.
a) 1 and 4 only b) 2 and 3 only ¢) 1, 3, and 4 only d1,2,3,and 4
OS50S TNS @evER WS MBS GMISH S LN 6TeUIHLD FaM MIGEMET & 61601 MEIS6T. & WITeur Fa.M Mg emerT
CHTayQ&FlIs:

‘569505 Mg’ LnMHMID 'UFILMTLE' TLBSQHTens BV EH6T &ITeVs 5 meL LilHen W enel.

'GSNIHOSTMS' LITLVSHET6L '[H6L6V’ 6T6OTM QI&FT6L 2 6iTeTg;l.

2
3. 'Umprrm' L HH6S5Tens HBIeus EheT Lol&LILIL0 600 WITETS.
4

'HEV’ 6T6OTM Q&ML 'H Ml emevor’ HNedl6L 2 6iTermSl.

a) 1 InMmMILD 4 L (HILD b) 2 LnMmmith 3 ()LD o 1,3, mmin 4 0B d) 1,2, 3, nmmibd 4

126. Consider the following statements regarding Natrinai:
. The name Natrinai is derived from “Nanmai + Thinai,” meaning "excellent ethical
conduct."
. Natrinai is the first text mentioned among the Ettuthogai anthologies.
. It consists of 400 poems, hence it is also referred to as Natrinai Nanuru.
. The compiler of Natrinai is Pandya King Pannadu Thantha Maran Valuthi.
Which of the above statements are correct?
a) 1 and 2 only b) 2 and 3 only c) 1, 2, and 3 only d 1,2, 3,and 4
BHMlemesoremwl LMW LN 6Teu(HLD FaMISGemeTL LIS S FlWmeremneuds & e6vorL mlwea|Lb:
15 M 1) 6 60T 6T60T LI G [HEOTEOLD T 6MI6TOT + 6TEOTEWILD QLIMTIH6r6L 2 (IH6UTEuT BI6VITESLD.
qTLO B Temns Breusertley (pFHedlev GMILLNLLILIGLD BT6v Hmlemevor & LD.
@)\ 51 400 LITL6L&6Mm6NTE G\ & TeuoT(H6ITEMSl, 6T60T G6u HD N 60I60OT [HTEOMMI 6TETMILD S| MPESLILIGTH M.
150 M) 60 6TOTEM W Q&5 IT(&5 85 & 6UIT LIITEUOTLY.LLI6OT LD 60TE0T60T LIGTIHIT(® &155 L0 MM 6T 6U(WD ).
giflwumerr eflemLemw C&TeY QFIS:

a) 1 lnmmiLd 2 (LD b) 2 Lnmmith 3 ()LD o 1,2 lnmmib 3 oL (HILD d) 1,2 3 mHmid 4

127. Which of the following statements is incorrect regarding Nakkannaiyar’s
contributions to Tamil literature?

a) Nakkannaiyar’s poetry belongs to the Purananuru anthology.

b) She is known for describing the battlefields and heroism of kings.

c) She was the court poet of Pandya King Nedunchezhiyan.

d) She emphasized the warrior ethos and the struggles of kingship in her poems.
158 & 6UoTem6uoT WM LMW LNeiTeu(BLD Snmmigerflev SeUumTaTs 6T5I1?
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a) [H&>5600T6M600TWIT LIMTL6V&6T LMBTENm Q&ML 6y @)L DG LM MI6TeTeoT.

b) @6uy GUIMT&&6MRIGET DMHMID 6fFHemnE s GMlSSIL LTI 6T6TTI.

) @eul Limevorlq UledT QM eh @ FLAlwienfleir 9jpFenels &alleIma: @ BHST.

d) @euT W55 eSTifledT LievorL| &6 LnMmmILD STFIS6ler GUITTTL L MBISeneT HeoTdl LITL6u&ertley elauflsslieTermi.

128. « household life, if practiced, is not considered inferior to the ascetic way

of life.”

a) Pleasure-seeking b) Virtue-based c) Wealth-seeking d) Knowledge-driven
@\ 6LEUMD G M S IL,MHNM6T LUMSSTH M S|6V6V6UITS &ITeoorLILI(HLD”

a) @eTLSBemert CHTHEHW b)) MG THNl 6T ¢) LenTsemn s el(pLoL|LD d) sinflefleormm

129. Who said “Araththale yavum tarum” (Through virtue, all things are given)?
a) Bharathi b) Nakkeerar ¢) Thiruvalluvar d) Adiyarkkunallar
“91M&S5TE6V WITEYLD SH(HLD” 6TeOTS: SamlWeuF Wry?

a) UMy b) &SI ) B meu6TEBaUT d) QWM& G HEVEVITH

130. What does Thiruvalluvar imply when he says “9imCw aflBLdLieu QFeveumd LIMTEES
@wssmeawn” (Kural 316)?

a) Self-restraint is inferior to action b) Charity should be forced

c) True virtue is avoiding harm to others d) Wealth should be distributed equally
“9IMmGCL0 (Bl 6U QLD LIMTEHE B (WSS TEmLID” (GMET 316) 6T60T LIS 6V B (IH 6L 6ITEI56U I 6T60T60T
FMIBMTI?

a) SE0TETL_&:851D QFW6LalMILIR &SI H meotlevemnsv

b) Fem& &L LTWILOMS @) (H&8Galeuor(h LD

C) 2_600T6M LD UIITEOT HMLD 6T60TMIM6Y, LIMH&HES Semln QF WMDY @)@BLILIS!

d) QFevalld FIOWMES LR THS L Galeoor(hLd

131. Which Kural most directly addresses the responsibility of rulers to uphold justice?
a) A king should uphold policies rooted in truth

b) Protecting the people is the only duty of the state

c) The state dissolves, but dharma remains

d) Even if sweet, don’t speak what is untrue

6 (5 [HITLLY.60T 3| J&F60T BIWTWS MG BlemeuBIMISGSIh QUTNILIEL JaMIlD GMeneTs Q5 leyQFlss:

a) JF60T 2_evoTem LU 6T 19 LILIemL_U6euTeoT Q& MeTen B &Hemern L6t Limm Geussor(hLd

b) LD&&ET LIMGIGTLIGL S|TH 6T G &L 60D

Q) BT A FHSTYID SO BleneudEGLd

d) @esflemwng: @BHS TN QUITUIUTSHE QFT6V6VEH Fnl M
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132. Which Kural reflects the economic idea of labour and rewards?

a) Desire to do virtue

b) Those who plough (farmers) are the ornament of the world

c) Desire for fame

d) Elevation through education

B L& 5 600TLeuMNI6L 6T 2 1p6y M MILD S SMETET LIsVemesTLl LIMmMIW QUITIHeTTSTIE &(HSMS
Kreued&E&E ma?

a) S Q&FWIW efl(HLDLIS60 b) 2 (DaIMT 2 VHSSTIE & 26001860607
o) LsemLp el(BLbL &6V d) sevelllmey 2_uwijey

133. “The future of India depends on our awakening. Constitutional reform is our path,
not revolution.”Which Tamil moderate leader’s approach does this quote best reflect?

a) T.M. Madhava Rao b) G.A. Natesan c) P. Anandacharlu d) S. Subramaniar
“@\h S Wmell 6T TS TS MeuLD HLO (ML NN LIL]6ooTTeNl6L 2 6iTermgl. S TFWevemnLIL|Ll LSS TEHSHGCL0
TRIGET LIMTen S, LTLF 3|606V." @\ hH& FaMN60T IS (NMMenL 6ThS SLOILD IEFUTSH &em6veuiy
KU &S mTF?

a) 19..6TLD. LOM& 6 [JIT6eY b) &dl.g7. BEL&F 60T o) . oeThSsE sy d) ereiv. &L L eoofl iy

134. Which of the following events were pivotal in spreading the Khilafat Movement in
Tamil Nadu?
. The Khilafat Day observed on 17 April 1920
. The Conference at Erode
. The rise of Muslim communal leadership in Tamil Nadu
. The establishment of the All-India Khilafat Commaittee
a) 1 and 2 only b) 2 and 3 only c) 1, 2, and 3 only d1,2,3,and 4
L9 606U (1 6 6TTEU M MU 6T 6TTH S B1&LD6Y SLALDBITLIG6L FeuMLS GWESSmS LITLIL UG 6 (&R W LIMIG
uRS5551?
FeumLg Gleord 1920 gLIT6L 17 3]60TH S FFl&SLILLL SI.
FEImM@® LMBITH
SODBHITL L6V (P6erveSid UG LILeUTSH S &emevemLloudleir 6T & &
T QBB W Revmrug SO LY BlmIa e
a) 1 InmmiLd 2 ol (HLD b) 2 (nMmmith 3 ()LD o 1,2, mmib 3 in_(HILh d) 1,2, 3, nmHmid 4

135. Who were the main leaders of the Non-Cooperation Movement in Tamil Nadu?
a) C. Rajagopalachari and E.V. Ramasamy

b) V.O. Chidambaranar and Subramania Bharati
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c) Sathyamoorthi and K. Kamaraj

d) Subramaniya siva and V. Chakaraiyar

SOIDBTLIQ60 628 SI6MPWITENLD @)W &S H 60T (L& FH W &6m6VeuTH6T WIT?
a) &. prKesmUMeNEs Ty LnmmIld F.Q6l. @Irng Ll

b) eu. 2_. AgOLITeTTH WLHMID &L Tweoflw Lmys)

0) FHHWENTSESH LnMMID G5, &HITIDITR

d) &Ly weooflw Aeum ommih 6l . F&H&HNFWITT

136. Which of the following statements regarding the Anti-Hindi Agitation (1937-1940) in
Tamil Nadu is/are correct?
. The agitation was primarily against the imposition of Hindi as a compulsory language
in schools.
. The movement was supported by the Justice Party and leaders like E.V. Ramasamy.
. The Congress government under Rajaji withdrew the Hindi order due to intense
protests.
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2,and 3
etreu(pLb eflemLg6rl6v, 1937-1940 b 2,600T(H & 6rfl6L SLAIDBITLLG.60 HOLQALMHM anflhS) TS 7L
QWsEID GGG FflWmerenel eremeu?
@hs QWL (N&SH WLMs UeTellsernfley amibs QmbSlenw &L LTWWOTS S{LeL( S Sleuens
TRTSSS!.
Qb5 QWESSHNGS HH S LT MM F.Qel. FTLFTLSl GLITETM S606V6UTEH 6T 5 T6u6r 55 6or.
Fremrgd Heaneveanlnullevmer SMTBIG T Ts Gl CGUITTTL LM erfler &ITyeuroms anlbe)
3L,6M6T0TE0W 58 QF IS .
a) 1 lmmIld 2 10 (HLD b) 2 lnmmith 3 L (HILD 0 1 MmmIh 3 I HILD d) 1,2, InMmoiLh 3

137. During her exile after the fall of Sivagangai in 1772, Velu Nachiyar lived under the
protection of which of the following rulers?

a) Marudhu Brothers b) Tipu Sultan c) Gopala Nayakar d) Raja Serfoji
1772@\6L Pusmms afhFR &G NIDG eud BTHSLSSILLLCUMSI, Ceusyl HTFFIWMF L9 6oreu(HLd
6THhS 3L A wmenfledr LMGISTLIL6L eUTLDIHSTIT?

a) DSl FCHMBHTIHET b) B 560G medT c) G&ITLIMGV BTUIGHSIT d) pregm Fyeume)

138. Consider the following statements regarding K.P. Janaki Ammal:
1. She was born on June 19, 1912, in Madras (now Chennai), Tamil Nadu.
2. Janaki Ammal was an active member of the Indian National Congress and participated

in the Quit India Movement in 1942.
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3. She played a significant role in the Women’s Wing of the Justice Party in Tamil Nadu,
advocating for women’s rights.

4. She passed away on August 7, 1973, in Chennai.

Which of the above statements are correct?

a)l,2,and 3 b) 1, 3, and 4 c)2,3,and 4 d) All of the above

Ca.L1.2merd 9jnmeTr Lmnlw LNeiTeu(BHLD oD MG M6 &6 60T MBS 6T:
@eul 1912 gulb 31,600T(H Q60T 19 9Llh CHB) G Feremerrudley LAMHSHT.
2TeTS J|OLOMET @HHW CHAW MRS TSR 6r Gl 2 miliNeryns @HSTT LMMILD 1942 @) 6L
Qeu6TemeTWGeT QeuefGW M @WEHSSH 6L LIBIGCHMHMITH.
SOILBILIq60 BH & LFuller a6y 9 eufludlev QLetorserfletr 2 flemlns @b & & Me 6umE) B 6udH 6
GMHUINLSSHHS LIKIG U &sT.

4. @euy SL&6VL 7, 1973 2 6TmI QF 6tTemeorUN6L &TEULDITEUTITI.

GLOG6v 2 6iTeIT FaM MG erflev et Filwmeorsi?

a) 1,2 oMmiLh 3 b) 1,3 lnMHmILD 4 €) 2,3 InMmmiLb 4 d) GLDB6V 2_6TET I6060TSH SN

139. With reference to Sornammal’s role in the freedom struggle, consider the following

statements:

1. She actively participated in the Non-Cooperation, Civil Disobedience, and Quit India
Movements.

. She played a key role in mobilizing rural women in Tamil Nadu to join the national

movement.

3. She was associated with armed resistance through the Indian National Army (INA).

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and 3

&SHH L CUNTTLLSH 6 Q&FTTevoridlomenfledr LIMiE LIMMIL LNeTeuIHLD FaM MISHem6Ts: & 6w 6ol mki &6

1. @5H5lampWImemD @WHSID IMMILD QeudTeneaTw Cer QeueflCuum @ussmISG6ley Felrmes
UBIG&SMHMITH.
SOIDBITLIG60 RFTLLILM QLTS CHFIW @ WEHSH 6L CFIT 3|6l IFTL(HleuB6v @eul (pH&BW
LIS USRS SITI.

3. @euf @HHW CHF W @ FTEDIaULD (23.6T60T.6]) CLNEVLD LS THTLILIL 6T QS TLJL{emLeul].

CLGev AEBMH&&LILIL B ETeT gammiserfleu ergi/eremeu &iflwimeorgl/& W meoremneu?

a) 1 LoMmILD 2 WL GID b) 2 LMD 3 DL (HILD ¢ 1 MHmin 3 L HID d) 1,2 Lmoib 3
140. Assertion (A): Sornammal is remembered for her significant role in Tamil Nadu's

nationalist movement.

Reason (R): She organized militant youth squads that attacked British establishments.
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a) Both A and R are true, and R is the correct explanation of A

b) Both A and R are true, but R is not the correct explanation of A

c) A is true, but R is false

d) A is false, but R is true

Famml (A): SOIDBITLIGET CHFIW QUEHESHSH 6L eung GMIUNLSHE68 LKIKHMHETE G FTTe0orDLOmeT
BlemeTeyFa LGS M.

&Tyeuorid (R): jeul LNl 1969 Bl MIGU6UTEISem6TS &MTEH G0 CUITTE S 6TLO 868 @) 606TEh T (& (LD 8 8606
gHUT®H QFWSTH.

a) A LnMmILD R @esor(d &ifl, Inmmih R eTedTLIG A Sasmer &Fiflwiment ellemg a0

b) A lnMHMIh R @Tesor(RID &FIfl, Qu60TMev R eTadTLIG A S&meor Fiflwiment elem&: &0 3(606V

Q) Famml &FIfl SLE0TITEL HITTEOOTLD &6lm!

d) FaMHmI HeUM ILEOTITEV STTeoTD &Ff]

141. With reference to K.B. Sundarambal, consider the following statements:
. She was the first woman film artist to become a Member of the Legislative Council in
independent India.
. She acted in films that portrayed social and religious reform themes.
. She was awarded the Bharat Ratna posthumously for her contribution to Indian theatre
and music.
. She financially supported the Indian National Congress through donations from her
public performances.
Which of the above statements is/are correct?
a) 1 and 4 only b) 2 and 3 only c) 1, 2, and 4 only d 1,2, 3,and 4
C&.19. &G ymhuUmeT LML LNeTeu(BLD Fa M MG 6M6TE &6 6nl W b & 6iT:
1. &5HHT QHHWmeilel FLLI06TM CLoevemeu 2 MILILN 60T T ITer (N&H6L GLIGTIT HlemTLILIL &6M6VEhIT
SLEUITH.
Fens IoMMID DG FTHHSHS &(HLIQLTIH6THmET F1& 516G LILBIG6TleL H1955T.
@hHS W BTLSLD LMHMID @enFsHES @6euf QFWg LGN Mens wransHnHGL NG SaulhsHS
LMJS [J&60TIT aULpMBISLILILL .
@e6ulf Heorgl QUMGI &L ER &6rflev @\ (HH S [HETA & TENL ST epeuld @HH W CHF W HMTHRISRTHSS
BIS 2 z6i Syeflgsm.
CLOB6v 2_6iTelT FaM MG 6rfleL eTgi/eTemeu FHlwmenrs/&iflwmeTemneu?

a) 1 mmId 4 1D (HILD b) 2 lnmmith 3 L_(HILD 01,2 mmIn 4 LG d) 1,2 3 WmHmin 4

142. Match the following figures with their correct roles in Velu Nachiyar's resistance
movement:

List I List II
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A) Kuyili 1. Wrote a diplomatic letter to Hyder Ali

B) Thandavarayan Pillai 2. Executed a suicide mission on an ammunition
depot
C) Hyder Ali 3. Supplied troops and military assistance

D) Marudhu Brothers 4. Assisted in administration and military strategy

BHUIF Cougyl HTFRW M6 THTLL QW HSHSFH6L LIMIG
A) &udled 1.2 QU LOIBIH S FLEIG 6L FHAHTMVS &MTHEHS6V [HL&HEOTITT
B) &5 IT60OT LU T ITWLI6OT LYl6iTem e 2.emamsJ 31696G @@ TTRSHH T HL9.HLD (W HerTT
CemamsT 3160 3.8I(BLIL&&Hm6TLD @rTaviel 2 geallenwu]ld 6uLp kIS 6Ty
D)L (B &I FCHMSH TS 6T 4.Bl76uns WDMHMILD G FIsviel ShHS G TUTWSS 6V 2 g ellerT
a) A-2, B-1, C-3, D-4 b) A-1, B-2, C-3, D-4
c) A-2, B-4, C-1, D-3 d) A-1, B-3, C-2, D-4

143. Match the events with their corresponding contributions of Nagammai:

List I List II

a) Temperance Movement 1. Led women and got arrested in Travancore protests

b) Vaikom Satyagraha 2. Organized women to picket toddy shops in Erode

c) Self-Respect Movement 3. Advocated widow remarriage and conducted Self-

Respect marriages

d) Editor of Kudi Arasu 4. Took charge during Periyar’s Europe tour

B8 LD 6 &6m6rT [5T&Lhem L0 Ul 60T LM 6rflLIL| & @15 60T Q\LIM(H& &6 LD:

UL 1g e | uLiguiev i

a) nsINeLEE QWS ELID 1. BN S THEIGT CUITTTLL M6 QLT emeT aulblBL &S &Sl

QeuwluLLry

b) MeUE S FEHWMERTSEWL | 2. FGFITLLY60 &6ITEH &S 60 L8606 0N &8 G\LI6U0TS: 60)6IT
RMEISHEINSSTIT

o) swwiflwumeng @uw&sLn 3. eflgemeu LD MIDEUTS MG 256G Swflmeng B (L0 600T I & 601 61T
L& S eormiy

d) G519 S T& 4 .Qulwurfiler gCrmULAW &M mILiLIWevoTs S 6T GLIMSI
QUTOILICLIMMITY

a) A-2, B-1, C-3, D-4 b) A-1, B-2, C-4, D-3

c) A-2, B-3, C-1, D-4 d) A-4, B-2, C-3, D-1

144. Which statement best describes F.W. Ellis's work in the field of linguistics?
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a) He was instrumental in proving the relationship between Tamil and Sanskrit.

b) He identified the Dravidian language family as distinct from Indo-Aryan languages.

c) He compiled a comprehensive Tamil-English dictionary.

d) He worked on the classification of the Indo-Aryan languages.

QumAullwev glemmuilev ers L. LTN6TW,. eTéuedenSletr Licoolleml eThS SiMl&ens FoLiLIms efleuflse mgi?
a) HLWP&HGLD FLVR([HFHSH SIS G 2_6T6T 2_Mmenal BlehLlS S5 e,

b) BymelL QumPle GO WU @Bes M-l Qumsefledlmbas CaumiLIL L Sl 6T6Tm 6T 260 L UWTETLD
ST 6OTITI.

0) BUh-LHIR L HETTHOWS QSTSSH ST

d) @BCsH -2l QLTLH&G6T euensLILIR S S euSH 6v Liesollwimmnler .

145. Akilathirattu Ammanai was written in which of the following forms?
a) Prose narrative b) Poetic ballad form

c) Philosophical treatise d) Collection of sermons
SRVSHTLH lblnmemenr LNeTeu(BHLD 6THS UGS T 6L TS LILILL SI?

a) 2 I HEOLE He0 G b) &elleng 6ulgeuLd

0) 55161 16| BTV d) @ermaurde|sefler Qg M@l

146. Which of the following statements about the Veda Samaj is incorrect?

a) It was founded in 1864 in Madras by K. Sridharalu Naidu.

b) It rejected the principles of the Brahmo Samaj and followed orthodox Hindu traditions.

c) It advocated for widow remarriage, women’s education, and the abolition of caste distinctions.
d) Keshab Chandra Sen played a role in its early development.

Goug FLOMYL LUMHMlw LeTauhLD FammigGerleL 6151 &eummeTs?

a) @& 1864 1D 600160 LDST TR Coh.LfHTa BTW(H) 6TedTLIEUT 6L Blmieul il L gl

b) UIFbLD FIDMRE Q& MeTan&H&Hem6T BIFTHSE emeuSs @bg T semerll Lerumniluig.

) ellgemeal LnmILneooTLD, Q6T S6vedl, FTH CaumLIMTH&emeT RWEH U F IaIMHem S5 G5!,

d) 9I&60T SLTIDLIGTe eUaTTERUN6L CoHTFal FHHT QF 60T 62(H LITEIenGHE 68 Tevorq.(HHSTI.

147. Which of the following statements about the Dravida Nadu movement is incorrect?
a) The Justice Party initially demanded a separate sovereign state under British control before
Periyar advocated for full independence.

b) Periyar’s concept of Dravida Nadu included only Tamil-speaking regions, excluding Telugu,
Malayalam, and Kannada areas.

¢) The demand for Dravida Nadu was partly a reaction against Indo-Aryan cultural

dominance and Hindi imposition.
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d) B.R. Ambedkar and Muhammad Ali Jinnah expressed sympathy for Periyar’s opposition to
Congress but did not endorse the Dravida Nadu idea.

SrmellL TR @w s Lmnlw LNeTeu (B FammisGerfley IS &eUummeorgi?

a) Qulwuy LW &5HHTESH&TE UTHOUSHEG W BB &SLE wgedlev LTI g6y &L GUUTLIGeT &b
6R([H 5601 @ENMLITETITENLD Q& TEToTL LOMBleVSG S G MLl

b) Quiflwrfledr SymellL BT® CHTLUMTH QFH VI, LDEMEUWITETD DMHMID 6Tl Ll LIGH &amens salisal
S CUSHID LUGH&Hm6T 0L (HGLD 2_6TaTL &HERWLIG).

o oL BTH CHEMTHl&Hme et @T6aTe] @BCHT - 47l LeoTUTL® O4H&&WD InHmID GHH S
Feool1LIL&G TS JTeur 6TH 7660160 W TG LD.

d) 19.947.2{lbCUS & (LD (W& G 60 Pleirermeyld QUIIWIM6T HSTHRIRTONF THTSHHHME UGTLIN

Qs ellGgery, aLermey HFmell BT( &HSH0S 25 EsHalamne.

148. Which of the following statements about the Madras Labour Union (MLU) is/are
correct?

1. The MLU was the first organized trade union in India, established in 1918.

2. B.P. Wadia was the first president of the MLU.

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
QuLrmev Geuuy wyenflwedr (MLU) Lmnlw LNeTeu(pLd gammisserflev sTemeu & iflumeoremneu?

1. MLU eredTLISI 1918 @) 6L BlmieuILIL L @ HH W melleir (nSH6L (MGG S LILLL Qg TSl MEFMISGLI0ME!LD.

2. 19.19. eumriquimr MLUe 65T (0 &6V HemeveuiJTe: @ (BHSTI.

a) 1 L (b b) 2 DL_(HLD ¢) 1 MmmID 2 @ revor(hLd d) 1 96vev &l 2 @ Ievor(h LD @)6V6TIGY

149. Which organization, established before India's independence, focused on addressing
the collective welfare and common concerns of different societal groups in the Madras
province?

a) Madras Mahajana Sabha b) Madras Native Association

¢) Indian National Congress d) Rashtriya Swayamsevak Sangh

QBB WTel6ir &5HS Ts5SMES (PTL BlmIULILILL 6THS S{60LIL], QLOLIFIT6IV LTS TEUuTS H6L 2_6iT6rm
L6LGaIMI FeNG S G088 66T Fal(h [HEVEST LOMMID QLIMTSIEUITET &6U6M6VE 06T BleuTs S G&F UG ev
SeUETD QFNSHHWSI?

a) GILOL_ITITEN D& T60T F60LI b) QL _Fmeiv L, jeis &FhigsLI0n

¢ @BH W CHHW SHTHIG T d) pmeq L fll &WIhGFeus FmhigLID

150. Assertion [A]: Justice Party made an attempt to regulate the Temple Administration.
Reason [R] :It was against the abuse of powers by the committees and individuals who
were in-charge of Hindu endowment

a) [A] is true but [R] is false
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b) Both [A] and [R] are true and [R] is the correct explanation of [A]

c) [A] is false, [R] is true

d) Both [A] and [R] are true but [R] is not the correct explanation of [A]

gammi [A] : 55 & LA GaHmulleb BlTauMsHs5ems @WRIGUMSS WWMHF QFUSSI.

&TIeorld [R]: @\H S S MBleneusH6v 2 6T6T HeoflBHLIF LMHMID & Wellév QUITMILILI6L 2 6iTemeuy s 6t
IFEMIHMS SUMTEL LWeTLBO S Seuens aTHTHSHMmSI.

a) [A] eTeoT LIS &F1f] 21,6076V [R] 6TEOTLIZI &6U M

b) [A] LnHmILD [R] @emeu @Tesor(GIh &Fifl [R] eTadTLIG [A] el & meot Fiflwimest ellemg&sLn

c) [A] eTedTLISI Heum), (R) eTedT LI &Ff]

d) [A] oML [R] @ TesoTGICLD &ifl SpeoTmev [R] eTadTLIG [A] @flD & meor Fiflwimest eNlemg:&sLh 9606V

151. Choose the odd one out.

1. India 2. Vijaya 3. Suryodayam 4. Swadesamitran

a) Il only b) III, IV only c) IV only d) IV, II only
AUTGHSTMS CEHTHAS0 .

1. @b W 2. elggwirr 3. GFGWTsWILD 4. G5 F\ 10 5 [7etT
a) Il L @ID b) Ill, IV LOL_ ()LD o IV oL (RIth d) IV, Il @b

152. Consider the following statements.

I. He was a barrister and eloquent speaker, played a leading role in organising and
publicising the cause of the Home Rule League in Madurai.

II. He was fondly called "Rosaappu Durai" by the people of Madurai for the services he
rendered to the affected communities.

Who is mentioned in the above statements?

a) V. Kalyanasundaram  b) George Joseph c) B.P. Wadia d) S. Satyamurty
LS etTeU(BLD FaMeMME: & ITEO0TS:.

1. 3j6ulT @b uP&EHMIEHT LDMHMILL QFTHAUMTHEUTETITS @ @BHSTT, LnGliemFuiley &e6oreur L &
AWEES5MS @RWEISMGS S5 afleTUTUILG S SIeuB6L (10&SH W LIMIEG uRSSTIT.

2UMBESLILLL FANSBISEHESES T QF IS CFameUsEEh&HETE 0GI6NIT L0&SETTE j6ul "GrmEmLiL
S0 TeTM S{eMNSE & LILILLITH.

CLM&6v0TL. @) J6euoT(®H S MG erflev Wmemy LM SamULIL GHl6iTemg?

a) V. 6L WITE00TE [H ST LD b) 2MyL GuMaFLl ¢) B.P. qurmiquim d) S. FHWenIsSH

153. Non-Brahmin Manifesto was released in the year

Ko moesrFeueumCs My S Ml&ans QeusfludlLLiLl L oy evor@H
a) 1915 b)1916 c) 1917 d) 1918
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154. The first conference of justice party was held at
a) Coimbatore b) Kadappai c)Vijayawada d) Tirunelveli

BS&EE LA uller (ns6eL LMBHTH 86V ML QLIDHMSI
a) GHMWILDLIS ST b) &L L6t o) eflgwieumLim d) HBEHLGEI6S

155. Who was the main leader behind the Rationalist Conference of 1940 in Madurai, and
what was his primary ideological goal?

a) B. R. Ambedkar — Promoting economic independence for Dalits

b) Periyar E.V. Ramasamy — Promoting rationalism, scientific temper, and social reform

c) Mahatma Gandhi — Promoting non-violence and religious unity

d) C. N. Annadurai — Promoting language-based autonomy for Tamil Nadu

1940 su1b 3600T(H L GIemT UL FLIHS LGS S eUTeTT IOMBITL L6057 (N&FH W SemeveuT s @ (BHSeul Wmy?
SIS (L0 S 6OTEOLD LITET & (H5 B 6L (& )& CaITET eT60Teur?

a) LN.9LT.obCUS ST - 56965156l QUTHETTSTT S&HHHH TEHmS 2618 @6 5560

b) Quiflwry FQeaLyTwer - UGSSMa], Simlelulev LDeTLILIMaTemLD, Fend FIH(HS SN UG IaIMHenm
2618 & 6N & 560

C) DETHLOM HMTHS - H D& LDMHMILD DG 62MHOETILNEM UL 2618 G561 & 56V

d) &).61607.2) 600T600T THIENTT - SLAILDBTL 196V QML 1Q LiILien L UN6uTeoT &60TeorTL_Flem Wl 2615 &6 & &6V

156. Match the following publications with their years of origin:

Column I (Magazines) Column II (Years)

. Pagutharivu . 1933

. Viduthalai . 1934

. Justice (revived by Periyar) . 1935

. Unmai . 1942

. The Modern Rationalist . 1970

AedreumLb QeuefluiG &emen SjeummlesT CHMMHM 24,650T(H & EBL 6T QLIMTIHS F185:
@ SLhaeT 24,6007 (B & 6iT
a. UGSS M6y .1933
b. NG\ &emev .1934

c. geugev (AU lWTTmeL YSSuNTAUMHMS) . 1935

d. 2_evoremLD . 1942

e. LDMLIJ60T GF6g.6oT6dl6ruL . 1970
a) A-2, B-3, C4, D-5, E-6 b) A-1, B-2, C-3, D-4, E-6
C) A_27 B_]-7 C_s; D_S, E-6 d) A_S, B_2, C—]., D—4, E-5
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157. Who presided over the first provincial conference of the Self-Respect Movement,
organized by Periyar E.V. Ramasamy at Chengalpattu in February 1929?

a) M. Karunanidhi b) C. N. Annadurai

c) W.P.A. Soundara Pandian d) Muthulakshmi Reddy

1929 NuFaufluflev QFRIGELLILIG60 QUIWMT F.Qeu.gFrusFms FLSS W &wnflmang @) w88 %) 6ot
(NS 6V DTS ITEUOT LOMBITLLYME HeMeVEmLD SITHIG WeUF WITy?

a) (0.5 ([H 00T MBS b) &).6T60T..3| 600T600T TSI 6D [T

o) LUeTw, L9.e5Q&eTBS [ LIMeorLq.UledT d) s &S QLLg

158. Assertion [A] : Periyar left the Congress Party and started Self Respect Movement in
1925.

Reason [R] : Periyar visited a school of Gurukul Kangri Vishwavidyalaya, he noticed the
segregation of Non-Brahmins students from the Brahmins by providing drinking water and
food in separate places.

a) [A] is true, [R] is false

b) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

c) [A] is false, [R] is true

d) Both [A] and [R] are true and [R] is the correct explanation of [A]

gammi [A] : QuUlwmy sriE& Feav LA amw el QeueflGwinl 1925 @ 6L &wnflwmens @)W &s5E5Hans5 5
QS TLEIG 6T,

&myevorid [R] : QUAlWTY GHG&S6ev RG] eflerveuailgwmeuwm LeTerfle G & QaaTmTT, KT TI060TTeLeLTS
Lo mevoTeU & 6T LA T oot J & 6rfl L L ((H1H S & 60115 5 601l @)L Mg erflev @& BIT LM MILD 2_600T6Y 6 LD M (S5 6 & 60T
eeub LNfl&sLULBG eI S &6uenllssT.

a) [A] eTeTLIg &), [R] 6T60TLIG &61 M)

b) [A] LnMHmiLD [R] @ Fevor(BID &ifl, QLeoTmev [R] eTedTLIGI [A] @) 60T &Fifliimenr aflemdaLn j6vev

c) [A] eTedTLIEI SHeumy, [R] eTedTLIG! &Ff]

d) [A] oMb [R] @ Fesor(Ld &ifl o mild [R] eTeoTLIG [A] @ 6or &Fifluiment ellemgasLn

159. The Erode plan of E.V. Ramasamy consist of the following:

1. Extension of Life Insurance for all

2. Free education for all

3. Abolision of untouchability

4. Nationalisation of essential Industrial Factor

a) 1 only b) 2 only c) 1, 2 only d1,2, 3,4
FF.Geu.grmngFmllufier FETmL® S LD & LD & 60T Leneuserfley eTems G\ & TeuoT LY. (5 H S S1?

1.9 6meEuTeU(H &GS W 6T STLULSL B HLLSams aflifleyuB S 51560

2. 9|6MEUTEU(H & (GLD HLLITW @eveuds &evell 9erflg s 6u
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3. GevorLmemLo epLAILIL]
4. 915 WMTUFIW QS TSLHm6T BHITL(HLMID I8 (G 560
a)1 (LD b) 2 nL_(hILD o 1,2 (b d1,234

160. Column A (Fundamental Right) Column B (Contemporary Issue)

A. Article 14 (Right to Equality) 1. Internet shutdowns and free speech
B. Article 19 (Freedom of Expression) 2. Arbitrary use of sedition laws

C. Article 21 (Right to Life) 3. Data protection and surveillance

D. Article 32 (Constitutional Remedies) 4. Delay in habeas corpus petitions

(g LiuenL 2 flemin) - ( F0&mev L9786 emer)

A. 5755l 14 (5105 516U 2_flenln) - 1. @6m6euuTW (PL&&MIGET IMMILD CUEFS &5HS T

B. #0538l 19 (&(H5 S &5HS TLD) - 2.C5F5HCHME FL L MIG6 60T &60T60l & 60 & WImeoT LW eoTLIm@
C. 5755l 21 (eumLp&ena 2_[flemin) - 3.506] UMTSH&TLIL] .0MMILD 8650T8 Mevol1LIL]

D. #0538l 32 (SIFFlWevennliL] STeyser) - 4. 9L Q&G MeuoTI6Y L0 &H66L STIngLh

a) A-3, B-1, C-2, D-4 b) A-1, B-2, C-3, D-4

c) A-2, B-3, C-1, D-4 d) A-4, B-2, C-3, D-1

161. Which of the following statements regarding Fundamental Rights is incorrect?

a) The doctrine of proportionality for restrictions under Article 19 was emphasized in Anuradha
Bhasin v. Union of India (2020).

b) Article 29 guarantees cultural and educational rights to minorities, but these rights are
subject to reasonable restrictions.

c) Article 31A protects land reform laws from being challenged under Articles 14 and 19, even if
listed in the Ninth Schedule.

d) Article 32 allows the Supreme Court to issue writs for the enforcement of Fundamental Rights
across India.

S LiLenL 2 flemlns 6T QGTLTUTeT LN6tTeu(BLD 6THS SnM Ml &6UMTETSI?

a) FI5 5 19 @6 S L OQLULUTH & EHHSETET B STFMTTHS 60T CHTLLMMH UTTHT UTH 6T TH T @S W
spedTIlWILD (2020) aUP&T6L UL MISSLUILIL L Sl

b) &7 5l 29 AN MILIMeTenOWIN6T(HEH G HVMESFTT InMmMILD Sevall 2 flemlngHemneT 2 G5TalmslD 6eflEHme),
2L6TITeY @\ H5% 2_[flemngs 6T BIWmwLnmeT L GLILTHSEH85E 2 L LILLenel.

o) FUH8l 31A Blev FFHHHS FLLMSG6T FIHa! 14 LOMHMILD 19 G607 HLD Feumey QF S 0lBHSI
LUMSISTEHR M, 3606l 60TLISTEUS i Leleneooruiey LIL G uieSL ULl 1 BHHSTILD Fal .

d) @BHWT WWeaugIh g LiLiemL 2 flenlngdemer SeVliH SIS D& TeT B LICLITTEn600TSH:m6T 2 F&F

BHwerm Uplilés Nifle 32 sienH &R mS!.
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162. Which of the following statements about Fundamental Rights is incorrect?

a) Article 16 ensures equality of opportunity in public employment but allows reservations for
backward classes.

b) Article 21A, inserted by the 86th Amendment, guarantees the right to education for children
aged 6 to 14 years.

c) Article 30 grants minorities the right to establish and administer educational institutions, with
no restrictions.

d) The Right to Privacy under Article 21 includes informational privacy, as per K.S. Puttaswamy
v. Union of India (2017).

S LiuenL 2 flemns et Lmmiw LeTeupLld 6THS SaM Ml &6UMTETSI?

a) FIH & 16 QUTE CalemevalTUILILNeL FLo eumiilien 2 MIF QFUR DS, 6Tmev LN6tTsmH W oG LN ear(he &
AL RS1GHL_ L HDIDHER M.

b) 866UGI B HESHS5HTL CFTHELILILL FIiHS 21A, 6 NSV 14 aUlIFl U6 TUIUTET G LPIH0 S5 EH5HE SHevail

2 flemwmenl 2 SHTansD efl&EHme.

o) &5 Sl 30 AmiLmeTen LWleT([h &G Hevadl BlmiausTmisGeeT Bloiedl BlFa&H&sE0 2 flennenl 6Thg

&L BLIUTHSEBLD @6V QUPBIGHRMSL.

d) G&.etenv. L LamMA TS T @b W spedrnilwiih (2017) eup&&erlg, L1ifley 21 @ et SLb seoflu]ifleming g meor

2 _flennuile s&aI60 Heoflwfleniou]ld &L BIGLD.

163. Which of the following statements is/are true?

. The strength of the Supreme Court (including the Chief Justice) was originally fixed
at eight.

. The Parliament has the power to increase the number of judges in the Supreme
Court.

. The President is bound to consult the Prime Minister while appointing judges to the
Supreme Court.

. As per the Third Judges Case (1998), the Chief Justice of India must consult a
collegium of four senior-most judges while recommending appointments.

a)l and 2 only b)1, 2 and 4 only c)2, 3 and 4 only d)All of the above
etTeu(plh ammigerfleL eTg Fifl?

1. 2§55 BH06TMS B 60T (Hemeveniln BH LIS 2 L) 2 M1l eor T8 erfl6or 6T6voT6001 18608 (NS 6016V 6TL.(H) 6T60T
BlFevoruil & & LU L gI.

2. 2 55 BH6eTmS H 6L |5 LIS &erfleir eTetoTevnr186m & 60 3B &8 G0 B SMFLD HITLITEHLO6TMS S MES
2_ecuor(H.

3. 2. 57 BBLaTMSH MG BH LG &emeT BIWL&HEGSGWLEUMSI LN TEHL0(IHL 6T &6VIHSTCTHF &8 2260TTH LIS
SLenWLILIL B 6TemT.
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4. epedTmmeu gl BH LIS & 6T 6uLp & (S (1998)-@\60TLIL., @\EB WS Hemevenln fS) LIS H]ULD 60T IS emerTLl
uiflib 516078 G LDCUITS HTETE CNSGS BB LG &606TEH QGMeoTL Q&MTeSB WSS &eVbHSTCUTHF &S
Geuevor(h)LD.

a) 1 lMmMILD 2 DL (KD b) 1, 2 nmmILD 4 DL (HILD

€) 2,3 mmI 4 oL_(HILD d) GGV 2_6TET I|6060TSH SN

164. According to Article 13 of the Indian Constitution, which of the following is
considered 'law' for the purpose of judicial review?

a) Constitutional amendments under Article 368 b) Ordinances issued by the President

c) Personal laws not codified d) Judicial decisions by the Supreme Court
AHHW STFWevenlnINer Fog gl 13 @ 6T L, BT SHemm mioLlie] CHTEHEESHMETS

L9l 6dT6u (H6U6oTEUM M6V 6TSH 'EFLLID' 6T60TMI & (HSLILIG S m&1?

a) FUSH &l 368 @ 6T HLD ATFWevenLnLliL] H(HS S BIG6T

b) ReTTH UG WML Qedeflul_LILL L SeUsFT FL L MbIS6T

o &GMUWILULLTS Seoflliul L &L LBIgGe6T

d) 2. &5 HHLTHSS 6T HE SHSImnMm SFLIL|S6T

165. Which of the following statements is/are correct regarding the constitutional
provisions and institutional arrangements for elections in India?

. The Election Commission of India has the authority to conduct elections to both
Parliament and Panchayati Raj institutions.

. The Constitution provides that no law relating to the delimitation of constituencies
can be challenged in any court of law.

. An election to Parliament or State Legislature can be questioned only through an
election petition to the High Court.

. The voting age was reduced from 21 to 18 years by the 44th Constitutional
Amendment Act.

a) 2 and 3 only b) 1, 2 and 4 only c) 2 and 4 only d) 1, 3 and 4 only

@BSWmealléy CHIHLSHEE@FESEMTT ATFWeemnliL NG &6T WmMIh Bloeuer gHUTGSs6ar GSMSS
L etreu(pLh Sammigerflev erg Frlwmeorsi?

1. QHBWS CHTH6V II,6M600TWILD, [HITLTEBLO6TMHLD LOMMILD LIEHFTWSSI TITE 506U 60T HIS 6T @) [F6uorLy M @&L0
CoHIHLEHMET HLESID B HTTHMGE Q& Teuor(hH 6TeTsl.

2. QpMTEGHSHl6T qeuemeu HIFEUOTWD QFHTLILMET qHSQAUTIH FLLHMSWLD HS B L06TMS Heyid
FaUMT6L QFLIW (PLYWITSI 6TTM ST FWevemLIL & FLLLD 6uLpHEIGBMmSI.

3. BTLTE@HLO6TMHID V6V OMBlV FLLIOGTMSHMHHMeT CHTHemev 2 W BHINTmHH L CHTHL 0§
eLpeuld L HICL GEeTedl GoLg (LpLgu]Ld.
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4. 446ug SR WevenDLIL] BHSHF FLLSH T epeuld aumsseafleGld euwgs 21 Olpha 18 988
GOMESLILILLSI.

a) 2 InMmmILD 3 L (HLD b) 1,2 InmmILD 4 OL_(HILD )2 wmmib 4 DG d) 1,3 mmibd 4 L GBI

166. Which of the following cases expanded the definition of 'State' under Article 12 to
include private bodies acting as instruments of the State?

a) Kesavananda Bharati vs. State of Kerala (1973) b) Ajay Hasia vs. Khalid Mujib (1981)
c) Shankari Prasad vs. Union of India (1951) d) Golaknath vs. State of Punjab (1967)
L edTeu(BLh 6THS 6uULDEES FFHS 12 @) 60T SLD 'LOMBleuULD’ 6T60TM GUEMITWeMMEmIL LOMHlevE B 60T &(HeN & 6rTmTe:
QFW6LLIGLD SHeofllW My S emOLIL|&emeTIW LD 2 6TemL &G euemads uilev afliflauB S S W SI?

a) GHFaUMETES LITTG 6TH T G&J6T LOMBleuid (1973) b) W anTAWT aT&HFT &medlsd wnedlll (1981)

o) eqmisfl Kysns & T @bHw eermluwib (1951) d) GEHMeVEBTS eTH T LIGHEFTLI InMBlevld (1967)

167. Which of the following statements is/are true regarding the functions of the
Legislative Council?

1.The Legislative Council can amend and reject a Constitutional Amendment Bill passed
by the Legislative Assembly.

2.The Legislative Council can delay an ordinary bill for a maximum of four months.
3.The Legislative Council has no role in approving the state’s budget, except for
discussing it.

Select the correct answer using the codes below:

a) 1 and 2 only b) 2 and 3 only ¢) 1 and 3 only d)1,2,and 3
FLL Gueuemeuulleir Licooll&eT QML LTS LeiTau(bLh dammiserflev ergi/eremeu & iflmetTemeu?
1.5LLD6TMS STV BleomGaummLiLL L SFFwevenoliL] H([H&HS DCFTHTemeU FLL LO6TM CLO6Vem6l

B (BHSHVTD 36LevGl BITT&HF&&6UTLD.

2.5 L GLO6Vem6U (H FMTSHIT6U0T LOCGFTSHTEM6 SH&LILFLD [HIT6HNE LDMHBISHEHEG STOSULOSS
IguyLb.

3.0MElVSH 6T LLQRL L JRBHFILS 6 FLLIDETD HeyeTRIN &GS eng afleunGLiLengs geily
6THS LIMIGLD &) 6V6m6v,

ECLp 2 6itemr GMIUTHIGHemeTLI LweTU® S Frflwumer LS emevs CH TS H & &6 LD:

a) 1 LMmILd 2 oL (BID b) 2 LbMMILD 3 L (LD ¢ 1 LmMI 3 LB d) 1,2 opmilb 3

168. With reference to the amendment of Fundamental Rights, consider the following
statements:
1. The 24th Constitutional Amendment Act, 1971, was passed to overcome the

restrictions imposed by the Golaknath case.
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. The 42nd Constitutional Amendment Act, 1976, declared that amendments under
Article 368 cannot be questioned in any court.
. The Minerva Mills case (1980) struck down parts of the 42nd Amendment, reinforcing
the basic structure doctrine.
Which of the statements given above is/are correct?
a) 1 only b) 1 and 3 only ¢) 2 and 3 only d1,2,and 3
S LiLenL 2 flemnseamens H(HSHSIUGH QSTLITLTS, LN6TeU(HLD Fa M8 M6 8 66T b S 6iT:
1. GHBMeLEHITS 6ULPE T 60T ep6eulh NG GEHLILILL SLGLIUTH &6 LSMIUESEMETS 1971-60 24-6u 5]
TR WevemLIL G55 S5E FLLID BleovmMGaummLUILILL SI.
TR WevenioLiL] 69E) 368-60T B QFWWLILIGHILD H(IHSH M &M 6HS HHL6TMmS T evib GoeTefl
Ca&LS (PTG 6TedTMI 1976-6V 42-6uG1 TFWevenDLIL] F(HhHSHF FL LD MG Sl.
1SleorFeurm WEl6L6 6uLD& (S (1980) 42-6u8 B HHHF FLL&B 6T Flev LIG B &HeneT TH5 Q&FWIS, 19 LILI60L
SLLenLUL CHMLUMLemL eusulILI(GSSHWws.
GG AEBMHGHLILILL Sammserflev ergl/eremeu Eiflwimers/&iflumeoreneu?

a) 1 L (LD b) 1 LoMMID 3 L GILD €) 2 LoMmMIWD 3 DL (LD d) 1,2 ommib 3

169. With reference to Article 20 of the Indian Constitution, which of the following
statements is/are correct?
1. It protects against ex-post facto laws for both civil and criminal cases.
2. It prohibits double jeopardy for the same offence.
3. It ensures the right against self-incrimination for accused persons.
a) 2 and 3 only b) 1 and 2 only c) 3 only d1,2,and 3
AHH W STFWevenlnliNer oG 20-211 QUITMIS S euenTy, LN6Teu(BHLD T MISH660 6151/ cTemr6u
giflwmeorg/&rflw meoremeu?
@5 Aeaflev LomMID S FlflereL UL & G &6aflev BMTVESHMGSLI LNHeng W FLLMISEHS S qTHFTSHL
UMTSHSTESMSI.
Q8 26T GHMS5DH&ETS QBN SaoTLamer AFLLMSS 50 &S DS
Qs OO FTLLLULULL BUTHERSESGS SHaTeanerCW GHMEFTLILH Q&meTemms 2 flenwmeanw 2 G
QFWaMmSI.
a) 2 InMmmILd 3 (LD b) 1 LoMmmith 2 0l ()LD ¢) 3 L@ d) 1,2 lommib 3

170. Under Article 22 of the Indian Constitution, which of the following provisions apply
to preventive detention?

1. The detained person must be informed of the grounds of detention within 24 hours.
2. The detained person has the right to consult and be defended by a legal practitioner.
3. The detention case must be referred to an Advisory Board within three months.

a) 2 and 3 only b) 1 and 2 only c) 1 and 3 only d) 2 and 3 only
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AHH W STFWevenlnLILNer eNG) 22-60T GLp, LNeTEUBHLD 6THS FMHLUMTH & 6T SHILILE &TeUsyI &G LI
QUIT(HHSILD?
1. &g QFWWLULLL BUT ens g QFWIWLILLLSMETET &ITIJ600T & 6n 6T 24 10600l GIB TS S M (S 61T
Q5Mal&EsLILL GaussoT(RLD.
&g QFWWLILLL BLUHES S @0 eUNSGESHMEHnT DD, SaUFTe LUMSI&HT&ESLLLaWD 2 flenln
2_cuor(H.
SHILILE STEU6 6ULNE (S CLO6OTMI LOITS MG EMH 8 (& 6T & (H L,CeumEFemer aumflusH MG S I
Geuevor(h)LD.

a) 2 LoMmILD 3 L (BID b) 1 LoMMID 2 L (LD o) 1 Wwmmib 3 LG d) 2 lnmmid 3 LG

171. Why did the Constituent Assembly reject the idea of electing Governors through a
direct election?
. It would create conflicts between the Governor and the Chief Minister.
. An elected Governor would not be a neutral and impartial head.
. Direct elections would increase separatist tendencies in the country.
. It would lead to financial and administrative burdens on the state.
Select the correct answer using the codes below:
a) 1 and 2 only b) 1, 2, and 3 only c) 2, 3, and 4 only d1,2,3,and 4
GBS CHTH6V CLN6ULD I EBHTHM6TS CHTHA S H &G0 GUITFeM6uTem L T FIW 6V BlT60uTWL FemLl 6 60T
BIon&fS581?
B\ S 60TITEL HEUITEUT(HS G LD, (NSVAI(IHE G @ 6L G CLOME 6L gHLI(RID.
CaIHASBH&SLILLL SLEBHT HGHIBIEM6VITET, LIMFLLEFMM &H6M6VeUT TS @) (H&S DML LITIT.
GBS G556 BTy Lflellenereuns Ll CLITS G &ameT 98 &8 GLD.
@\ 5! LMTHlVS 6o LGS HIS LMHMID HTEUTS &MLD& EHS S aUlflel (G ELD.
ECLp 2 6itemr GMIUTHIGHemeTLI LweTLI® &S Frflwmer LS emevs G HO S H &8 6 LD:
a) 1 lnmmiLd 2 (LD b) 1,2 lnmmiLd 3 L (HLD €) 2,3 MM 4 0L_(HILD d) 1,2 3 mmibd 4 (KD

172. Which of the following statements is true regarding the duration and validity of an
ordinance issued by the President or Governor?

a) An ordinance issued by the President or Governor ceases to operate six months after its
promulgation.

b) The President’s ordinance can be disapproved by either House of Parliament, while the
Governor’s ordinance can be disapproved only by the Legislative Assembly.

¢) The ordinance must be laid before the legislature when it reassembles, and it ceases to be in
force six weeks after reassembly unless approved.

d) The Governor’s ordinance ceases to be in force only when a resolution disapproving it is

passed in the Legislative Council in a bicameral state legislature.
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GUWTHS Semeveul 3LV SLEBHITMEV LNMLILNGESILLL uEFFEF FLLGSH 60T &Meuld LoMHmILh
QFLHILIGWITGSLD SMeuld SN &SI LNetTeu(hLld FahmisGerlev ergl Fiflumerg?

a) GUWTHFS HMeVall S6VeVE EBHTTE LNMUINEGsLILLL eusrd FL LW KNFsLeariUGSSLILLL 3 ml
DISHEIGEHSHGL LING QFWLLTS.

b) GULTES Snevalfler asFTs FL LGNS HITLTEBLO6TMSSH 6T @) eMeal&HEbh BlIITsflé&seiD,
SLEBHI6T HUFTEF FL LGS &FLLI0TMLD DL HIGW BITTsHl&ss (nlguLb.

0) 9euFrg FL LD 1860oT(HLD oG DCUMS FLLLIDTMES S 60T (LN6T emeaus s LILL Galetor(hd, GLsIh eLlL|560
Slef&alULTall LTe InMiFnl LasGL LIDE 90 aIMJk&SEEsHGL LNNG S Bl (Wnenmuiley @) maesng.
d) 9LEBHI6T AUFTF FLLEHMG RLILIG6 I6flehs nmIsEGI0D SILNMeTLd FFenel Q&mesorL L0MHBlev

FLLINETMSH 6L BlenmCaummUiLL Lme L HICLD SLE@BHI16T HeUFTEF FL LD QFaILIGUITSHTS.

173. Which of the following statements is correct regarding the suspensive veto power of
the President and the Governor?

a) Both the President and the Governor can return a money bill for reconsideration.

b) The Governor enjoys a stronger suspensive veto than the President.

c) If the state legislature repasses a bill with or without amendments, the Governor is bound to
give assent.

d) The President is bound to give assent to an ordinary bill if it is passed again by the Parliament
after reconsideration.

GWWIES Semeval LMHMID EbHT6r 5H&ETEIS 158 AB&EMTL SHSS LaToudLD Fabhmserle s
siflwumeorgy?

a) GIQWTHFS Hemeval(Hld, 3LEBHHIHLD Lictor IDCFTHTenal LML 6v6merTd: @ 3163l ILIGUTLD.

b) GUWWTEHES SemevauenT 6l SLEBHB]T CUSICITET T5HSI B HMTISHMSLI QLIDMIETETIT.

¢) IDMBleL &L L LDETMLD 62(H LDBFTSHTem 6l H(H5H MG EHL CeTT V6V F)([HSHMIG6T GeVeVTLNGEIIT Li6voT(HILD
BlenmBeumnileor ey, SbEBHT RLILIG 3jef&as Sl Laul.

d) @@ Frsryenr WCFTST MLFFamears@L LIm@& BTLTEbaTm&H 6V Leor(Ib BlenmGaummUiLL L mey
GQULTHS Seval] AHMNES RLILG 6f&H&Hs SLemlILL B \6Term.

174. Which of the following statements regarding the executive powers of the Governor is
correct?

a) The Governor appoints the Advocate General of the state but cannot remove him.

b) The Governor appoints the Chief Minister of the state and other ministers, but they hold office
during the pleasure of the President.

c) The Governor appoints the State Election Commissioner, but he can be removed only in the
manner and on the grounds as a High Court Judge.

d) The Governor appoints the members of the State Public Service Commission and can also

remove them.
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24,6BHI6T BlFeuns B &TIRE6 LMl SLhe s 6Tl Famiserfle ergl &iflwmergi?

a) QLEBHT DMHl6V HEEVENLD EULNE GMTEE6NT BIWLANGER DT, L60TTV S{eUenT HEH (PIQWITSI.

b) ©LEBBT LOTHI6V (NSFEVENNEFFMTWLD LM HemFFISeaTW D BIWEGERMTT, QL60TTe HaITSH6T G UITEHS
Femeveurfler N @@LUIULILILG LGN UG LT TE6T.

) IDMBleVE CHITHEV ILEMEUOTILIENT EBHT BIWLESEH MTT, Speormev 2 WIBGHwerm BH LS eredtm wemmuilev
DL GCW ey B&HS (DIgULD.

d) IDmBlev S(J& LI Liswoflwmery G& el menenor g S eor 2 miliLler J&emeT <u,6B6F ISR MY, GLusuild
Slaujsener B&H&HaD (LPIQULD.

175. Which of the following judicial powers does the Governor NOT have?

a) The Governor can pardon, reprieve, remit, suspend, or commute punishments of convicts.

b) The Governor is consulted by the President while appointing judges of the concerned High
Court.

c) The Governor appoints, posts, and promotes district judges in consultation with the State
High Court.

d) The Governor can remove judges of the High Court after consultation with the Chief Minister.
SLh& & 6oTLouMNMI6L SLEBHIHSE B VLTS BB G SHI60M 3IG)&ITITHIS6T eTemeu?

a) QLEBBT GMHMeU T8 606 L060T60r 88 CalIT, & 65T L 60160T6t W 625 5 60)6U 88 CalIT, & 65T L6060Ten L (&M &SI,
S600T_emeoTenll @ emnLB&Ha110 QaFIWGCT (LG ULD.

b) FlbUBSLILLL 2 wiBGwerm BH LG &Hemer Bl & GINnEUMS! GIQUITSS S606V6l] L EHHenTH
FHVHSTCLMTFILILITE.

¢) IDMBlev 2 WFBHLDTMESSIL 60T HvbHSTCMRGS G mall L BH LS &Gemer BlWLlsH60 o Lgel 2 uwfe]
QUGS LG LIaIMeNM L,EBHT CLMASTETH M.

d) &LEBHT (NSGEVMDEFF (HLET HVHSTCVTHFSS LIm& 2 wWiBSH nerm BHLS &emerT HE860MLD.

176. A number when divided by 5 gives remainder 3. What will be the remainder when the
square of the number is divided by 5?

62 (IH 6TEUUTEDIGUUT 5946V 6U (G & GWLCLMGI LESLD 3 UBHHRMFI. S 6T UTEHHSHMS 591,60 6U(G & GLDCUTS LSO
6T60T60T?

a) 1l b) 2 c)3 d) 4

177. A rectangular tank is 80 m long, 60 m wide and 40 m deep. Find the cost of
plastering the walls and the bottom at I5 per m?.

@ QFeueus QHMLLY 80 LS Hermid, 60 L 3|&H6VID LOMHMILD 40 LS JLLPLD Q& TEUITL Fl. |G 60T LIS & 6UIJ& 6T
LMHMID 3|16 5L196V NeTmeuLy @ (WD QFeve] (115°85@& T5) eTedTeur?

a) 344,000 b) 356,000 c) 380,000 d) 348,000
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178. A cone and a cylinder have the same base and height. What is the ratio of their
volumes?

([ FnlbL] LOMHMILD (D 2-(HeM6T CT Y LILIGH WD 2 WL QS&TEuTL Sl 3|euMnleiT Q& meTemeney
NG GLD 6T6OTEUT?

a) 1:2 b) 1:3 c) 2:3 d) 3:4

179. A bag contains coins of 1, ¥2 and I5 in the ratio 3:5:2. If the total amount is 368,
find the number of ¥2 coins.

(% emLIuileL ¥1, ¥2 DM MILD 5 [HITE0TWIMIG 6T 3:5:2 6NFHHHH 6L 2 6iT6meur. QLOMSHHLD TI60 2_6ITETHI 6T60T M6V
T2 [HIT6OOT LI M1 &5 6111 60T 6T6UOT6U0T 85 60085 6T60T6UT?

a) 60 b) 80 c) 90 d) 100

180. A and B enter into a partnership with capitals of 325,000 and 315,000 respectively.
After 6 months, A withdraws ¥35,000. Find the ratio of their profits at the end of the year.
A LMmiLb B 25,000 oM mitb 15,000 W0H6SL (R 60T LIBIGSTFTTHMITH. 6 L0MSHEISEHSHE LIMES A 25,000
QUMM NVGSHRMITH. @B UIHLLD (NLg68l6L LTI NG GLD 6T6oTEOT?

a) 1:1 b) 2:1 c) 3:2 d) 5:3

181. If the average of five consecutive odd numbers is 45, what is the smallest number?
2HS QASTLIHS 6uUHLD pmHenm eTevorserfleor &imaifl 45 ereormmev, SNl 6TEUOT 6T6OTEOT?
a) 41 b) 43 c) 45 d) 47

182. Two numbers are in the ratio 3:4. If their sum is 112, find the numbers.

©\([H 6T600TS: 6T 3:4 6T60TM NG &G H6L 2_6iT6meur. SUMMIETT Sa B SQ G TS 112 6TEOTMITEV, I [H G5 6T6V0T S 60)6IT
& IT6U0TS.

a) 48, 64 b) 42, 70 c) 30, 82 d) 56, 56

183. If x2 - 5x + 6 = 0, what is the value of X? x*-5x + 6 = 0 6T6TMIT6V, x-60T LOGLIL| 6T6OTEUT?

a) 3, 2 b) 1,6 )2, 4 d) 5, 1

184. The population of a town increases by 10% every year. If the current population is
33,000, what was it two years ago?

@B HEHTHB 6T D& SHEATA S TN S R6UQUT(IH ,600THILD 10% AH&FERMSI. HHCUMSI 0SS 6T QS TN
33,000 eT6dTM TV, @) T600T(H 2 600T(H) & EH & (S5 (LD 60T 6T6LEUEITEY?

a) 27,500 b) 28,500 c) 30,000 d) 27,270

185.If x + 1/x = 3, then find the value of X% + 1/x2. x + 1/x = 3 eTedrMMEV, x* + 1/x* OB\ LIL| 6T6OT6OT?
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a) S b) 7 c)9 d) 11

186. The difference between compound interest and simple interest on 312,000 for 2 years
at 10% per annum is:

¥12,000 1951 2 SL,600T(H HEH &S ILT(HHES 10% NFHHHH 6L Fal_ B uLl_Lq LHMILD ererfll auL Ly GemL Gl
2_6iTerm 6186 S WITFLD 6T6oT60T?

a) X120 b) X124 c) X126 d) X130

187. In a mixture of 60 litres, the ratio of milk to water is 2:1. How much water must be
added to make the ratio 1:1?

60 e9L_L 1T &6vemeuudlev, Limev Lommith Hifleor @G0 2:1. NBHH S 1:1 94,88 BT eTeueueTe] CFT&HS
Geueuor(hLD?

a) 10L b) 15 L c)20L d) 30L

188. A can do a job in 15 days, B in 20 days, and C in 30 days. If all work together, how
many days will they take to complete the work?

A (5 Ceuemeuemwl 15 BHITL&erflev, B 20 BHITLSerflev, LommILD C 30 BHITL&6M6L (LGS BMITTEET. eNeU(HLD
CEIHSI Cauemev QFIST, 3|HF CeUemev (NIQUSH MG 615 SH606T IHITL 6T 6T(h & (HLD?

a) 8 days b) 10 days c) 9% days d) 6%sdays

189. A sum of money amounts to 35,280 in 2 years and 35,808 in 3 years at simple
interest. Find the principal. @ Qgmens Licvorlb ererflw eull1quilev 2 oy evoT(B SHerfl6v 5,280 LD, 3
94,600T(H) & 61Tl 6L 5,808 94,5 6D SLENM S 6T60TI6V DI &F6L QG ITEN ETEOTEOT?

a) 34224 b) 5000 c) 35200 d) 4600

190. A can complete a work in 20 days, and B in 30 days. They worked together for 5
days. Then C joined them, and all three finished the remaining work in 4 days. In how
many days can C alone complete the whole work?

A @(H Ceuemeuem 20 BITL&erfleL (NIESRMTT, B 3|60 30 BTLG6rlel (NI SHRMTT. 6UT&H6T @) (Heu(bLD
CFIHSI 5 BTLSHET Gauemev QF WIS 6. LSletTeory C CFFHSTH, eLNeUIBLD CFTIHSI LS (6T Ceuemevemiu 4
BTLSB6M6L (N5 560TH. C 2(HUTTHGC6U HSH CeUem6V (LN(L6UMS LD QF LW 6T5SH6M60T [HIT6IT
CgemeuLiLI(RLD?

a) 24 days b) 40 days c) 16 days d) 36 days

191. 3, 7, 15, 31, 63, ?
a) 127 b) 126 d) 125

Page 73 of 75

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

192. 2, 6, 30, 210, 2310, ?
a) 27300 b) 30030 c) 24310 d) 22110

193. C3E, F5H, I7K, LON, ?
a) 011Q b) O11R c) N11P d) P11S

194. Pie Chart: Product Sales Distribution in 2022

Product | Sales (in thousand units) | Percentage of Total Sales

Product X (|350 23.3%

Product Y 400 26.7%

Product Z ||350 23.3%

Product W ||I390 26.0%

Total 1490 100%

If the revenue per thousand units for each product is ¥500,000

If the revenue per thousand units for each product is ¥500,000, what is the total revenue
generated by Product W?

SwmflliL W-60r LUl w,eoflL& @68 E T500,000 68l LIEM6sT 6UUBLOITEOTLD @) (HHS 6V, 3|8 60T QLOMSHS
6U(HLOITEUTLD ET6LGU6ITE?

a) 21,50,00,000 b) X1,75,00,000 ¢) ¥1,95,00,000 d) 22,00,00,000

195. If the company decides to increase the sales of Product X by 25% next year, what will
be the new sales for Product X?

BOSSTLMU 25% B &KL grHULlLmev, SWMifllL X-60r LS W el MHLIEm60T 6Tekieu6mey?

a) 400 thousand units b) 425 thousand units

c) 437.5 thousand units d) 450 thousand units

196. Which two products together account for more than 50% of the total sales?
6Th s @ evor(® &WTHLIL|&6T 50% & (& GLO6L LIMIG) eément QLI MG 6iTmeor?

a) Product X & Product Y b) Product Y & Product W

¢) Product X & Product Z d) Product Z & Product W

197. Ravi is taller than Suresh but shorter than Amit. Who is the shortest?
76l &Cremaq el 2 WITLDMeTeUlT, SL60TMeL NG emns L& (&L 6mLWITeoTeU. WITIT (&6iTemLnmeoTeuy?
a) Ravi b) Suresh c) Amit d) Cannot be determined
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a) gel b) &Cyeq o) 9dlg d) SInmesl18:8 (I UIMg!

198. Six people - A, B, C, D, E, and F - are sitting in a row facing north.
1. B is to the immediate right of A.

2. C is at one end.

3. D is third to the left of F.

4. E is not next to B.

Who is sitting in the middle?

SL,M1 GUT -A, B, C, D, E nmmib F - aILEG CHTER aurflensulley S|L0THSI6Temeor(y.

1. B, Acl60T 2_L 6UTIQLLIME 6U6VSIL|MLD SI0FHSBIGTETTIT.

2. C &(H (P6emeTUSI6L LT HSBIGTETITIT.

3. D, Fell6tr eLpeiTmmeu sl @\ L& 60 IO ST,

4. E, BaXl 60T 3{(HSH 6L @) 6vemev.

BHeN6L W S0 THSI6ITeTeuT(y?

a) A b) D c)B d E

199. A person walks 10m north, turns right, walks 5m, turns right again, walks 10m, then
turns left and walks 5m. Where is he now from the starting point?

a) Sm East b) 10m West c) Sm West d) 10m East

@B LT 10 ISLLT eUL&E BLSESMTT, eueuliLmLd S@HWOLI 5 IS LT BLES T, D MILIqu]Ld eueuLiL|mLD
S(BLOLN 10 1SLT BLER MM, NedreorT @L LMWL SGLE 5 SLLT BLERMTT. SjeulT o4 TbuliLeTerfluilev

QGHS G QGSSMT?
a)5 8 Bp&HS b) 10 LS CLOM & o) 515 GLM&G d) 10 1S BP&G

200. Count the number of triangles in the given figure.

(N8 G 8 IT6UUT I 5 61Tl 60T 6T600T 60011 & 601852

VAN
Y4
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